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y S 9776 9717 9718 9719
A | B 3 D B e R T RS R T R S e s B S [E RS B e e s B S R R e e BT
- G |TTA | W) WO O WD e Rl s @ C RSO B A BEAE HEMC REN 0 BENTA BEs A C B0 BRI A BEE HEN7C BENID
EEIEANARAETEEETE ; el EEE | EAE | SRS SR R4 EE4
T (HE)=AR (G R (AE)FE | _JLI0T me | 600 11,300 200
103 IE] 700 11,300 200
7 IE] 700 12,900 200
T IE] 900 13,000 200
3 [IE] 900 13,000 200
5 [IE] 900 13,000 200
7 IE] 900 13,000 200
9 IE] 900 13,000 200
[Li2t L] 900 13,000 200
[CJLizs [E] 000 13,000 300
[CLiz7 [IE] 100 13,000 500
[Lisr [IE] 100 13,000 100
[Liss [IE] 100 13,000 500
[CLisr [IE] 100 13,000 100
139 IE] 100 13,000 100
AR(F%E  [JLi02 LIE] 200 12,000 200
104 IE] 700 12,000 800
106 [IE] 900 12,000 100
[IT:] 900 12,000 200
[IT:] 700 12,000 300
[IT:] 000 12,000 300
[IT:] 600 12,000 500
[ [IT:] 100 12,000 500
[CJLiz0 [IE] 500 12,000 300
[CJLize IE] 100 13,000 300
[CJLize [IE] 700 13,000 500
[JLizs IE] 900 13,000 100
[CJLiso IE] 100 14,000 900
[CLise IE] 900 14,000 900
138 IE] 1 [17.400 14,000 [18.100
o (CHE) =X (%) ERCAE)®E [ _JL221 LIE] [ 1 16,300 | 16,000 14,300 12700 | 16300 14,700 13,000
o225 IE] 1 16300 | 16200 14600 | 12900 | 17.200 15,600 | 14.000
229 IE] 1 12700 | 16,800 15200 | 13500 | 18,300 16700 | 16.600
KRB % [ _JL220 L] [ 1 11,000 [ 13900 12,300 10700 | 13800 12,400 10,800
224 IE] 1 14200 | 18,000 16400 14800 | 19.400 15400 | 13800
228 [IE] [ 13500 | 18200 16600 15000 | 19.400 17,900 16300
R () =Fa KI5 | JL205t [iT:] 700 14,400
(L2053 [E] 700 700 16,400
2061 IE] 700 700 18,500
W% [JL2050 [IE] 700 700 16,400
(L2058 IE] 700 700 18,500
2060 IE] 700 18900 700 20,400
R (AE)=FHK RR(RE) % 1 HE 000 21,000 .900 17.000
3 IE] 000 21,000 900 17,000
5 [iE] 900 21,000 900 17,000
7 IE] 900 900 17,000
[CJLiag IE] 000 900 17,000
151 IE] 000 900 17,000
ERRE L] .900 .900 17,000
IE] 900 900 17,000
IE] 600 900 17,000
IE] 600 200 17,300
E] 000 000 17,300
150 [IE] 000 700 17,000
TR (HIE) == WRCREDSE | JLI5d [iT:] 300 300 16,000
[CJLiss [IE] 300 300 16,000
[CJLis? [IE] 300 300 16,000
159 [IE] 300 300 16,000
[CLis2 [IE] 300 300 16,000
[CJLise [IE] 300 300 16,000
[CJLise [IE] 300 100 16,000
158 [IE] 000 400 16,200
TR () TR WRCPEDSE | JLi6l [iT:] 900 900 16,000
[JLies IE] 600 700 17,700
[CJLies IE] 400 000 17,700
167 IE] 900 700 17,700
RER [CLiez IE] 600 900 16,000
[CJLies IE] 600 600 17,000
[CJLies [iE] 200 800 17,700
168 [IE] 500 900 17,000
TR () =ILT HRCRE) % Li75 [iT:] 800 800 11,000
179 [iE] 800 800 11,000
g% Li74 [IE] 800 800 11,000
L178 [IE] 800 900 11,000
R CHE) =R ERCPE)®E [ JLis3 [IE] 38 300 900 13,000
[CJLiss [IE] EE] 500 000 13,000
[CJLisr [IE] EE] 500 000 13,000
[CJLis [IE] EE] 700 000 14,000
Lot [IE] EE] 700 000 14,000
L193 [E] EE] 300 000 14,000
NAFE [JLisz [IE] EE] 200 400 13,500
[CJLise [IE] EE] 200 400 13,500
[CJLise E] EE] 200 000 14,000
[CJLiss IE] EE] 700 100 14,000
[CJLiso [E] EE] 300 600 14,000
L192 [iE] EE] 300 100 14,000
R CHE) =Rl ERCRE)®E [ _JL231 [IE] | 20,600 | 20,600 600 15,900
[CJL2ss [iE] TER | 20600 20600 600 16,100
(L7 [iE] TER | 20600 20600 600 16,700
[CJL2ss [iE] — 20600 20600 600 16,400
241 [iE] TER | 20600 20600 600 17,300
L% [CuLzaz [iT:] TER | 20600 20600 600 15,900
[CJr2se [IE] TER | 20600 20600 600 16,900
[CJLass [IE] — 20600 20600 600 16,900
240 [IE] TER | 20600 20600 600 17,400
242 [IE] — 20600 20600 600 17.400
R (HE)-ES ERCPE) % [ JL253 [IE] 788 | 23,000 | 23,000 000 15,900
[CJLess [iE] — 000 000 000 17,500
[CJLas [IE] — | 23000 23,000 000 17,500
[CJL2se [iE] 23,000 23,000 000 17,500
L6t IE] 000 000 000 17,500
[JLzes [IE] 000 000 000 17,500
[CJLes [IE] 23,000 23,000 000 16,900
267 [IE] 23,000 23,000 000 16,900
LB% [CuL2sz [IE] 23,000 23,000 000 16,900
[CJLese IE] 23,000 23,000 000 16,900
[CJL2se [IE] 23,000 23,000 000 18,100
[CJL2ss [iE] 23,000 23,000 000 18,100
[CJL260 [IE] 000 000 000 18,100
[CoL2e2 [IE] 000 000 000 18,100
[CJLzee [IE] 23,000 — 23000 000 18,200
266 IE] 23500 20100 | 23,000 000 18,200
HRCAE)=-HE R CRE) % L277 L] 38 |_27.900 19.900 [ 27900 900 20500
L7 [IE] EE] [27.900 [27.900 900 25,600
L83 [iE] EE] [27.900 [27.900 900 25,600
[CJLzss IE] EE] [—27.900 [27.900 900 25,600
287 IE] EE] [27.900 [27.900 900 25,600
HER 1276 iE] EE] [—27.900 [—27.900 900 25,600
L7 [IE] EE] [—27.900 [27.900 900 25,600
[CJLzs0 [iE] EE] [27.900 [27.900 900 25,600
NV IE] EE] [—27.900 [—27.900 900 25,600
286 iE] EE] [—27.900 24300 | 27.900 900 25,600
TR CAE) -85 FRCPE) % [ _JL453 L] 38 | 31,600 23700 | 31,600 600 24,800
[CJLass iE] EE] [—31.600 [—31.600 600 24,800
[CJLase iE] EE] [—31.600 [—31.600 600 24,800
[CJLast iE] EE] [31.600 [—31.600 600 27,100
[CJLaes E] EE] [—31.600 [—31.600 600 28,500
L465 E] EE] [—31.600 [—31.600 600 28,500
EBE N E] EE] [—31.600 [—31.600 600 21,000
[CJLase IE] EE] [31.600 [—31.600 600 21,000
[CJLase IE] EE] [—31.600 [—31.600 600 21,000
[CJLas0 [IE] EE] [—31.600 [—31.600 600 28,500
[CJLasz IE] EE] [—31.600 31,600 600 28,500
464 iE] EE] [—31.600 [—31.600 600 28,500
R (CHE) =Fh ERCRE) % L475 [IE] B [ _27.200 [ _27.200 200 26.100
La77 iE] [27.200 [27.200 200 26,100
[CoLars iE] [—27.200 [—27.200 200 26,100
[CJLast [IE] [27.200 [27.200 200 26,100
[CJLass iE] 200 200 200 26,100
[CJLass iE] [—27.200 [27.200 200 26,100
487 iE] [—27.200 [—27.200 200 26,100
s La74 iE] [27.200 [27.200 200 26,100
L476 [IE] [27.200 [27.200 200 26,100
ez IE] [—27.200 [—27.200 200 26,100
[CJLaso iE] [27.200 [27.200 200 26,100
[CJLasz iE] 200 200 200 26,100
[Case iE] [27.200 [—27.200 200 26,100
486 E] ["27.200 200 200 26,100
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| masm | maum | s _JEESE ERE  EEH  EEH _JEEQE EEZE EAE | EEE | E8H @88 EEH | E8E  E8% @ E85E 268
TR CHE)=FA ERCRE)®E [ JLaol [IE] 368 | | _34.400 27300 K 27.300 400 27.400 27.300 400 27.400 27.300
[CJLass IE] EET 7 [—34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
[CJLass IE] EET 7| [—34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
[CJLasr IE] EET 7 [—34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
499 IE] EET 7 [—34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
EEE] [Curaso ] 3Ef | [sa.400 32,600 [ 32,600 40034000 32,600 400 34000 32,600
[CJLas2 IE] EET 7| [—34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
[CJLass IE] EET 7 [34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
[CJLase IE] EET 7 [34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
498 IE] EET 7| [34.400 32,600 [ 32,600 400 34000 32,600 400 34000 32,600
R CRE) =il ERCPAE)®E  [_JLadl [IE] 368 | | _34.100 30,900 I 30,900 100 33,700 30,900 100 33.700 30,900
[CLass [IE] EET 7 [34.100 32,100 [ 32,100 10033700 32,100 100 33700 32,100
[CJLass [IE] EET 7 [34.100 31400 [ 31,400 10033700 31400 100 33700 31.400
[CLas? [IE] EE] 4,100 31400 31,400 100 33700 31400 100 33700 31400
[CJLass [IE] EET 7 [34.100 32,100 [ 31,400 10033700 32,100 10033700 32,100
443 IE] EET 7 [34.100 32,100 [ 31,400 10033700 32,100 100 33700 32,100
[AITED [CuLeso ] 3Ef | [sa.100 31,400 [ 31,400 10033700 31.400 10033700 31.400
[CJLas2 IE] EET 7| [34.100 31,400 [ 31,400 10033700 31400 10033700 31.400
[CoLase [IE] EE] 100 31,400 31,400 10033700 31400 10033700 31400
[CLase IE] EET 7 [34.100 31400 [ 31,400 100 33700 31400 100 33700 31400
[CJLass IE] EET 7| [34.100 32,100 [ 31,400 10033700 32,100 10033700 32,100
440 IE] EET 7| [34.100 32,000 [ [ 34100 32100 32000 [ 34100 32100 32000
HRCAE)=X5 FRCAE)®E [ _JLe6l L] EEL T | 36,600 31,900 K | 36,600 35.400 31,900 25300 | 36,600 35.400 31,900
[CJLess IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 27.700 | 36,600 | 34300 30800 27.700
[CJLess IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 27.700 | 36,600 | 34300 30800 27.700
[CJLeer IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 28.100 | 36,600 | 34300 30800 26.100
[JLess [IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 28.100 | 36,600 | 34300 30800 26.100
671 IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 28.100 | 36,600 | 34300 30800 26.100
EE] [Le62 ] 3Ef | [ 36.600 30,800 [ [ 36600 34300 30800 | 28.100 | 36,600 | 34300 30800 30200
[CJLess IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 28.100 | 36,600 | 34300 30800 30200
668 IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 27.700 | 36,600 | 34300 30800 30200
670 [IE] EET 7| 36,600 30,800 [ [ 36600 34300 30800 | 27.700 | 36,600 | 34300 30800 30200
672 IE] EET 7| 36,600 31,900 [ [ 36600 35400 31900 | 26500 | 36,600 | 35400 31900 31300
674 IE] EET 7| 36,600 31,900 [ [ 36600 35400 31900 | 25300 | 36,600 | 35400 31900 31300
TR CHE) =R FRCAE)®E [ _JL605 L] EEL T | 40,000 34,000 [ 4 | 40,000 37.600 34,000 25300 | 40,000 37.600 34,000 25300
[CJLeor IE] EET 7| 40,000 34,000 [ [ 40000 37600 34000 | 28.100 | 40,000 | 37600 34000 26.100
609 [IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 26.100
611 [IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 26.100
613 IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 26.100
615 IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 26.100
RER [u606 ] 3Ef | [40,000 33,000 [a [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 32.400
[JLeos IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 32.400
610 IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 33000 32.400
612 IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 36400 33000 32.400
614 IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 28.100 | 40,000 | 36400 | 33000 | 32.400
616 IE] EET 7| 40,000 33,000 [ [ 40000 36400 33000 | 27.300 | 40,000 36400 33000
TR (PE)-EXXE R (PE) % 650 L] 78 45,800 800 | 47.800 29,000 400 | 41.800
BEXBR 658 i) 78 29,000 800 | 47800 43700 800 | 47.800
KR (A =5 KR (B % 237 L] 38 21.100 000 27.600 21100 000 | 27.600
237 E] EE] 27500 000 27,600 27.100 000 27,600
237 IE] EE] 27,100 000 27,600 25200 000 27,600
237 IE] EE] 27,100 000 27,100 000 27,600
RER 237 ] 38 27.100 000 27,100 000 27,600
237 IE] EE] 000 25,100 00025600
237 [IE] EE] 000 27,100 000 27,600
237 [IE] EE] 000 27,100 000 27,600
KR (P =X A% [ JL2383 LIE] 400 15,800 400 20,700
[JL2385 ] 400 15,800 40020700
[CuLssst ] 400 15,000 400 19.700
[JL23s9 ] [ [ 400 19.200 [ 25400 20700
2393 [IE] [ [ 25400 19200 | 17200 | 25400 20700 17.200
TR [JL2380 ] [ 400 15800 | 13800 | 25400 20700 13,800
[JL23s2 ] 400 15,800 40020700
[JL3s80 ] 400 15,000 400 19.700
[uL2386 ] 400 18,100 40020700
2392 ] 400 18,600 40020700
AR (FA-ERS A% [ JL2401 [IE] 200 20,400 200 22,400
[uL2403 ] 200 20,400 200 22400
[uL2407 ] 200 20,400 200 22400
[uL2409 ] 200 23400 200 23900
[CuLaast ] 200 23400 200 23900
[uLaatt ] 200 24,800 200 25300
[uL2ais ] 200 24,800 200 25300
2419 ] 200 24,800 200 25300
BERERE [ JL2400 [IE] 200 20,400 200 22,400
[uL2402 ] 200 20,400 200 22400
[uL2404 ] 200 18,400 200 22400
[uL2406 ] 200 20,400 200 22400
[LuLzaio ] 200 23400 200 23900
[uL2as2 ] 200 28,900 200 29,000
[CuL2aiz ] 200 28,900 200 29,000
2414 ] 200 28,900 200 29,000
HRFFR)-FH MEFTFRE [ JL2803 [IE] 38 800 21,800 800 22,400
(L2805 [IE] EE] 800 21,800 800 22400
2809 IE] EE] 800 21,800 800 22400
L] [uL2804 ] 38 800 21,800 800 22400
(L2806 [iE] EE] 800 21,800 800 22400
2810 [IE] EET 7 [ [ 22,800 21,800 [ 22800 22400
AL () =9IE AM(ER) % [ JL2861 L] [ [ 1 | 18,900 17,900 | 21,300 21.200
(L2865 ] [ 1 [18.900 17.900 [18.900 18400
2869 ] [ 1 [21.300 21,100 [21.300 21.200
ElEE [JL2860 ] [ [ [21.300 21,100 [21.300 21.200
(L2864 ] [ [ [ 18.900 17.900 [18.900 18400
2868 ] [ 1 18,900 17.900 18900 8400
AL (B =%&5] AM(ER % [ JL2721 L] [ [ 2 | 22,800 22,600 | 22,800 22700
[uLe727 ] [ 22,800 22,600 [ 22800 22.700
ES e [uL2720 [IE] [ 2 | _22.800 22,600 | 22,800 22,700
2726 ] [ 22,800 22,600 22800 22700
LR (3% -EiR HR(EXE [JL2743 LIE] [ 1 |_16.800 16,000 | 16,800 16,500
[uLe7a5 [IE] 1 = —— =
[uLe7ag ] 1 16800 | 16500 16,000 16800 | 16500
(L2753 ] 1 16800 16500 16,000 16800 | 16500
[uL2755 ] 1 17,600 | 17500 17.400 17,600 | 17500
2757 ] 17.600 | 17500 17.400 17,600 | 17500
B [uL2740 ] I 16800 | 16500
[LuLe7aa ] 1 17600 | 17500 __17.400 16800 16500
[urz7a6 ] 1
[uL27a8 ] [ 17600 | 17500 __17.400 16800 | 16500
[uLe752 [iE] [ 10,000 17,600 17500 17.400 17,600 17500
2754 [IE] I 1 10,000 16800 | 16500 16,000 16800 | 16.500
LR (EH) -FIR H(Ex % [ JL28sl [IE] 368 | 7 16,600 17,600 17,100 16,600 17.600 17.100
2885 [IE] 3Eg | 7 16,600 17.600 | 17.100 16,600 17,600 17100
FIRR [uL2880 ] 3E8 | 7 16,600 17,600 | 17.100 16600 17,600 17100
(L2884 [iE] 3Eg | 7 16,600 17,600 | 17.100 16600 17,600 17100
LR (EH)-AR HE(FH % | JL2895 [IE] 368 | 7 13400 17,600 15,500 13400 17.600 15,500
AR 2894 ] SEM | 7 13400 17.600 | 15500 13.400 17,600 | 15500
WE-AR BHEEFE 2891 L] 368 | 7 13,700 13,100 12,600 8,850
AR% 2890 ] 3E8 | 7 13700 | 13,100 | 12600 | 8850
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=m G | TR | W) WO 0| WD R REsTs @R C RSO B A BEAE HEMC REN0 BENTA BE7s A C B0 BEsA BE7E HEN7C BENID
EEIEANARAEEEE aEs mEE  EAE | @RS SR 9R4 EEE  EAE @RS EAH
R (HE)-B8 ER(PE)RE | J4ss i) SER | [ 31,600 24700 [ 31,600 285500 [ 31600 31200 | 28,500 | 31600 | 31.200 | 28500
[CJLass IE] EET 7 [—31.600 24,700 [—31.600 28,500 31600 31.000 28500 31600 31.000 28500
[CJLass IE] EET 7 [—31.600 24,700 [—31.600 25,900 31600 31.000 25900 [ 31600 31.000 25900
[CJLast IE] EET 7| [—31.600 23,600 [—31.600 24,800 [ 31600 31.000 24800 [ 31600 31.000 24800
[CJLaes IE] EET 7 [—31.600 27,100 [—31.600 28,500 [ 31600 31.000 28500 31600 31.000 24800
465 IE] EET 7 [—31.600 27,100 [—31.600 28,500 [ 31600 31.000 28500 31600 31.000 24800
BRRE [CuLasz IE] EET 7 [31.600 20,100 [31.600 21,100 31600 31.000 21,100 31600 31.000  21.900
[CJLasa IE] EET 7| [—31.600 20,000 [31.600 21,000 [ 31600 31.00 21,000 [ 31600 31.00 21,000
[CJLase IE] EET 7 [—31.600 20,000 [—31.600 21,000 31600 31.00 21,000 31600 31.00 21,000
[CJLas0 IE] EET 7| [—31.600 27,100 [—31.600 28,500 [ 31600 31.000 28500 [ 31600 31.000 28500
[CJLaez [E] EET 7 [—31.600 27,100 [—31.600 28,500 31600 31.000 28500 31600 31.000 25900
464 [IE] EET 7 [—31.600 27,100 [—31.600 28,500 [ 31600 31.000 28500 31600 31.200 25900
R CAE) =& R R CRE) % 475 [l B |_27.200 26,100 |_27.200 26,100 |_27.200 26700 26,100 | _27.200 26.700 26,100
477 [IE] [—27.200 26,100 [—27.200 26,100 [27.000 26700 26,100 ["27.000 26700 26,100
[CLars [IE] [—27.200 26,100 [—27.200 26,100 [27.000 26700 26,100 [27.000 26700 26,100
[CJLast IE] [27.200 26,100 [27.200 26,100 [27.000 26700 26,100 [27.000 26700 26,100
[CLass IE] 200 26,100 200 26,100 200 26700 26,100 200 26700 26,100
[CJLass IE] [—27.200 26,100 [—27.200 26,100 ["27.000 26700 26,100 ["27.000 26700 26,100
487 [IE] [27.200 26,100 [—27.200 26,100 ["27.000 26700 26,100 ["27.000 26700 26,100
B 474 ] [—27.200 26,100 [27.200 26,100 ["27.000 26700 26,100 [27.000 26700 26,100
476 IE] [27.200 26,100 [27.200 26,100 [27.000 26700 26,100 [27.000 26700 26,100
ez IE] [—27.200 26,100 [—27.200 26,100 ["27.000 26700 26,100 ["27.000 26700 26,100
[CJLaso IE] [—27.200 26,100 [—27.200 26,100 [27.000 26700 26,100 | 23300 | 27.200 | 26700 26,100
a2 IE] 200 26,100 200 26,100 200 26700 26,100 200 26700 26,100
[CoLase IE] [—27.200 26,100 [—27.200 26,100 ["27.000 26700 26,100 ["27.000 26700 26,100
486 IE] ] [—27.200 26,100 [—27.200 26,100 [27.000 26700 26,100 | 23300 | 27.200 | 26700 _26.100
TR CAE)=8H FRCAE)®E [ _Juael L] EEL T |_34.400 26,000 |_34.400 26,000 | 34,400 27.400 27,300 | 34,400 27.400 27,300
[CJLass IE] EET 7 [34.400 31,000 [34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
[CJLass IE] EET 7 [—34.400 31,000 [—34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
[CJLas IE] EET 7 [—34.400 31,000 [34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
499 IE] EET 7 [—34.400 31,000 [34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
EEE] [Curaso [IE] EET 7 [—34.400 31,000 | 21,800 | 34400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
[CJLas2 IE] EET 7| [34.400 31,000 | 21,100 | 34400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
[CJLass IE] EET 7 [34.400 31,000 [—34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
[CJLase IE] EET 7 [—34.400 31,000 [34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
498 IE] EET 7 [34.400 31,000 [—34.400 32,600 [ 34400 34000 32,600 [ 34400 34000 32,600
FRCRE) =1L FRCRE)®E [ Juasl L] EEL T | 34,100 29,400 | 34,100 30,900 | 34,100 33700 30900 | 34,100 33.700 30900
[CLass [IE] EET 7 [34.100 30,600 [34.100 32,100 [ 34100 33700 32,100 34100 33700 32,100
[CJLass IE] 3Em | [34.100 29,900 [34.100 31,400 [ 34100 33700 31400 [ 34100 33700 31400
[CLas? IE] EE] — 100 29,900 100 31,400 10033700 31400 10033700 31400
[CJLass [IE] EET 7 [34.100 29,900 [34.100 31,400 [ 34100 33700 31400 [ 34100 33700 31400
443 IE] 3EW | 7B | 4100 29,900 [34.100 31,400 [ 34100 33700 31400 [ 34100 33700 31400
[AITED [CuLeso ] 3EW | 7B | 4100 29,900 [34.100 31,400 34100 33700 31400 [ 34100 33700 31400
[CLass IE] 3EW | 7B | 4100 29,900 [34.100 31,400 [ 34100 33700 31400 [ 34100 33700 31400
[CoLase IE] EE] 100 29,900 100 31,400 100 33700 31400 10033700 31.400
[CLase IE] EET 7 [34.100 29,900 [34.100 31,400 [ 34100 33700 31400 [ 34100 33700 31400
[CJLass IE] 3EW | 7B | 4100 29,900 [34.100 31,400 [ 34100 33700 31400 [ 34100 33700 31400
440 IE] 3Em | — | o400 29,800 [34.100 31200 [ 34100 31.400 31300 [ 34100 31400 31300
HRCAE)=X5 FRCAE) % [ _JLe6l L] 3EW | 7EE | 36,600 30,900 | 36,600 30,900 25300 | 36,600 35.400 31,900 26500 | 36,600
[CJLess E] 3EW | 7B | 36600 30,800 36,600 30800 | 25300 | 36600 34300 30800 _ 28.100 | 36,600
[CJLess IE] 3EW | 7B | 36600 30,800 36,600 30800 | 25300 | 36600 34300 30800 28100 | 36,600
[JLeer IE] 3EW | 7B | 36600 30,800 36,600 30800 | 25300 | 36600 34300 30800 28,100 | 36,600
[JLess IE] 3EW | 7B | 36600 30,800 36,600 30800 | 26400 | 36600 34300 30800 28,100 | 36,600
671 IE] 3EW | 7B | 36600 30,800 36,600 30800 | 26500 | 36600 34300 30800 30200 | 36,600
B [Le62 ] 3EW | 7B | 36600 30,800 36,600 30800 | 27.700 | 36600 34300 30800 26900 | 36,600
[CJLess IE] 3EW | 7B | 36600 30,800 36,600 30800 | 26800 | 36600 34300 30800 26900 | 36,600
[JLess [IE] 3EW | 7B | 36600 30,800 36,600 30800 | 25300 | 36600 34300 30800 _ 28.100 | 36,600
670 [IE] 3EW | 7B | 36600 30,800 36,600 30800 | 26400 | 36600 34300 30800 _ 28.100 | 36,600
672 [IE] 3EW | 7B | 36600 31,900 36,600 31,900 | 27.700 | 36600 35400 31900 _ 28,100 | 36,600
674 [IE] 3EW | 7B | 36600 31,900 36,600 31,900 | 26400 | 36600 35400 31900 _ 28100 | 36,600
R (PE)-EXXE EFAEEES 659 i) 78 400 33.400 400 33.400 800 | 47.800 29,000 800
5 658 [IE] iE] 400 33400 400 33400 400 41,800 33,400 400
KR (B =5 KR (B % 237 HE 38 000 24.200 000 24.200 000 | 27600 21.100 000
237 [IE] EE] 000 24.200 000 24,200 000 27,600 27,500 000
237 IE] 3 000 24,200 000 24,200 000 27,600 24200 000
237 IE] EE] 000 24,200 000 24,200 000 27600 27.100 000
RER 237 ] EE] 000 24,200 000 24,200 000 27,600 27.100 000
237 IE] EE] 000 22,200 000 22,200 000 25600 25,100 000
237 IE] EE] 000 24,200 000 24,200 000 27,600 27,100 000
237 IE] EE] 000 24.200 000 24,200 000 27,600 27,500 000
KRG | JL2383 ] 400 15,600 400 15,600 400 20700 15800 400
[uL2385 [IE] 400 15,800 400 15,800 400 20700 16,100 400
[ucassr [iE] 400 15,000 400 15,900 400 19700 15900 400
[uL2389 [IE] 400 15,600 400 15,600 25400 20700 16,700 25400
2393 [IE] 25400 15,600 25400 15600 | 13600 | 25400 | 20700 | 16700 | 14700 | 25400
AR [CuL2380 ] 25400 15,600 25400 15600 | 13600 | 25400 | 20700 | 15800 | 13800 | 25400
(L2382 IE] 400 15,600 400 15,600 40020700 400
(L3880 [IE] 400 15,000 400 15,900 400 19.700 400
(L2386 [IE] 400 15,600 400 15,600 40020700 400
2392 [IE] 400 15,600 400 15,600 40020700 400
AR (F-ERS A% [ JL2401 LIE] 200 17.900 200 17.900 200 22,400 200
(L2403 [E] 200 20,300 200 20,300 200 22400 200
[urz407 [IE] 200 20,300 200 20,300 200 22400 200
(L2400 [IE] 200 17.900 200 17.900 200 22400 200
[uczast IE] 200 17.900 200 17.900 200 22400 200
[uczart [E] 200 17.900 200 17.900 200 22400 200
[ur2a15 [iE] 200 17.900 200 17.900 200 22400 200
2419 [IE] 200 17.900 200 17.900 200 22400 200
ERERE | JL2400 ] 200 17.900 200 17.900 200 22400 200
[ur2402 [iE] 200 17.900 200 17.900 200 22400 200
(L2404 [iE] 200 15,900 200 15,900 200 22400 200
(L2406 [IE] 200 18,000 200 18,000 200 22400 200
[ur2a10 [IE] 200 20,300 200 200 22400 200
(L2482 IE] 200 20,300 200 200 22400 200
[urzai2 [IE] 200 20,300 200 200 22400 200
2414 [IE] 200 20,300 200 200 22400 200
HRFFR)-FH MEFFRFE [ JL2803 [IE] 38 800 21,100 800 800 22,400 800
(L2805 [iE] EE] 800 21,100 800 800 22400 800
2809 [iE] EE] 800 21,100 800 800 22400 800
L] [uL2804 [IE] EE] 800 21,100 800 800 22400 800
(L2806 [IE] EE] 800 21,100 800 800 | 22400 800
2810 [IE] 3Em | 22,800 21,100 22,800 [ 22800 22400 22,800
AL () =FIE AM(ER) % [ JL2861 L] B B8] | 21.300 21,100 11,900 [ 21300 | 21,300 21.200 900
(L2863 [IE] B | 21300 21,100 | 11,900 | 21,300 [21.300 21.200
(L2865 [IE] B | 21300 21,100 | 11,900 | 21,300 [21.300 21.200 18,900
2869 [IE] B | 21300 21,100 | 11,900 | 21,300 21,300 21.200 18,900
ElEE [uL2860 ] B | 21.300 21,100 | 11,900 | 21,300 21,300 21.200 21300
(L2862 [iE] B | 21.300 21,100 [21.300 21,300 21.200
(L2864 [iE] B | 21300 21,100 [21.300 21,300 21.200 18,900
2868 [IE] B | 21300 21,100 [21.300 21,300 21.200 18,900
R (E3) =%E5 AR(ExE  [JL2721 [IE] BE | ¢ 21,100 [ 2 | _22.800 22,700 22,800
[uLe727 [IE] B | 21,100 [ [ 22800 22700 22,800
ES e [uL2720 [IE] BE | ¢ 21,100 [ 2 [ 2 22,700 22,800
2726 [iE] B | 21,100 [ [ 22.700 22,800
A (%) -EiE M(ER R [ JL2741 L] BE | 1 17.400 [ 1 [ 1 17,500
(L2743 [iE] B | 17.400 1 1 17.500 16,800
[uL27a5 IE] B | 17.400 1 1 17.500
(L2749 IE] B | 17.400 1 1 17.500 16,800
(L2753 iE] B | 17.400 1 1 17.500 16,800
[LuL2755 [IE] B | 17.400 1 1 17.500 16,800
L2757 [iE] — 17.400 17.500 16,800
ELE] [uL2740 ] — [ 17.400 1 1 17.500 17,600
(L2742 IE] B | 17.400 1 1 17.500
[uL27aa [iE] B | 17.400 1 1 17.500 17.600
[Curz746 iE] B | 17.400 1 1 17.500
(L2748 iE] B | 17.400 1 1 17.500 17,600 | 17500
(L2752 iE] B | 17.400 1 1 17,600 17500
2754 iE] B = 17.400 1 1 16800 16500
AT (EE) FIR AW 5% | JL28s1 [ 388 | 7B 17600 17.100
2885 E] 3Em | 788 15,500 16,600 15,500 17,600 16,600 17,600 17100
FIRR [JL2880 ] SEN | 7B 17,600 17100
(L2884 [IE] 3Em | 788 15,500 16,600 15,500 17,600 16,600 17,600 17100
ARG B T (G55 | JL2895 [ 388 | 7E8 17600 15,500
BR%E 2894 L] 368 | TEHAET 17,600 15,500
WE-AR BHEEFE 2891 L] 3EA | TEET 12,100 13,100 12,100 13,700 12,600
AR% 2890 ] SEN | TE8 12,100 13,100 12,100 13,700 12,600
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[Cucies [IE] EE] 300
[Cutiso IE] EE] 900
192 IE] 36 900
RIR (FFD =k E AT 2301 L] 38 400
(L2305 IE] EE] 400
2309 [iE] EE] 400
PATES [JL2302 L] 38 400
(L2306 IE] EE] 400
2310 IE] EE] 400
KR (FFH=X5 EACZES 2361 L] 38 800
(L2365 IE] EE] 800
2367 IE] EE] 800
EX:E [ JL2362 [IE] 38 800
[uL2364 E] EE] 800
2366 [IE] EE] 800
KR (P =R E AT 237 L] 38 000
237 [IE] EE] 000
237 [IE] EE] 000
237 [IE] EE] 000
REF 237; L] 38 000
237 [IE] EE] 000
237 [IE] EE] 000
237 [IE] EE] 000
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14,700 600
16,800 300
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17,600 500
16,800 500
15,800 500
15,800 500
14,700 500
13,500 500
13,500 600
13,000 600
13,000 600
13,000 600
13,000 600
13,000 600
13,300 900
13,500 300
13,500 500
14,700 500
14,700 300
14,100 600
13,500 200
12,500 700
12,500 100
12,500 600
12,500 300
12,500 500
12,200 600
12,200 400
12,200 000
16,300 500
17,900 500
16,300 500
15,300 600
14,300 600
13,800 600
15,100 000
15,100 000
15,100 500
14,300 400
14,300 000
13,800 600
11,900 400
11,900 400
11,900 400
11,900 400
11,900 400
13,300 400
19,700 800
19,700 800
19,700 800
800
800
800
000
000
000
000
000
000
000
000
400
400
400
400
400
400
400
400
400
400
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200
200

ERE

12,900

14.700

14.700

14,900

14,900

14,900

14,900

14,900

14,900

15.000

16.100

16.100

16.100

16.100

16.100

14.200

14.700

14,900

14,900

14.700

14,000

14,600

15.100

15,500

16.100

16.700

16,900

18.100

17.900

17.400

14,900

16,000

16,000

17,000

17,000

17.000

15.400

15.400

16,000

10/9
FEI7A BEI7B HBEI7IC HEIID

10/10
FEI7A BEI7B HBEI7IC HEIID

EEZE | ERE | EEH
11,300 200
11,300 900
13,000 800
13,200 800
13,200 800
13,200 800
13,200 800
13,200 800
13,200 800
13,300 900
14,500 100
14,500 700
14,500 100
14,500 600
14,500 600
12,600 200
13,000 800
13,200 800
13,200 800
13,000 900
12,400 900
12,900 100
13,400 100
13,900 900
14,500 900
15,100 100
15,300 600
16,500 600
16,300 600
16,100 600
13,200 500
14,300 500
14,300 500
15,400 600
15,400 600
15,400 600
13,800 500
13,800 000
14,300 500
18,100 500
18,100 500
14,500 300
11,900 400
11,900 400
11,900 400
11,900 400
11,900 400
13,300 400
19,700 800
19,700 800
19,700 800
19,700 800
19,700 800
19,700 800
27,100 000
27,100 000
27,100 000
27,100 000
27,100 000
27,100 000
20000 000
20000 000
15,800 400
15,800 400
19,600 400
19,200 400
19,200 [ 25400
15,800 400
15,800 400
19,600 400
18,100 400
18,600 400
20400 200
20400 200
20400 200
23400 200
18,000 200
24,800 200
24,800 200
24,800 200
20400 200
20400 200
20400 200
20400 200
23,400 200
20400 200
23,800 200
23,800 200

ERE

11,700
14.200
15.200
15.200
15.200
15.200
15.200
15.200
15.200
16,300
16,500
17.100
17,500
18.100
18.100
11.700
12.200
14.100
15.200
16,300
16,300
16,500
16,500
17.300
17.300
17,500
18.100
18.900
18.900
18.100
14,900
16,000
16,000
17,000
17,000
17,000
14,900
15.400
16,000
22.700
22700
16.700
18.300
18.300
18.300
18.300
18.300
18.300
20400
20400
20400
20400
20400
20400
21,600
21,600
21,600
21,600
21,600
21,600
21,600
21,600
20700
20700
19.700
20700
20700
20700
20700
19.700
20700
20700
22.400
22400
22400
23900
22.400
25300
25300
25300
22.400
22,400
22,400
22,400
23900
22.400
29,000
29,000

EEE
9.900
0.

13,500
13,500
13,500
13,500
13,500
13,500
13,500
14,700
14,900
15,500
16,000
16,500
16,500
10,100
10,600
12,500
13,500
14,700
14,700
14,900
14,900
15,800
15,800
16,000
16,500
17.300
17.300
16,900
13,200
14,300
14,300
15,400
15,400
15,400
13,200
13,800
14,300
21,100
21,100
15,100
11,900
11,900
11,900
11,900
11,900
13,300
19,700
19,700
19,700
19,700
19,700
19,700
27,100
27,100
27,100
27,100
27,100
27,100
20000
20000
15,800
15,800
19,600
19,200
19,200
15,800
15,800
19,600
18,100
18,600
20400
20400
20400
23,400
18,000
24,800
24,800
24,800
20400
20400
20400
20400
23400
20400
23,800
23,800

ERE
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MFEZI5121 EEXR (BA26~31BIERS)

EEHEA 2022/08/05 _ ~
8/26-31
[=40) 23 BEMIE
The  Ena i
R CHE) =@ 5 FRCHE)FE | JL453 kil 400 15,000, £:12,300, :14,600, H:11,600
[JLass 400 A:15.000, £:12,300, £:14.600, B:11,600 |
[JLase 700 A:14.200, £:12,300, £:13.500, B:11,600 ]
[CuLeet 1000 +:21.300
[JLa63 1000
465 1000
[t [ JLas2 500 | :27.200, F:19.300, H:18.300
[Jresa 000
[JLase 400 A:27.100, 2:18,300, £:18.700, B:18,300 |
[JLas0 ,900 | A:11,000, £:11,000, £:11.000 — 1
462 .90 A:27.100, +:22,300
464 000
R (PHE) =B REPE R 475 800 23,900, 1:23.200, H:23.200
477 300 A:25.300, B:15,300
[CJLaze 200 A:12.700, £:23,100. £:14.,500, B:23.300 |
[CJLast .900 _ £:23.100
[JLass 600 | 7K:9,600, %:23,100, £:9,000, 59,500
[JLass ,600 _ A:24.600, 2:16,900, T:23.200, H:24.200 ]
487 .900 _ H:23.800
BN 474 ,200 24,500, %:23.700, 23,800, H:23.300
476 700 E3 900 ]
[CJLa7s 600
[JL4so 900
[JLas2 400
[Jr4sa 400
486 200
RECAEE [ JLd01 500
[Jr403 .900
[Jr495 .900
[CJrd97 300
499 .500
BEE [ JLago 500
[Jr402 500
L4904 .900 N N
[JLage 500 700, +:27.500, H:27,800 ]
498 ,000 000, %:18.100. :14.700, H:28,300
R P =AM RRPFHE R 73 .000 :24,000, #:24500, £:24,000, H:18,900
75 ,000 X 120,000, H:21,000
77 000 :25.100, £:26.100 —
7 000 100, £:26.100 —
FAMFE 7 .200 100, £:22,000, B:16.900
7. 700 :23,200, £:23.600. 1:22,600, H:20.000
7 0,200
7 7,900
RRCHHE)=AKE ESACIEIES 981 9700
ARBFE 982 7.400




M#EEI5121 5EEROA1~5ABRS)

SEEEAA 2022/08/05  ~
9/1-5
) T BEIMTE
WEE B3|% _ %
R CHE)=18R RRCAE R 000 80% 11,000, £:11,000
100 42% 7
000 73%
000 38%
000 38%
L: 400 39%
L: 000 73%
L: 000 43%
L: 000 43%
000 43%
[uL323 000 73%
[uL325 500 41%
[uL327 600 41%
[JL329 000 71%
[uLa31 100 40%
[JL333 000 71%
335 600 39%
EEES [JL3oo 000 73%
[JL302 000 73%
[JL304 000 40%
[JL306 700 39%
L308 100 40%
L: 000 73%
L: 200 42% X
L: 000 43% 500,
L: 000 71% 000
L3 400 42% 300,
[JL320 400 42% 300,
[JL322 000 71% 000,
[JL324 000 | 49% 000,
[JL326 400 42% X
[JL328 400 39%
[JL330 000 40%
1332 000 71
R CRE) =5 () RRERCAE)% [ _JLoot .000
[JL903 500
[JL90s 500
[JLoo7 500
[—JL909 000 52%
L 000 68%
L 700 65%
L 000 68% 19,900, H:13.000
L 000 72%
[ 900 74%
[JL923 000 70% .600. %:17.700. H:10.600
L925 500 71% §:15.000, %:20.800
ARG [JLe00 300 80% §:12,800
[JL9o2 400 71% 400
[JLoos 900 72% 900
[JL906 900 70% 300, %:11,300, H:16.900
[—JL908 700 65%
L 300 56%
L 300 56%
L 300 56%
L 300 52%
300 | 52%
000 68%
000 70%
KB (P =HLIR (B F %) KR (D% 200 37%
600 71% . H:16.400
200 43% 26,400, #:28,000, H:16.400
200 72% _ £:15500, B:15.500
100 80%
IR FFR) R 9,600 81% 400
100 78% 300
100 76% 100
000 51% 500, H:30,900
400 50%
KR (FFH =08 (BF) KR (D% 100 64 100, £:16.100
600 77"
PR RER) 600 77" 12100
100 6 17.100
RECHE)=Z@5 RRECAE) % 100 5¢ 300
100 5 5,300, H:24,100
0 7
ESCEIES 100 7
100 5 3,600, £:13.100. H:14.600
100 7 00
RRCHE) =Nl RRCAE R 000 38% 29,000, H:28.100
800 43% 18,100, £:17.600. B:17.100
100 69%
100 73%
JEIES L 100 75% 00
[ 554 500 58%  A:21,000, £:22,500, H:23,300
[ JL556 500 652%  A:24,000, £:24,700, H:25,300
558 10075 600
R CHE) =llE% ST L 900 |54 300, 1:28,800, H:22.000
L 00 7 500, :13.100
L 0 7 500
LSS L 100 7! 400
L 100 7 500, H:12.100
L 00 7 600
B (CHE)=®RIE RRECHE) % L 100 7. 1:19,600, £:20,600, £:24.600
L 600 69% ,600, H:13,600
L 00 | 72% ,600
L 00 | 74%
HILSE L 00 72%
L 100 68%
L 100 68%
L5 100 74%
R (FIE) =BfE RER(HE)SE [ _JL585 000 30%
[uLs87 000 46%
L589 100 66%
g3 [ JLss4 100 69%
[JL586 500 60% 00, A:14,500, H:27.900
L588 600 62%  :23.900. H:23.900
HR CRIE) =fE L RER(CAE)RE [ _JL231 400 61% 200, +:13,600, H:13.800
[Jr233 600 4% 700
[Jr237 500 74% | H4:9,600
[JL239 700 58% _ A:15.800. £:12,600, H:12,600
L241 600 4% 700
[ZTES [ JL232 .600 74% 700
[Jr23a 600 74% | H:9,700
[JL236 100 59% _ /:13.900, A:13.700. £:13.600, H:13,800
1240 600 74% 700
1242 .000 | 57%  +:12.800. H:12900
RRE(HE) LS RRCAEE [ JL253 .800 74% _H:9)
[JL255 200 49% _ £:19.300. £:13.700, H:13.700
[JL257 600 48%  /:19.800. £:13.700, H:13.700
[JL259 800 74% ,900
[CuL261 800 7% |
[JL263 700 56% _ /:16.200, A:16,000, £:13.900, H:14.100
[JL265 700 51% 8,900, +:13.900. A:14.100
1267 800 4% ,900
L% [ JL252 .800 74% 900
[Jr254 300 74% ,900
[JL256 16700 56% _ A:16.200. A:16,000. £:13.900, H:14.100
[JL258 800 7%
[JL260 16300 57%  £:13,900. A:14.100
[JL262 16700 56%  A:16.900, £:13,900, H:14.100
[JL264 16400 57%  £:16,500, £:13.400, H:13.300
1266 800 74% _1:9,900

JAL



M#EEI5121 5EEROA1~5ABRS)

SEEEAA 2022/08/05  ~
9/1-5
=30] T BEIMTE
el 11 w
RRCHE)=HE RRCAE R L277 800 70% 900
[JL279 400 31% 300, £:23.900, £:24.100. H:22.700
[JL283 800 70% | H:10900
[JL285 100 43% | 5:20600
287 800 70% | H:10900
HER L276 .000 49% §:19.900. £:20,000, H:18.500
[JL278 800 70% .900
[JL280 800 70% (A
[Jr28a 000 30%
1286 800 70% X
RRCHE)-#S RRCAE R L453 400 74% 500
[JL4s5 600 49% 9,300, £:12.400. H:12.400
[JL459 .300 7 400
[JLd61 300 7 400
[JLa63 400 7: 9,300
L465 400 7 500
BER [JLas52 400 7 500
[JLasa 400 7 500
[JL456 700 5 8,300, £:12.000. H:12.000
[JL460 400 74 500
[JL462 000 67" 9,300, :18.600, £:19.200
L464 300 74 400
B (CHE) =ik RRECAE) % L .500 74 1:9,600
L 000 | 40% | K:21,100, %:21,600, H:19,800
L 500 74 600
L 500 74 600
500 74 8,300
800 37" 2,400, £:18.500. H:23.000
500 7 600
B33 500 7 600
500 7 600
500 7: 8,100
500 7 600
.000 3 00, 7:18.200, £:19.100, £:18.900
400 36% 2,700, :22.200, £:22.900, £:18.900
500 4% 600
RRCHE) RRCAE R 600 75% 700
100 74% 0,000
600 75% 700
300 | 42%  H:22.200, A:21.100, %:21,300, £:18.700
600 75% 700
B 600 75% 700
600 75% 700
14900 62%  A:14.300. %:14.700. H:17.900
600 75% 700
4500 | 37% 3,400, £:23.700. £:18.500, H:23.300
B CRIE)=# L RRECHE) % .900 75% 1:10,000
3000 42%  5:22.600, A:21.900. £:22.400. H:20.100
400 76% 500
1000 | 47%  A:18.100, A:17.200, £:20,600, H:20.700
3,900 39% 1:22.400, A:21.800, %:23.200, £:20.000
900 75%
[AITES .900 75%
.900 75% | H:10,000
1.800 45% 1:18,800, A:18,200, £:19.100, £:20,100
100 52% | 7:18,500, 7:17.900, H:21,500
900 75%
900 42%
R (=R K (O % .300 42% &1
300 42% 00, H:17.800
300 48%  2:17.200, £:18,100, H:18.200
,900 7 00
RIGS 900 7: ., £:10,200
500 6 . %:11,600, H:11,600
500 6 .600, £:13,600, H:13,600
800 |44 . £:16.300, H:18,300
AR (=R K AR (FFH % 400 50%
400 50%
500 50% 14,400, H:15200
8,900 69% 9,900, H:9.700
TEA5E 500 53% 9
400 50%
400 50%
400 50%
AR (FFH=ER. AR (FFH R 400 50%
100 45%
100 45%
400 50%
100 63%
400 50%
400 50%
300 60%
ERER 100 63%
400 50%
400 56%
200 63%
900 49% N
100 45%
100 45%
100 45%
AR EFFR)=H IR FFR) R 300 34%
300 34%
300 34%  A:13000, %:13.300, £:13.000
EHRR ,700 29%  7:18,600, 7:13,700, £:13,800, H:13,000
300 34%
300 34%
AR EFFR) =B IR FFR) R 8,900 71% A S
700 39% 00, B
HER ,600 39%
100 57%
R FFR) =R HRRE 300 3%
300 66%
IR FFR) R 800 32%% ).800. B 1l
400 38% £:23.100, H:23.100
wE=-E BERE 900 67" 100
900 67 19,100
,800 72° :5,800, £:6,700
900 7" 100
900 7" 100
900 7" 19,100
100 3" 5,800, %:6.700, 16,800
S 900 7" 700, £:7,500, H:6.800
900 7" 100
900 7" 100
900 7" 19,100
900 7" 800, 6,800
900 7" 100
900 7" 100

JAL



MEEZ5121 EER(9A6~108EFES)

SEEEAA 2022/08/05  ~
9/6-10
) i 73 T BEIMTE
anE Hia &
R (FIE) =754 (B 5) ESHET L901 000 56% | 7k:23,000, %:24,000, F:24,000
[JL903 500 5
[JL90s 500
[JLoo7 500
909 ,000
L ,000
L 700 65%
L 000 68%
L 000 7
900 7
[ JL923 .000 7 A:17.700, £:17.700
L925 .000 7 :17.700, %:20.800
PR RER) L900 800 7!
[JL902 400 7
[—JL904 900 7
[ JL906 900 70%
908 700 65% _ £:21.100
L 300 56%
L 300 56%
L 300 56%
L 300 52%
300 52%
[JL920 400 6%
L922 700 67%
KR (FFH =08 (BF) KR(FFH% [ JL2081 000 55%
2087 300 69%  £:15.700
hRBE) R [ JL2084 300 69%
2088 000 | 65%
R (FE) =K1 HRE(FE)E | _JL565 100 5% 300, :25,300
[JL567 100 | 54%  £::26,300, :25300
L569 300 58%  2:22,000. £:23.100
ESFES [ JL562 100 54% 800
[JL564 100 54% 423,800
L566 500 | 62%  $::24200, £:17,.800
RRCHE) =Rl RECAE)% [ _JLs51 600 43%  A:29,000, %:30.000, £:30.000
[JL553 800 43% 500, %:30.000. £:30.000
[JL555 500 54% 500
557 500 54% | +:21500
JEIIES [ JL552 000 50%  A:20,500, £:22,000, F:22,500
[ 554 500 58% 00
[ JL556 500 52% 00, F:23,600
L558 600 62% 00, £:19,100
B CFIE) =IER RRECHE) % L .300 53% 00
L 000 60% 00, %:22.200, £:18,200
L 000 60% 00, £:22.200, F:17,200
ElEEES L 400 64% 000, £:22.500
L 500 61% 000, #:20,800
L 600 63% 500, £:20,800, F:18,500
B (CHE)=RILE RRECAE) % L 600 61% N 00, 1:24,600
L 600 50% 00, £:24,600, £:25,600
L 600 50% 00
L 600 54% 600, %:22.600, £:20,600
ETR L 600 54% | +:24600
L 100 55% 00, £:24,600
L 100 55% 00, +:23,600
L5 700 65% 00, £:20,600, £:18.700
R (FIE) =B&iE RERCAE)% [ _JLs8s ,000 41% 00, 1:27.000
[JLs87 000 464 00, £:23,500
589 000 46% 00, £:23.500
E3E] [uL584 500 | 52% 00, £:19,000, £:19,000
[JL586 900 38% 25,600, F:24,000
588 .900 38% 23,500, £:22.800
HR CFIE) =fE L RER(CAE)RE [ JL231 200 62% 14,400, £:13.600
[Jr233 700 74%
[uL237 600 74%
[JL239 1 58% _ £:12,600
L241 .7
=[S [ JL232 7
[uL23a .7
[ JL236 .7 #:15.100, £:13,600
240 .7
1242 000 £:12.800
B (FH)=ES RERCAE)® [ _JL253 .900 4
[ JL255 200 49% _ £:19,600, £:13,700
[JL257 600 48% _ +:13,700
[JL259 .900 74%
[uL261 800 77%
[ JL263 .000 58% _ £:16.700, £:13.900
[JL265 700 51% _ +:13.900
267 .900 74%
L% [ JL252 .900 74%
[JL254 900 74%
[JL256 16000 58% 216,700, £:13.000
[JL258 800 77%
[JL260 16300 57%  £:13.900
[JL262 16700 56% _ +:13.900
[JL264 400 57% 216,500, £:13.400
L266 .900 74%
B (CHE)=HE RRECHE) % L277 900 69%
[JL279 900 33% _ 2:24.100, £:24.400
[JL283 900 69%
[JL285 100 43%
1287 900 69%
HER L276 .000 49%  +:20,000
[JL278 900 69%
[JL280 1900 69%
[ JL284 200 32% _ £:24.300, £:22.900
286 900 69%
B (HE) =8 RRECAE) % L453 500 74%
[JL4s5 600 49% 12400
[JL459 400 74%
[JLd61 400 74%
[JL463 600 49%  £:11500
465 500 Z
BEE [ JLas52 500 4
[JLa5a 500 Z;
[JL456 700 1% £:12,000
[—JLa60 500 Z
L462 .600 49%  £:19.200, £:12,000
L464 400 74%
EACEE=TA RRECAE) % L 600 74%
L 100 42%  2:21,600, £:22,000
L 9,600 74%
9,600 74%
[JL4s3 7100 | 53%  2:19,000, £:19,600
[ JL485 400 38% _ £:22.800, £:18,500
L487 600
B33 L474 600
L476 600
[JLa7s 000 %:18,800, £:19.200
[JL4s0 600
[JLasy 200 50% _ £:19.100, £:18,000
[Jr4sa 200 39% _ 2:22,900, £:18,900
L486 600 74%
B CHE) =/ RRECHE) % L491 700 75%
[JL493 000 51% _ £:20,400. £:20,600
[JLags 700 75%
[Jra97 Nl 46% _ %:21,300, £:18.700
L499 9.7t 75%
TS [—JLa90 9.7t 75%
[JLa9y 9,71 75%
[Jraoa 14300 63%  2:14.700, £:14.900
[JL496 9,700 75%
498 23400 40% _ %:23.700, £:18.500

JAL



MEEZ5121 EER(9A6~108EFES)

SEEEAA 2022/08/05  ~
9/6-10
=30] T BEIMTE
AR g% e
HR CFIE)=# L RERERCAE) % 10,000 75%
21,900 44%  £:23000, £:22.400
9,500 76%
7,200 56%  £:21,000, £:20,600
.800 45%  £:23.200, £:20,000
000 75%
EAITES 000 75%
000 75%
.200 54%  £:19.100, £:20.100
900 55%  £:19.100, £:19.100
000 75%
.200 46% 300, £:18.000
R (B =Ri% KR (D% .300 42% 00
300 42% 00
.300 48% 117,200, £:18.100
100 43%  £:19,700
RS 100 | 43%  £:18,600. 18,600
600 54% 100
600 48% _ £:18,100
800 44% £:18,300, £:16.300
AR (=R K AR (FFH % 400 50% 500
400 50% _ £:14600
500 50%  £:15.200, £:14.400
500 | 53%  2:14)500
33 500 53% | £:15,000
500 50% 00, :14.400. £:14.800
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00
[ 116,800, 116,000, £:15,000
6,300, +:16,000
500, £:11,700
8,500, 14700, B:15.300
18,500, :14,700, B:15,300
4,700, +:13,600. B:12,600
£:14,700, £:12,600, H:11,600
[ 700, £:8,700, H:10,700
00
ERER
78% 100, £:9.100
600 | 80% 15200, £:8,100, £8,100
900 81% F:9000. H:11900
[ 800 50% |/3:18,300, 717,600, 14,700, :16,600
[ 800 57% | 3:18,300 A:17,800, &:15,700, +:17,600
[J 200 70% _ £:13,700, +:15,600, H:20,600
200 70% [ %:12,700. F:14,600, B:19,600
R CHE) % 400 45% | §:28,300, H:28,000
RER 300 50%
KR (=R IR (R % 000 53%
400 55%
400 61%
800 | 72%
RIGH 800 72%
400 | 67% | H:7500, %:11,500, B:11,200
400 61% A:9,500, £:13500, H:13200
400 55%  £:15300, F:12.400, B:15,800
R (F-ERE R (7% 500 62%  £:13200, 3:13200, H:12.200
[ 700 59%  +:15200
[ 700 59% 14700
[ 500 | 62%  %:13.400 F:13.400
000 64%  5:10,000, £:13200, 1:13000
500 | 62% | %:13,500, +:13,500
500 62%  #:13,500, £:13500
100 60%  3:10000. A:12,000, H:12,300
BRBR 000 64% 39,100, £:13,200, £:12,900
[ 100 63%  £:12,700. F:12.700. B:12,500
[J 100 | 69% 210,700, £:10,700, H:10,500
[ 100 63% 39,100, :12,700, £:12,700
[ 700 62%  H:14,200
[ 700 52% | 3:14,700_ A:13,900, £:15,000, £:13400
700 52% A:14,700, A:13,900, £:15000, 1:13400
400 | 56%  A:13.900. F:13,400
KR (A =-BERE AR PR 100 39%
5 100 39%
ALIR (B TR A ARFTFR)H 700 51% K1
700 | 51%  A:12,800 F:12,600
700 51%  A:12,600, T:12,600
ESEES 700 51% 600, :12,800
600 51% 800, £:12,700, £:12.700
700 | 51% Al
R FHTFR)=F ARFTRIRE [ 500 56% 700
[ 500 56%
500 | 56% 600
EHRR [ 200 54%  5:8,600, £:13.700, £:12,000
< 000 54%
500 56%
AR (BT &) =B ARFTFRE [J 800 71% 6,800, £:12.700
700 55%
HEFE 700 55%
200 60% _ .9,400
AR GFTTR)=-HB EGES 200 66% 9100, 7:9,000, £:18,700
200 | 66% 39,100, 9,000, £:16,300
HREFTTR R 400 71%  :10500, £:10700, F:16,300
700 51%




r5E8%I51 IEER 0R2~5HERS)

BEERA 2022/08/05 ~
9/25
= E4 TE ER/ITA 778
= E3
A e T el
AL () =8IER AR(EHR | JL2861 28 B 800 50%  £:10,000, H:10,000
[[JL2863 | 288 800 | 50%
| JL2865 288 800 50%  +:10,000, H:10,000
2869 | 28 800 | 50% _ +:10000. H:10000
S [Jr2s60 | 288 800 50% /:11,600, 3:10,000, H:10,000
[JL2s62 | 288 800 | 50%  5:11,600, H:11600
| JL2864 288 800 50% A:11,600, +:10,000, H:10,000
2868 | 28 800 | 50%  5:11,600. F:10000. H:10,000
AR (B3 =25 AR (B3 R 721 288 000 61%
288 000 61% _ :12,600
ESEES 288 000 61%
288 000 61% | F:12800
ALIR (B35 =ER HIR(EH 288 900 50%
288 900 50%  +:9000. 59,000
288 900 | 50%
288 900 50%  +:9000. H9,000
288 900 50% _ 1+:9.000, H:9.000
288 900 504  H:9000
288 800 31% +:11,600, B:17,100
S 288 100 14% F:11,600, H:11,600
288 900 | 50%
288 900 50%  +:9000. 59,000
288 900 | 50%
288 900 50%  +:9000. H9,000
285 900 50% 9000, 5:9000
288 900 504  H:9000
AR (B3 =FIR AR(EHR | JL2881 288 200 50%  £:10,000, H:10,000
2885 | 28H 200 50%
FIRFE [ JL2880 288 200 50%  £:10,000, H:10,000
2884 | 28 20050
WE-RR R 2801 | 288 000 | 66% 8750, H8750
BRFE 2890 | 288 000 66% | 1:8750, H:8.750
KR (7 F1) =126 KR (FF) % 2331 288 900 53%
2337 | 288 900 53%
KR (FF)=HE KR () % 2341 288 700 63%
[UL2aa7 | 288 700 | 46% B:11,700
[UL23s5 | 288 700 | 50% §:10700
2357 | 288 800 54%  %:11,000. B:11,400
HER 2342 288 800 54%  %:11,000
[L2as6 | 288 700 594
[LL23s6 | 286 700 | 46% B:11700, £:11.700
2356 | 28 700 | 59% %:11,700
BE-ES [JL3ses | 288 700 58%
3567 | 28 800 58%
[UL3sea | 288 800 | 58%
3568 | 28 700 | 58%
[uL3ssi | 288 000 | 35%
3587 | 28 400 34%  H:19.900
3582 288 400 34%
3588 | 28H 000 | 35%
[T [ JL3501 286 800 46%
[La595 | 28 800 | 50%
[JL3601 286 000 49%
3607 | 288 800 | 46%
EAIES [UL3s02 | 288 800 |46k
[JLa596 | 28 000 | 49%
3602 | 288 800|464
3608 | 28 800 | 50%
RR-EXRE EETEE 3681 286 300 51%
BEAER 3684 288 300 51%
BRE-EXXE BRBR 288 200 54%
288 900 4%
288 900 | 48% 7115400
288 400 49%  5:15000
288 800 49% £:15.200, H:16,800
288 400 | 534 900, H:13,900
285 900 | 55% _ 7:13.400, H:13,400
737 | 288 900 | 55%  H:13.400
BERER 722 [ 288 900 51% 400
288 400 49% 00, %:16,000, £:15,500
288 900 | 51% 400
288 400 49%  A:15000. %:16,000
288 800 41%  A:17400, £:19.000
288 A00 | 46% 900, %:15,900
288 200 47%  X:16,300, £:17,900
288 300 | 57% £:12,800
BRE-EZE BERBR 288 000 52%
288 500 | 4d%
288 500 aa%
288 500 444
BIBR 286 200 39%
288 200 39%
288 200 39%
288 000 | 52%
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BEERA 2022/08/05 ~
9/6-10
ERITA #5178
=3c) (23 - BEH
EEE  ax %
R CHE) =Kk (BI%) RECHE)®E [ JL221 [ 28RN 200 67%  A:11200, £:11,200, F:11,500
[[JL225 | 288 000 | 71% 411,000
229 288 000 75% £:12,100
KM (B97) % | JL220 | 288 000 75%
|_JL224 288 000 1%
208 | 288 200 67% 800, %:12,100, £:10000
R (HE)=AR (FFR)| RRPEE [ _JLsol 288 500 67% 400, £:18.400, +:18,200
[JLs503 | 288 000 | 68% 400, %:18,700, +:19.200
[JLs05 | 28 400 | 58% 400, £:19,900, £:21400
[uLs07 | 288 400 | 58% 400, £:19,900, +:21400
[uLs09 | 28 300 | 53% 300, £:22,400, F:23,900
288 300 53% 300, %:22.400. +:23.900
285 400 | 60% 400, :21,400, £:22,000
288 600 62% 600, %:19.400. +:19.500
286 700 | 72% 700, £:14300, £:12,700
288 000 71% 000
288 000 1%
[CuL52 288 000 71%
|_JL525 288 000 3%
[CuLs27 | 288 000 | 73%
[_JL529 288 000 6%
531 | 288 000 | 78%
HREFTTR R L500 | 28H 000 T1%
[[JLs02 | 288 000 | 7i%
[Jtsoa | 288 000 68%
[JLs506 | 288 000 | 68%
[CJL508 288 000 66%
288 000 | 68% 000, £:14,000
285 400 | 60% 000, £:17,300
288 700 55% 500, +:17,300
288 100 54% 222500, £:17,300
[ 288 100 54%  £:22500, F:17,300
[[Jis20 | 288 100 5a% 000, £:14,800
[[JL522 | 288 100 56% 100, %:23,000. F:14800
[[Jisoa | 288 100 56% 100, :23,000, £:14,800
[[JL526 | 288 500 | 62% 500, £:22,200, +:13,800
[CULs28 | 28 000 734 000
530 | 288 000 76%
R (CHE) =1 WE(CHE)H [ JLs03 | 28H 9,000 80% 211,000, +:11.000
[[JLs0s | 288 300 68% 300, %:16,600, F:15.400
[ _JL307 | 288 000 3% 000, 1:15,000
[[JL30s | 288 400 | 594 400, %:19,400, £:21400
285 400 | 50% 400, £:19,400, £:21,400
288 900 67% 900, %:17400. +:19.400
288 000 73% 5,000, £:15,000
288 400 | 64%  :17.200, 7K:17.200
288 400 | 68%
[ 288 400 | 68%
[U323 | 288 000 73%
[[JLs2s | 288 400 | 68%
[CuLse7 | 288 400 684
[[JLs20 | 288 000 71%
331 | o8 400 | 68% £:18,400
[JL3ss | 288 000 71% 0
335 | 288 400 | 70% %:19,800, £:16900
1BE% [ JL300 288 000 73% . £:14.000
[ _JL302 | 288 000 3% +:15,000
[[JLs0a | 288 400 | 66%
[JLaos | 288 400 | 6a% 400
[[JLs0s | 288 200 | 66% 400, F:18.400
288 000 3% 000, 1:15,000
288 800 63% 900, %:14400_ F:16.400
288 400 684 400
288 000 71% _ £:16000
285 400 664 400, E:14,400
320 | 288 400 | 66% 00, F:14,400
322 288 000 1% ::16,000
324 | 288 400 | 68% 400
326 | 88 400 | 684 400, 2:18,400
328 | 288 400 | 68% 400, %:18,400
330 | o8 400 684 400
332 | 288 000 71% X
R CHE) =94 (%) Loot | 28H 000 64% :19,000, :20,000, +:20,000
903 | 288 500 61% 500, %:21,500, +:21,500
905 | o8 500 | 61% 500, £:21,500, F:21,500
907 | 288 500 61% 500, %:21,500, +:21,500
909 | o8 000 | 62% 000, £:21,000, £:21,000
288 000 70% 300, +:19,300
288 800 69% 200
288 000 76% 100, £:19,600
288 800 9%
288 600 | 81%
| J 288 800 83%  k:8000, £:11,000, :11,000
925 | 288 300 | 82%  :20,700
A GIRER) [ JL900 286 800 83% 19,800
[[JLoo2 | 288 1008
[_JL904 288 800 9%
[[JLoos | 288 600 | 79%  F:11,600
|_JL908 288 300 4%
288 500 | 63%
288 500 63%
288 500 | 63%
288 700 61%
[ 288 700 61%
[JLe20 288 000 74% [£:17.200
927 | 288 000 | 76% 500
RIR (A=A (FFm)| AR (FFAH% | Jl2001 | 288 500 _ 58% $:23300, +:25700
[[uL2007 | 288 500 | 72% 422,
[ JL2005 288 500 64%  £:20,300, +:22,700
[[L2000 | 288 100 72% i
2019 288 000 80%
AMGEHFR)E [ JL2000 | 288 500 81%
|_JL2006 288 000 78%
[[L2008 | 28 000 | 76%
[ JL2010 288 300 56%  £:20,200, +:19,600
2016 | 288 700 | 55%  £:20200. F:19,600
R () =% &8l RE(HEE [ JL565 288 000 72% _ A:19,600, £:21,800, +:23,400
[[JLs67 | 288 000 70% [A:19,600. %:21,800, F:23.400
569 | o8 000 | 72%
ESFES [ JL562 | 288 000 72%
[[Jises | 288 500 | 75% #1350, £:13,000
566 | 288 000 4%
TR CRE) =)l R CHE) % 551 288 500 56% 24,400, %:26,000, +:26.200
[[JL553 | 288 500 | 68% A:17,000, :17,000, £:17,500
[JLsss | 288 000 69%
557 | 288 000 73%
FEIES) [ JLs52 | 288 000 75%
[[JLssa | 288 000 | 71% [ A:14500, %:17,500, F:15,000
[JLsse | 288 100 67% 16,800, £:18,800, £:17,000
558 | 288 000 75%
R CHE) =3I 288 800 61%  1:22100
288 000 73%  £:14000. F:14,000
288 000
Bz 288 000 75%
288 000 | 774
288 000 75%
R CAE) =K R CAE) % 288 000 73%  £:17,600, +:20400
288 500 | 69% 500, 7K:13,500
288 000 3%
288 000 75%
HER 288 000 73%
288 000 70%  %:15000. F:15,000
285 000 | 70% 215000, £:15000
288 000 75%
TR CHE) =B RRE(HE)FE [ _JL585 288 000 64% 221,500, +:22.900
[[JLss7 | 288 000 | 66%
589 288 000 66%
B4 [ JLs84 288 000 69%
[Jisse | 28 300 | 63% £:15300, £:15300
588 | 28H 500 63%
291 288 500 75%  +:11,600
[[JL203 | 288 78%
|_JL295 288 8%
297 | 288 78%
[MEEZE3 290 288 11,700 73% 12,600, £:13,100, £:12,600
[[JL202 | 288 78%
|_JL294 288 8%
206 | 288 78%
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BEEAE 2022/08/05
9/6-10
= ER/ITA EF5{7B
5 TEE
@R HIT % %
R CHE)=# S 9,400 74%
14900 50%  F:11800
300 4%
300 74%
400 7a%
400
400
400
200 :11.400
400
200 F:11.400
300
R CHE 500 4
13400 63%
9500 74%
9,500 74%
9500 | 74%
300 | 55%  £:16800. F:13,500
500 4%
500 74%
500 7a%
500 | 7%
500 74%
400 | 66%
400 | 63%
500 74%
R CHE) =55 600 75%
100 74%
600 75%
000 61%  :13,100
600 75%
600 75%
600 75%
12500 | 68%  %:13,900. F:13,900
9600 75%
100 56%  %:17600. F:12,900
R CHE) =K% 800 62%  :11,000, 7K:11,000
800 64%  A:16,300. %:17.300. F:17,800
000 | 66% | A:15500, £:16,500, £:17,000
000 77
000 | 66% 7K:15,500, A:16,000, £:18,800
000 77% _ £:12,000
000 77%  +:12.000
500 | 65% 15000, 7K:16,000, :16,500
000 | 77%
000 | 64% A:16,500, £:16,500
800 50% 800, %:19,800
000 75% ;
R CHE) =R 000 7% 800, £:18,800, +:19.300
800 57% 300, 7K:18,800, :19.800 . £:20300
500 | 68% 000, £:16,000, £:16500
500 | 68% 000, %:16,000
000 | 79% 000
000 79% 000
000 | 79% 000
000 79% 000
500 | 68% 000, %:16,500, £:16,500
800 59% ;18,500 7K:17,900, :19,100, £:19.300
800 | 59% 3,500, k17,900, 719,100, F:19.300
000 77% 300
000 2%
100 | 67% 600, %:16,600. F:18.000
800 63% |A:18,300, £:18,300, F:18,800
800 63%  A:18,300. %:18,300, F:18,800
000 | 78% 000, +:12,000
000 | 674 500, %:17,800_ F:15,500
000 | 65% 500, £:19,700, F:16,500
000 78%  £:12,000
000 | 78% 000
000 | 58% ;17,500 K:17.800. A:16,000, £:18,500
500 | 64% 800, A:15,000, £:17.000
000 | 78%
300 64%  X:16,800, 7K:17.300, £:17.800
500 | 66% 216,000, 7K:16,500, £:17,000
000 | 76% 800
900 58% ;15,500 7K:16,500, 717,000, £:16,000
R (FE) -5 000 67%  £:16,800, +:16.800
000 | 67%  +:17,
000 | 78% |2:12,000. :12.000
000 | 67% A:15,500, %:15500
000 | 67%  A:16,000, £:15500
000 78% &
000 | 78% 000
000 | 67% 000, :16,000, £:15,500
000 | 67% 000, £:15,500
000 78%
000 | 67% |A:16,000, £:16000
500 66% 15,000, £:18,300, £:16,000
500 86% |X:5500, £:13500, £:11,700
18500 61% 10,000, 7K:11,600, A:17,500, F:14.700
18500 61% _ J:10,000, K:11,600, 17,500, £:14,700
11,100 | 77%  A:13,800, %:14800, +:13,700
100 | 79% A:12,800, £:14800, £:12,700
000 8%
100 81% J8700
000 | 81% 80
000 83% | +:7,500
100 | 81% 7k:8,700_ A8,700
100 83% k7,700, 7,700
000 | 8i% 47,500
700 | 74%  Jc:17,300, JK:13,800, 214,700
300 64% 7K:13,800. A:12,700, £:15,700, £:13,700
200 68% K:11,800, 10,700, £:13,700, £:11,700
700 8% ;15,200 7K:11,800, :12,700
[ RECHE) % 300 50% 128,900, %:31,400, +:31,400
300 50%
KR () =R B (7F9) % 000 65% #:11,600, £:11,500
400 55%  +:15000
400 | 61% 2:12,500, £:12,500
000 | 81%  A6,600, £:7.200
] 000 75% k8,600, £:10,200 £:8.900
500 | 76%
500 70% £:10.700
400 | 55%  %:15300 F:12,400
R (F-ERE IR (5 % 500 62%  £:13,200, +:13200
700 50% 00
700 59%
500 62% :13.400
000 | 70% 00
500 | 62% [ %:13,500, F:13,500
500 | 62%  £:13500, F:13,500
000 70%  %:11,900. F:9,600
BERBR 9100 72%  £:10400, 1:9,500
100 | 63%  £:12.700. F:12,700
100 | 69% 210700, £:10,700
100 72% _ £:10900. F:9,500
700 62%
900 | 58% JK:14.700, £:15,000, £:13400
900 58%  k:14.700, £:15,000, +:13,400
900 58% _ 7K:14400. %:14.400, F:13.400
KR (FA-BXAE [ AREFME 100 304
53 100 39%
AR (T Z HRGTTR) R 700 5i%
700 | 51%  F:12,600
600 51% [#:12,700
ESCRIES 700 | 51%  :X:12,600
700 51%  X:12,600
700 51%
AR (BT &) =] HREFTR R 800 78% | £:8300, £:12700
700 55%
ER 700 55%
400 | 69% 212,200
HRGTTR)=-HB EGES 100 75%  £:18700, 3:12,300
100 | 75% %:16,300, +:12,300
HREFTTRR 500 71%  £:10800, 1:16,300
700 51%
AR () =8IER AR (B3 R 800 50%  +:10,000
800 | 50%
800 | 50% _ :10000
800 | 50%  +:10000
EEES 800 _ 50% +:10,000
800 | 50%
800 | 50%  :10000
800 | 50%  +:10000
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BEEAE 2022/08/05 ~
9/6-10
=30 ER/ITA EEE
" = EEE
EEE ax % %
AR (B3 =250 AR (B3 R 000 61
000 61% _ :12600
ESSEES 000 61
000 61% [ F:12,800
ALIR (B35 =B HIR(EH T 900 50%
900 50%  +:9000
900 | 50%
900 50%  +:9000
900 50%  £:9.000
900 504
800 31% +:11,600
EfER 100 14%
900 0%
900 50%  £:9000
900 0%
900 50%  +:9000
900 50%  £:9.000
900 504
AR (B30 =FIR AR (B3 R ,200 50%  +:10,000
200 50%
FIRRE 200 50%  £:10,000
200
=R 000 66% | +:8750
BRFE 000 66% 8,750
KR (7 F1) =12 KR (FF) % 900
ECE 900 53%
KR (FF=HE KR (FF) % 700 63%
700 46%
700 504
800 54%  %:11000
HER 800 54%  #:11,000
700
700 | 46%  E:11,700
700 | 59% %:11,700
EE-ES EEEES 700 58%
800 58%
BER 800 58%
700 | 58%
EEEES 000 35%
400 34%
S 400 34%
000 | 35%
[T EEEES 800 46%
800 | 50%
000 49%
800 | 46%
EAIES 800 |46k
000 49%
800 |46k
800 | 50%
RR-EXRS 300 51%
XE 300 51%
BRE-EXXE BRBR 200 54%
900 | 48%
900 | 48%
400 49%
800 49%
400 | 534
900 | 55%
900 55%
BERER 900 51%
000 _47%
900 | 514
400 49%  A:15000. %:16,000
800 41%  A:17400, £:19.000
400 | 46% [ A:15900, %:15900
200 47%  X:16,300, £:17,900
300 | 57% 12,800
BRE-EZE BERBR 000 52%
500 | 44%
500 aa%
500 444
BIBR 200 39%
200 39%
200 39%
000 | 52%
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= E4 ER/ITA #£FITB
% %
501 115,100
503 15,400, B:15,100
505 :18.400, H:16.100
507 18,400, B:16,100
509 20300, H:17,200
20,300, B:17.200
117,400, H:17,200
16,600, B:17,600
16,100, H:14,300
1:14,000
1:14,000
[CuL52 14,001
|_JL525 13,000
[uL527 1:13,000
[JLs529 1:12,000
531 13,900, B:11,000
ARFHTRH 500 1:12,000
[JL502 112,000
[JLs04
[JL506
[JLs08
520
522 £:19.100, H:25,900
524 K:19,100, H:25,900
526 24000
528
530
303
[JL305
[JL307
[JL309
[JL323
[CuL325 —
[uL327 17,400
[JL329 1:20,200, B:15,000
331 :18.400
[uL33s 1:20,200, B:15,000
335 32 20,600, H:18,800
1BE% [JL300 2,000
[UL302 2,000
[JL304 14,400
[JL306 14,400
[uL308
800, B:17,700
800, H:15.400
3.16,800, B:15,000
[uLsis | 400
[CuL320 000, B:17,400
[UL322 000
[Cutsze 400
[CJLaze 400
[uL328 900, 7:20,700. H:19.400
[CJLa30 119,400
332 600, B:15,000
R CHE) =94 (%) RECAE)®E [ JLoot | 000, B:19,000
[JLo03 500, H:20,100
[JL905 500, H:20,100
[JLeo7 500, H:20,100
[JL909 000, H:20,000
300, H:15,000
800 69%
100 70%  H:12000
800 9%
[ 9600 8%
|_JL923 000 78%  H:8,800
925 900 70%  A:17,600. H 9,300
R GRER) L900 | 300 78%  H:8.800
[JLo02 100 80%
[_JL904 800 9%
[JLo06 600 77%
[JL908 300 74%
500 | 63% :19500. H:20,500
500 | 63%  7:19,500, H:20,500
500 | 63% 3:19,500. H:20,500
700 | 61%  7:20,700, H:21,700
[ 700 61%  j3:20700. H:21,700
[uL920 200 | 66%  3:18,200, H:19,200
922 500 | 69% 3:16,500, H:17,500
RIR (52F}) =048 (BRE) KR (RF) % 2081 500 56% H:15,000
2087 000 74%  3:13,200. H.9,500
PR % 2084 200 69% H:12,000
2088 500 | 56%  H:17,000
R CHE) =R &I R CHE) % L565 | 600 61%
[uLs67 600 61%
569 500 66% £:19,000, H:14,000
ESCRIES 562 600 61% X
[JLs64 600 61% 500
566 600 69% 400, 7K:15,400, B:16,000
R CHE) =)l R (FE) % 551 500 56% 2,000, 7:24,400, H:24,500
[JL553 800 55% 500, #:23,800, H:17.000
[uLs55 000 | 634 500, H:15,000
557 000 | 63% 500, H:13,000
FEES L552 | 000 69% 000
[uLs54 000 | 69% 500, H:20500
[ JL556 | 800 66% 1:20,400
558 100 75% 100 7K:11.100, H:12,000
R CHE) =3I 800 61% H:18,600
500 | 68%  B:14,000
500 | 68%  H:12,000
S 000 71% 000
000 | 67% 500, 7K:15,500, H:13,500
600 70% 100, A:15,500, B:12,000
R (FE) =%k R (FE) % 600 65% §:16,800, A:17,600, H:13,000
600 | 52% 600, H:13,500
800 52% 000
600 | 59% 918,600, JK:18,600, H:12,000
HLER 600 61%  X:17,600, 7k:17,600, H:13,000
100 62% 000
100 62% 000
700 67% 700, 7K:14,700. H:12.000
R CHE) =B R CHE) % L585 | 000 51% 700
[uLs87 000 | 56% 1,000
589 000 56% 000
B3 [JL584 000 | 594 000, B:12,000
[uLs86 000 | 51% 500, H:22,900
588 000 | 5i% 500, H:21,900
TR CRE) =W 400 67% 300, B:13200
700 | 74%  H:9600
600 74% 59500
14300 61%  H:11800
9700  74% B:9600
LS 9700 74 89500
234 9700 | 74%  H9,600
236 12000 68%  H:12,800
240 9700 | 74% 9,600
247 15600 58%  H:12400
R (FE)-LS R (FE) % L253 | ] | 9200 _ 76% H9.800
[CuL255 17,600 54% 7,800, B:13,100
[ JL257 17,600 54% :17,800, H:13,100
[JL259 9900 | 74%  H9,800
261 8000 | 79% H:7.000
[CuL263 900 66%  H:13,700
[JL265 300 60% _ H:13,500
267 900 | 74%  H:9800
EB% [ JL252 | 900 74%  H:9800
[CuL254 900 7% 800
[JL256 400 67% H:13300
[uL258 000 | 79% B
[JL260 §:14,000, H:13,300
[ JL262 | §:13.200, H:12,600
[ JL264 | 1:12,900
266 800
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ERITA F@ITB

=3c)

R CHE)=HE
HER
R CHE)=ES R CHE) %
BEER
R CAE)=BH R CHE) %
R
R CAE
R
TR CRE)=H R CHE) % 1:9.900
[ 1.16,600, H:14,800
[ 1:9,400
[CuL4s7 | 288 700 | 68% 3:12,600. H:14,700
[ _JL439 | 288 300 59% §:16,100, B:17,600
443 | 288 000 | 75%  H:9.900
EAIES [JLaso | 288 000 | 75% 59900
[[JL4s2 | 288 000 | 75%  H:9900
[ JL434 | 288 500 1% §:12,300, H:13,000
[[JL4se | 288 700 65% H:16,000
[Jrass | 288 000 | 75%  £:9900
440 | 288 500 | 58%  3:16,300. H:16,900
R CHE) =K% R CHE) % 661 286 800 62%  H:11000
[[JL663 | 288 6,300, B:16,300
[[Jiees | 288 500, B:15,500
[CJLee7 | 288 . X:15,500, H:12.000
[[Jiees | 288 5,000, 715,500, H:18,700
671 | 288 000, 7K:16,500, H:12,000
R [ JLe62 | 288 000, 7K:17,000, H:10.000
[[JLe6a | 28 000, 7K:16,000, B:15,000
[[Jiees | 288 00, :15,500, H:12,000
670 | 288 000, :16,500, H:18,000
672 288 800 59% 300, 16,800, H:19,300
674 | 288 000 | 66% 500, 7:15,500, H:18,300
TR CHE) =R WRE(HE)FE [ _JL60S 288 800 63%  j3:16,800, :X:18,300, H:11,000
[uLe07 | 288 ; 000, %:19,300, 7K:18,800. H:17.000
609 | 288 000, 16,000
611 | 288 000, B1:16,000
613 | o8 500, A:16,000, B:12.000
615 | 288 500, A:17,000, H:12,000
RIAH [ Jreoe [ 288 300, H:10,000
[CJLeos | 288 <:16,300, H:10,000
610 | o8 600, 7K:15,000, B:17,600
612 | 288 $:19,700, 7K:17,900, H:20,500
614 288 ),700, 7K:17,900, H:20,500
616 | 288 000, B:18,300
R CHE) =& WRCAE)SE [ Jle23 | 288 300, £:8,000
[[JL625 | 288 300
[ JL627 | 288 7,300, :18,300, H:17.800
[[JL629 | 288 17,300, :18,300, B:17.800
631 | o8l 500, :16,500, 5:10000
633 | 288 800, :16,500, H:18,300
637 | o8 800, A:17,500, 5:19.300
639 | 288 800, :18,300, H:12.000
AR [uLe22 | 288 000, :15,000, F:10,000
[[JL62a | 288 000, :16,800
[Jie26 | 288 000, A:15,800
[CJL62s | 288 500, :15,500, H:12,000
[ JL630 | 288 :17.300, #:16.300, H:18300
632 | 288 500, :15,500, H:18,300
[Jieas | 288 500, :18,000, 5:20800
638 | 288 15,500, A:17.000, B:18,500
R CHE)=E4 WRCAE) S [ _JLesT 288
[CJLess | 288
691 | o8l 500 | 66% | X:15000, K:16300, H10,000
[[JL693 | 288 000 | 67%  5:16000. A:15500. B:16,500
[CJieos | 288 5,000, B:16,500
697 | 288 6,500, B:12,000
ELE] [JLess | 288 110,000
[[JL6g0 | 288 5,000
[JL692 288
[CJL6oa | 288 2,000
[Jieo6 | 288 16,000, 18,800
698 | 288 5,500, B:18,300
RECHE)-ERE R CHE) % 288 3,100, B:7.600
288 17,100, H:12,600
288 17,100, H:12,600
288 3,700, 7K:13,800, B:12,700
288 :12.700, 7K:12,800, B:11,700
[ 288 1,700, 7K:11,800, H:9.000
[Jiess | 288 11,800, 7:10,600, H:12,700
655 | 288 1,800, 7K:10,600, H:9.000
BRBR 288
288 1,700
288 110,700
288 000
[JLea: 288 14,700, K:13.800, 14,600
[[JL6s0 | 288 4,700, 7K:13,800, 14,600
[[Jies2 | 288 12,700, 7K:11,800, A:12,600
654 | 288 2,700, 7K:11,800, #:12,600
RRVE)-BXAS [ EEHE)% 659 288 28,900
658 | 28H 8,900
KR (=R KR (FF) % 7 288
288
288
288
RIAH 288
288
288
288
R(F-ERE KR (FF) % 288
288
288
288
288
288
288
288
BRBR 288
288
288
288 ;
288 700 62% 200
288 700 56% | X:13,900. A:13,900, H:15700
288 700 56%  X:13,000, #:13,900, H:15700
414 [ 288 400 56% 13,900, A:13,900
KR(FH-BXAE [ _AREFMHE 465 | 28H 100 304
EESN-ES 464 | 288 100 39%
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=3c) (23 - BEH
EEE  aix % %
AR (TR =% @5l HREFTRR 28E B 700 51%
288 700
288 600 H:12,700, H:12,700
ES S 288 700 12,600, K:12,600
288 600 7k:12,700, &:12,700
288 700
ARFTFR) =/ AR (FTR R | JL2803 288 500 56%
[[JL2805 | 28 500 56%
2809 | 28H 500 | 56%
BRE [JL2s04 | 288 200 54%  J:11,700. K:11,700, H:9,000
|_JL2806 288 000 54% 11,500, 7K:11,500
2810 | 28 500 | 56%
AR (BT &) =B AR FHTFR) R 2821 288 600 59%  §:12,700, H:6800
2827 | 288 600 | 55%  j3:13,700. B:13,700
PEES [JL2822 288 600 55% J§:13700, H:13.700
2828 | 28 100 60%
AR GFTTR) =3B EGES 287 288 000 48%
287 288 300 | 55%
HREFTRR 287. 288 600 54%
288 700 51%
AR (E3) =3I AR (B3 R 288 800 50%
288 800
288 800 | 50%
288 800 | 50%  H:10000
EIEES 288 800 50% j3:11,600, H:10.000
288 800 | 50%  5:11,600, H:11600
285 800 | 50%  F:11,600, H:10000
288 800 | 50%  5:11600. H:10000
AR (B3 =25 AR (B3R 288 800 50%  H:10,000
288 600 51% | 7:12,800. B:10,000
ESEE] 286 600 | 51% 7k:12,800, 12,800, H:10,000
288 800 | 50% _ H:10000
ALIR (35 =B HIR(EH % 288 900 50%
288 900 504
288 900 | 50%
288 900 504
288 900 | 50%
288 900 504
288 800 31%
S 288 100 14% F:11,600, H:11,600
288 900 | 50%
288 900 504 H:9000
288 900 | 50%
288 900 504 H:9000
285 900 504 58000
288 900 504  H:9000
AR (B3 =FIR AR (B3 R 2881 288 ,200 50% H:10,000
2885 | 28 200 50%
FIR3E 2880 | 288 200 50%  H9,000
2884 | 28H 200 50%
B ERR) 2801 | 288 100 54% |H8750
RRFE 2890 | 288 100 54% | H:8.750
KR () =126 KBR (FF) % 2331 288
2337 | 288
KR (FF)=HE KR (FF) % 2341 288
2347 | 288
2355 | 288
2357 | 288
HER 2342 288
2346 | 288
[L23s6 | 288
2356 | 28
BE-ES 3563 | 288
3567 | 28
3564 | 288
3568 | 28
[uL3sei | 288
3587 | 28
3582 | 288
588 | 288
[T [ 286
[ 288
| J 288
288
ENTTES [y 288
[ 288
| J 288
288
BEE-EE EEEES [ 286 H:7.000
[ 288 0
|J 288
[ 288
|J 288
288
288
ELES [ 288
[ 288 17
[ 288 600 69% /3:7.000, H:7.000
| J 288 000 1%
[ 288 000 | 71% _K:7,600, 77,600, H5600
288 800 69% 7,000, :X:7,000
288 000 | 71% k:7,700, :7.700. H:7,600
RR-EXRSE 288 300 51%
xE 288 300 51%
BRE-EXXE BRBR 286 900 51%  H:13200
[ 288 900 | 48%
[ 288 900 | 48% 7115400
[ 288 200 47%  3:15800. B:14.400
| J 288 800 49% 15,200, B:16,800
[ 288 600 49%
[J 288 400 | 53% | 75:13,900, H:13900
288 900 | 55% 313,400, H:13.400
288 900 | 55%  H:13400
BEABR [ 288 900 51%
| J 288 800 45% 15,200, H:14,400
[ 288 900 | 51%
[J 288 200 47%  A:15800, H:14.400
[ 288 800 41%  A:17400
[ 288 400 |46% A:15900
288 400 39%
[JL3734 [ 288 200 47% _ :16,300
288 300 | 57%
BRE=EZE BERBR 286 800 49%  H:16000
288 500 | a4%
[J 288 500 aa%
288 500 444
BIBR [ 286 200 39%
[ 288 200 39%
288 200 3

9%
800 | 49% | E:16,000
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9/26-30
=R E4 ER/ITA #H7B
EEA % %
=ALIR () 501 400 Al
503 400 K:15.400, %:18,700
505 500 | 58% 500, £:19,900
507 500 | 58%  A:18,500, :19,900
509 300 | 53%  £:20,300, £:22,400
300 | 53%  £:20,300, £:22,400
400 | 60% 400, £:21,400
600 | 62%  A:16,600, :19,400
100 | 63%  :16,100, £:18,800
100 63%  4:18,800
400 | 634 600
[CJL52 400 | 63%  £:19,600
[uL525 400 | 63%  £:19000
[uL527 400 | 63%  £:19,000
[CJLs29 900 | 66% 000 6,500
531 000 | 68% 900, %:17.000 fil X %:12,000, %:16,500
R FHFRHE [ IL500 000 61% 000
[JL502 600 | 60%  4:17,700
[CJL504 000 6i% 7,000
[JL506 700 | 62%  :16,500. &:18.400
[CJL508 700 | 62%  7:17,000, £:18,400
700 | 62%  3:17,000, %:18.400
400 | 60% 400, £:20,000
700 | 55%  3:19.900. £:21,500
100 54%  F5:20400, £:22,500
100 54% 400, %:22,500 1.300
520 100 54% 720,000, £:23000 1300
522 100 56%  3:19,900, :19,100, £:23,000 :17.200, £:21,300
524 100 564 /3:19,900, A:19,100, £:23.000 117,200, £:21,300
526 500 | 62% J3:19,000, :16,500, £:22.200 5,200, %:21,300
528 600 | 67% 900, £:20000 18,300
530 700 | 69% 313,000, :19,000 7.300
303 400 70% £:15,700 400, £:14.700
[JL305 300 68%  A:15300. %:17,600 6,600
[_JL307 500 55% K:22,400, £:23 400 1,000
[JL309 500 | 48%  A:24.000, £:24,500
500 48% K:24,000, £:24,500
700 | 56%  A:21.700, £:24.100 800, %:18.200
700 59% K:20,700, £:22,900 800, £:18.200
200 62%  A:18.100, £:21,400
200 62% ::20,000
[ 200 62%  £:20000
[_JL323 200 60% §:17,500, 7:18,600, £:20,400
[JL32s 600 | 59%  3:17,500, £:20,400 400, :16.,500, %:17,500
[_JL327 100 56% ::2 500, 7:17.400, £:21,300
[JL329 100 56% _ A:20,600. %:24,000 200, %:19.100
331 100 56% K:20,600, £:24,000 900, 7K:14,900, %:19.100
[JL33s 600 54% 200, %:24,500 400, $:23500
335 800 57% :20,600, £:23,500
wERE [uL300 900 | 60%  3:18,900, %:18,800
[ JL302 900 58% §:19,900, £:19,800
[uL304 000 54% 521,100
|_JL306 800 52% §:21,500, £:22,000, £:22,100
[uL308 100 53%  £:22,100
200 62% %1
200 62% 316,800, %:18.400
200 62% 6,800, £:19.400
600 61%  3:16,800. A:17.700, %:19,400
[ 800 58%  /5:18,600, %:20400
[CuL320 400 57%  3:19.000, £:22,400 900, %:17,500
[ JL322 000 58% §:18,800, £:22,400 000, £:21,400
[CuL324 000 | 58% | 55:18,800, £:22.400 800, $:21400
[_JL326 000 58% §:18,800, £:22,400 800, £:21,400
[CJL328 400 55%  A:21.400, £:23,900 000
|_JL330 100 56% £:23,900 200, 7:19,000, £:22,900
332 500 64% 600 600, %:15.700
TR (9@ =68 (RE) RE(FEE [ JL901 000 64% +19,000, £:19,000 900, %:18,900
[JLe03 500 | 61% 320500, £:20,500 400, %:20400
[JLo0s 500 | 61% F:20500, £:20,500 400, 520,400
[uLe07 500 | 61%  3:20500, £:20,500 400, 20,400
[JLo0g 000 624 000, £:20,000 900, $:19,.900
300 | 66%  j3:18,300, :18,300 200, %:18.200
800 69% 89%
100 70% 76% _ A:15000. £:15000
800 9% 79%
9600 8% 81%
[_JL923 000 8% 84% 28,800 10,900, £:10,900
925 900 70%  A:17600. £:20,700 82%  :16,800, £:19.200
FMAGRE)E [ JL900 300 78% 83% 211,200, £:11,200
[JLo02 100 80% 80%
[_JL904 800 9% 79%
[JLo06 600 77% 45BR | 11500 | 77% J:10500. K:10500
[JLeos 300 T4 458 ] 13,100 74%
500 | 63% 520500 ] 0.
500 | 63% 5:20,500
500 | 63% 3:20,500
700 | 61% 5:21.700
[ 700 61% 5:21.700 X
[CJLez0 200 | 66% F:19.200 45 13000 | 74% 9,100, A:17.100, £:17.100
922 500 | 69% 3:17,500 458 | 12000 76% |H:17400, A:15400. %:15,400
KR (FFD=AR(FFR)| KREFHE [ L2001 500 58%  £:23,300 458 8] 20,000 61%  £:21,500
[JL2007 500 | 64%  £:20300 A5BR] | 14500 | 72% A:17.000. %:18500
|_JL2005 500 64%  £:20300 458§ 17,000 67% £:18500
[JL2009 600 73% A5B8] 13000 | 75% |
2019 500 74%  A:14,600, £:14,600 45E B 10,000 80% _ A:14,000, £:14,000
AL (BT % [ L2000 900 81%  A:14.600, #:14.600 =k 00, :14.000, #:14.000
|_JL2006 800 1% 0
[JL2008 300 70% 700, %:14.700
[ JL2010 300 56%  £:20200 00
2016 | 700 | 55%  £:20,200 —
RER (52F%) =048 (BREA) KR (FFH% | JL2081 500 56% 18,400
2087 | 200 69% 12,100
A GIRER) & [ JL2084 200 69% 13,000
2088 500 | 56% 118400
£ =K@ RECHE) % [ JL565 | 600 61%  £:22,100 :14,000, £:20,400
[JLs67 600 | 61%  £22.100 5,000, :20,400
569 500 66% A:19,000, £:20,600 18,900
ESPIES [JLs62 600 61%  $:20.100 :18.400
[JLs64 600 | 61% %2010 118,400
566 600 | 69% _ :15400, JK:15400, £:19.400 116,700
TR CRE) =)l TR CHE) % 551 500 56%  J3:20,000, A:24.400, £:24,800 122,100, £:22.900
[JL553 800 55%  3:22,300. A:23,800, £:24,000 3200
[JLs55 000 | 63% | 55:20,000, £:21,000 7,000
557 000 | 63%  55:20000. £:21000 000
FENIES) [uLs52 | 000 69% 17, 413,
[uLs54 500 | 68%  4:17,500 +12,000, :11,800, %:15,000
|_JL556 800 66% £:18,800 12,400, 7K:12,400, £:16.400
558 600 | 76% 712,100 %:17,300 :10,100, %:14.000
R CHE) =3 R CHE) % 800 61%
500 | 68% :16400. &:18.400 5,700
500 | 68%  A:16.400, £:18.400 700
FIEEE 000 69% 3,600
000 | 69% A:15500, £:15500 100
100 1% A:15,000, £:15,500 100
EIEEEETN 800 7! 5:15,800, %:16,600, £:16,600 600, £:14,600
600 4% :22,600, £:22,600 600
800 4 600
600 1 7,600, JK:17,600 5,600
HLER 600 59% 600, 7K:18,600 600
100 60% 0,100 5,600
100 60% 100 600
700 67% 700, 7K:14,700. £:18,600 700, %:15,600
R CHE) =B 585 000 51% 700
[uLs87 000 | 56% 800, %:18,600 700
589 000 56% 16,800, £:18,600 700
B [JL584 000 | 594 500, %:18,000 5,000
[JLs86 000 | 5i% 200, £:21,300 700
588 000 | 51% 200, %:21,600 700
R CHE) =R R R CHE) % 800 39% 900, £:24,100 900, %:22,100
900 444 1,300 600, %:19.300
300 6% 800 400
100 63% 600
600 42% 14.200
800 | 394 400, :24,100 15,600, :22.100
TR CRE) =W 400 7 2,300, £:13,000
700 800, £:9,800 700, 2:9.700
600 2 9,700, £:9,700 600, 9,600
14,300 1 X
9.700 4% 70,800, £:9,800 700, #0700
G0 9,700 2L 800, £:9.800 00.
[CuL234 9,700 % 800, £:9,800
236 12000 68% 2,800 2.200
240 9700 | 74% 9,800, £:0800 K:0.700, £:9,700
242 15600 | 58% 4588 | 15300 | 59%
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X ER/ITA — #HH7B
E3
"% FILES il
WRCAR)=EE 76%
75%
75% |
000, %:10,000 900, £:9.900
100, £:8100 000, $:8,000
714,300 2,500
4,900
000, %:10,000 :9.900, %:9,900
(353 000, £:10,000 29,000, %:9,900
000, %:10,000 £:9,900, %:9.900
513,400
8,100, 8,100 79% 78,000, %:8,000
§:14,000, £:14,300 75%
113,200, :13,700 75%
6,100 75%
75%
R CHE)=HE 70% :10.900, £:10,900
484
[CJr283 288 11,000, £:11,000 45H ] 10,800 70% 210,900, %:10.900
[[JL2ss | 288 800 F:14500, £:14500 B[ 12900 | 64%  H:13.500, £:13500
287 | 288 900 11,000, :11,000 10800 | 70% 10900, £:10.900
HER 276 | 288 600 £:15,000, A:15.100. £:15.100 A5ER | 11700 | 67%
[JL278 288 900 11,000, £:11,000 45E|‘-‘ 10,800 70% :10,900, %:10.900
[CJL2s0 | 288 900 11,000, :11,000 BE | 10800 70% |:10,900, :10.900
|_JL284 288 800 £:20,100 45Elﬂ 18,800 47%  2:19.30(
286 | 288 900 69% 000, %:11,000 10800 | 70% [A:10900. £:10.900
R CHE)=#S WRCAE) S [ JLas3 [ 288 500 74%  £:9,600, £:9,600 w_aﬂy_a,unmssun £:9.500
[[JL4ss | 288 14900 59% 11600 68%
[CJrase | 288 9400 | 74% 9,500, %9500 EI i 9300 | 74% |A0400, £9400
[[JLdei | 288 9400 | 74%  £.9,500, £:9500 9300 | 74% |A:0.400, 9400
[ JL463 288 000 62% ::14,900 Al 9.400 74% 11,600, #:11,600
465 | 288 500 600, %9600 B 9400 74% [A:9,500, %9500
B [Coiasz | 288 500 9,600, £:9,600 i 9400 74% |A.0,500, £9,500
[[JL4sa | 288 500 600, £:9,600 9400 | 74% A:9.500, $:9,500
[ JL456 288 200 11,600 8%
[CJL460 | 288 500 9,600, £:9.600 9400 | 74% A9,500, %9500
[ JL462 288 200 11,600 68%
4 | 288 400 9300 | 74% [F:0400, %9400
R CHE) =B R CAE) % 5 286 600 9500 74% :9.600, £:9.600
7 | 288 13,400 11700 | 68%
F EE] 9600 | 74% 79,700, £:0,700 9500 | 74% 600, 29,600
[[JLsi | 288 9600 74% 9,700, £:9.700
[ _JL483 288 13,200 64% _
[[JL4ss | 288 16,300 55%  £:16,800
487 | o8l 9600 | 74% 49,700, £9700 600, 29,600
73 474 288 9,600 74% 700, £:9.700
9600 | 74% 9,700, £:9,700 9,600, £:9,600
400 63% 3.200 :10400, %:10300
600 | 74% %0700, £9,700 9,600, £:9,600
400 | 66%
400 63% _
600 | 74% 9700, £9,700 600, %9600
R CAE 700 75% ) soo £:9.800 700, £:9,700
000 66% %:14 2,000, %:13.500
700 | 75% A9 soo #9800 700, £:9.700
— 4300
0,800, £:9,800 700, #0700
0,800, %:9,800
800, £:9,800 700, 9,700
3,900 3,000
0,800, 29,800 700, #0700
498 . 7,600 6.500
EECEE R CAE) 5 431 | o8HE] | 10,000 | 75% 10,100, 210,100 0,000, #:10,000
[[JL4ss | 288 16700 58%  3:16,600, £:18.200 5,600, %:16.200
[Jrass | 288 500 | 76% 49,600, %9600 500, 9500
[CuL4s7 | 288 700 68%  3:12,600, £:14,500 1,400, %:11.200
[ JL439 288 300 59% 1:16,100, £:17.400
443 | 288 000 | 75% [A:10,100, %:10,100
EAIES [JLaso | 288 000 | 75% | A:10,100, £:10,100
[[JL4s2 | 288 000 | 75% A:10,100, %:10,100
|_JL434 288 500 1% 300, £:12,000
[[uL4se | 288 700 65% 00
[uLass | 288 000 | 75% 100, £:10,100
440 | 288 500 58% 300, %:17.000
R CAE) =K% TR CHE) % 661 288 800 62% 300, #:18,800, £:18.800
[[JLe63 | 288 800 64%  f3:17,300. A:18.300, %:19.300 7.300, %:18.300
[Jiees | 28 000 | 66% | :16,500, A:17,500, £:18,500 17300, %:18,300
[CJLee7 | 288 000 | 59% | H:16,500, J:15,500. 7K:15,000, 17,000 7.800
[JLees | 28H 000 | 66% 500, :18,000, £:19.900 +16,800_ %:18,600
671 | 288 000 | 64% 500, :19,000, %:21.100 19,100
i3 [JLee2 | 28H 500 | 56% /:16,500, 416,000, K:17,000, A:18500 5,100, %:17.400
[[JLe6a | 288 500 | 58% J3:15500, K:15,000, K:16,000, A:17.500 4,800, K:15,800, 7:16,100
668 | 288 000 | 66% 500, A:17,400, £:17,500 7.300
670 | 288 000 | 64%  5:17,500, A:18.200, :18,500 7,000, %:17.700
672 288 000 52% §:18,300, 16,800, 7K:17,800, #:19,300 15,800, 7K:16.800, 718,200
674 | 288 700 53% | 7:16,000. %:15,000, 7K:15,500, A:17,500 18,700
R CHE) =R WE(HE)®E [ _JL60S 288 800 63% 18,300, A:18,300, £:19,100 16,700
[CuLe07 | 288 300 | 56% 3:19,000, :19.300, 7K:18,800. A:20500 8,300, K:17,800, :19.200
609 | 288 000 | 62% 000, 15,000, 715,500, A:17,500 +14.800, 7K:15,300, £:17.300
611 | 288 000 | 62% | F:17,000, %:15000. 7K:15500, 17,500 4,800, K:15.300, A:17.300
613 | 288 000 | 69% 500, 7:18,000, £:18,500
615 | 288 000 | 67% 500, :19,000. £:20500
RIA5E [uLeos | 288 500 | 66% 000, 7:18,500, £:19,500
[CJLe0s | 288 500 | 68% J3:17,000, :17,500, £:18,500
610 288 500 61% X:15,500. 15,800. 17,500 . 5300 7EMEDD A:16,900
612 | 288 900 | 58%  f3:19,700, :18,600, K:18,100, :19.200
614 288 900 58% §:19,700, 18,600, 7K:18,100, %:19,200 a BQDD
616 | 288 000 | 65% | X:16,000. 7K:15000, £:21,300 0300
R (FE)=REAX RE(FE)E [ JLe23 | 288 100 73% 2,600, 7:14,600, £:16,300 411,800
[[JL625 | 288 100 67% J3:15600, A:17,600, £:19.300 :13.400, 14800
[[Jte27 | 288 800 634 F5:17.300, 7:19,300, £:20,000 17,800, %:18,400
[[JL629 | 28 800 63% 300, :19,100, £:19.800 6,800, %:17,400
631 | 288 000 | 67% 500, :18,300, £:18,500 17,400
633 | 288 000 | 67%  5:16,000. A:18,300, £:19,000 6,600, %:17,400
637 | 288 000 | 65% 5:17,000, :19,200, £:19.800 16,600, %:17.400
639 | 288 800 63% 7,000, :19,400, £:21,000 19.300
A% [JLe22 | 288 500 | 66% 5500, 17,000, £:17500 7.300
[[JL62a | 288 000 | 60% 500, 7K:17,000, %:21,000 7.300, 7K:16.800, A:16,900
[JL626 | 288 000 624 500, 7K:16,000, £:19.000 +16.300, 7K:15,800, A:16,800
[[JL62s | 28 400 | 594 000, J:16,000, 7K:16,500, A:17.500 6,800
|_JLE30 288 800 56% 800, 16,800, 7K:17,300, #:18,300 15,800, 7K:16.300, #:17,300
632 | 288 000 | 58% 000, #:16,000, 7K:16,500, A:17.500 . X:15.800, 7K:16.300 A:17,300
[JLe3a | 2eH 400 | 53% 000, 16,500, 7K:17,500, :18,700 119,700
638 | 288 200 58% 000, :15,500, 7K:16,500, A:17.700 5400 %:16,700
R CHE) =28 RRE(HE) % [ JLes7 | 28H 000 67% 000, £:17,800 £:16,800
[CJLess | 288 000 | 67% 000, %:17,000 6,800
691 | o8 500 | 61% | F:16800, X:15,000, K.15500, A:16,500 117300
[[JL693 | 288 500 | 64% 000, 7K:15,000, %:17,500 5900, & 15 500
[JL6os | 28 000 | 67%  5:15500, A:16,800, £:17,500
697 | 288 500 66% 000, :17,000, %:17,500
ELE] [Jiess | 288 000 | 654 500, :16,800, £:17.000
[[JL6g0 | 288 500 4 300, :15,000. 7K:15.700. 16,000
[CJLeo2 | 28 000 7% 300, A:16,000, £:16,500
[[JL6oa | 28 000 7 500, :16,300, ﬁnaao
[Jieos | 288 000 7% 000, A:16,700, %17, 116,100, %:17,600
698 | 288 800 1 16,000, 15,000, 7K:15; 5ao 16,500 4,800, 7K:14,400 &
RECHE)-ERE R CHE) % 288 400 8% 000, :9,600. 00, 7K:5,500, 77,600, £:8.800
288 000 | 67% 600, 7K:13,500, : 14‘400‘ 15400 +13,500, X:10,700. 7K:10.100, A:11,600
286 000 | 67% 600, 7K:13,500, A:14.400, £:15.400 3,500, J:10.700, 7K:10,100, A:11,600.
288 600 | 74%  3:18,500, J:14,600, £:13,600 2,600, 7K:10,500, 10,400, %:11,500
286 600 72% 500 K:11.600. 7:11.600 1,600, 7K:9.500, £:9.400, 11,500
[ 288 600 78%  j3:18,300, K:12,600, £:11,600 000, %:8,600. £:9,600
[JLess | 288 600 | 78% F:17.000, X9,000, £:13400 4700, £:10.600
655 | 288 600 78%  3:17,000, 9,000, %:13.400 000, xssoo %:10,600
BERSR 288 000 83% 9600 7,500, JK:7.50(
288 600 78% j3:17.000. £:12,600 4600, %:10, 700
286 600 80% 000, £:11,600 3,600, £:9,700
288 600 80%  F:16,000, £:12,600 00, :7.500, %:10.700
[JLea 288 000 | 60% 400, 7K:12,600, 7:14,600, £:16.400
[CJLes0 | 288 000 | 60% | X:15400, 7K:12,600. A:14,600, &:17,400
[CJies2 | 288 000 | 65%  X:13,400, 7K:10,600, A:12,600, £:15.400
4 | 288 000 | 65% | X:13400. 7K:10,600. A:12,600, &:14.400 N
TR (=R TR () 5 286 400 | 55%  J:14700, K14 700, £:15,000 800, $:12,800
288 400 55% N . #15, ¥
288 400 61% 12,300 61% £:12.400
288 200 55% 6000 | 81% 99,800, 13,000, &:13,000
RIGH 288 200 55% 13,000 59% 9,800, X:8,600, 7K:8,000
288 600 67% 7400 | 77% K590, A:10,500, %:10,600
[ 288 800 60% 5 9.400 70% .7.900. :12,500, £:12,600
s | 288 400 55% ) 45B8] | 12800 | 60%
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G TE ERITA — EXCLIPE]
R e % aug ST W
R (7% 700 63% 45HF 10,600 63%
700 63% A5 8] 10,600
900 55% £:13900 ——- -
700 63% _ £:14600 10600 | 63%  %:12500
900 62% [%:14,400 5 8600 70% 7K9.100, A:10,800, £:12,700
A% 900 62% A58 10800 | 63%  7:8.600, 49,100, 7K:7.200
700 63% 258 8] 10600 63%
400 57%  %:13200 = — —
700 63% 10600 63%
700 | 63%  %:14,600 10600 | 63%  %:12500
R(FH-ERS IR () % 500 62% _ £:13,200 £:12,700
700 59% ]
700 59% ]
500 62% x 00
500 | 62% 9 g 12900
500 62% 458 x P 00
500 62% Heli
600 | 59% Y % 12,800, 13400
BERER 300 63% 7,800, A:11,700, £:12,100
100 63%  £:12,700 500, :12.300
100 | 69% 210700 500, £:10.300
300 63% [ £:12,700 7K:7.800, A:11,700. %:12,300
700 62%
900 | 58% _ J5:14.700, X:14.200, £:15.200 13,800, 413,300, 14,700
900 58% 14,700, X:14,200, %:15,200 +13.800, X:13,300, %:14.700
400 | 564  J¢:14,200, K:13,900, A:13,900 X:13.300, K:13.100, A:13.100
KR (FA-BEAE [ AREFMHE 100 304
100 39%
AR (T Z HRGTTR) R 700 51% 12600 | 5i%
700 | 51% 12,300 12200 | 53%  %:11800
700 51%  K:12,600, 12,600 45E 8] 12000 | 53% 12100 K12.100
ES e 700 | 51%  7:12,600. %:12,600 Eil 12100 53% [K:12.200, A:12,600. %:12,600
600 51% [K:12.700, K:12,300, 12,700 12100 | 53% 2,200, :11,800, £:12,600
700 | 51% A58 12600 | 51%
HEFTR)-HHR WRFHTRH 500 56%  2:11,700 45EE] 8,600 67%  £:8.800
500 56% A58 X i
500 | 56% 4588 75% _7K:5.400, 8,600, 8,600
BERRE 700 56% 312,200, %:12.200 X % k5,400, A:8.800, $:9.400
500 | 56% 3:12,000, £:12,000 200, :9.200
500 | 56% 458
AR BT &) =B HREFTRR 700 | 58% 12,600 :7.400, 7:9.700, £:9.700
700 55%  3:13,600
PEES 700 55% _ B:13,600
200 | 60% :12,100 7K:5,600, :9.200, %9200
R FTR) B weR 000 48%  K:10500, £:18.700 :8,200, :10.400, £:11,300
300 55%  A:10500 A5 8] 8700 | 76% | /9:8.200, A:10,400, %:11,300
WRFHTRF 600 54% 45E 8] 9,800 73% 7,900, :11,900, £:11,900
700 51% A5 8] 11.300 | 69%
AR (E3)=8IER AR (B3 R 800 50% 458 11,700 51%
800 | 50% A5 8] 11,700 51%
800 | 50% 45ER] | 11,700 | 51%
800 | 50% A5 8] 11,700 51%
EEES 800 50%  B:11,600 45HF 11,700 51%  F:11,000
800 | 50%  7:11600 11,700 A:11.000
800 | 50% 11,600 11,700 -11.000
800 | 50%  7:11600 11,700 £:11.000
AR (ER) =XaA AW(ER % 800 | 50% 9,500 9,000, F:12.700, £:12,700
800 | 50%  X:12600. 7K:12,600 A58 9,500 % A:12.200, %:12.200
ESSETES 600 51% 7K:12,800, A:12,300, £:12,800 45HB] 9,500 63% 11,800, %:12.700
800 | 50% A5 R 9500 | 63% |A:12.700, $:12.700
ALIR (B35 =B AR (B3 900 50% 45EF] | 9800 51%
900 504
900 | 50%
900 504
900 | 50%
900 504
800 31%
EiER 100 14%  F:11600 F:11.000
900 | 50%
900 504
900 | 50%
900 504
900 | 50%
900 50
AR (B3 =FIR AR (B3 R 200 50% 11,200
200 | 50%  A:11.200
FRE 200 50% 11,200
200 | 50%  A:11,200
KR (751 =18 KBR (R F) % 900 53%
5 % 900 68%
KR (G-t E Kl (7 5 300 61% /8,700, A:9,700, £:9,700 62% | 79:8.600, 29,50
700 | 46%
200 57% 79,700, A:10,700, £:10,700 9,600, £:10,600
200 57% 1400, %:11,600 00, 7:10.100, §:10,700
HER 200 57% 1,400, £:11,600 600, £:10.100, £:10.700
200 57% 79,700, 10,700, 10,700 600, %:10,600
700 | 46% 1,700 1,600
200 53% 9,700, 11,700, £:12,700 600, 7:11,600, %:12,600
EE-ES EEEES 700 | 58%
500 56% 7K:10.800, :12,500, %:12,500
BER 500 56% 12,500, £:12,500
700 | 58%
EEEES 000 | 35%
400 | 30% 7K:14.300, A:17.700, %:17.700
EEES 400 30% 45HB] 16,800 43%  A:17.700, £:17.700
000 | 35% A58 17700 | 39% %:18.900
[T EEEES 800 46% 458 300 | 48%
800 | 50% 12500 | 51%
700 46% 900 54% 10800, A:12,500, £:12,500
800 | 46% 300 48%
P 800 |46k 300 | 48% [A:13700
700 46% 900 | 54%  A:12.500, %:12,500
800 |46k 300 __48%
800 | 50% 500 | 51% _ %:12.600
REE-EE S 600 69% _ 7K:7,100, %:7,000 6,900 72% :6.400, %:6,300
700 | 68%
700 68% k4,500, 7,000, 7,000
000 71% 600 900
000 71% 600 6,900
000 71% 700 000
000 718 700 000, 76,300, £:7,000
B 600 69%  $:7.700 5.900, $:7.100
600 69% £:7,700 100
600 69%  %:7.700 7100
000 71% 700 100
000 | 71% _K:7,600, 7,600, %:7,700 6,900 %:7,000
000 71% k7,600, :7,600, £:7.700 900, 6,900, %:7,000
700 68% F:7.000. 7,000 300, X:6.300
wE-EXXS [ EEE 300 | 51%
BEXGR 300 51%
BERB-BEXE BERER 900 51% 10,800, Z:13,100, £:13,100
900 | 48%
900 | 48% 7115400
200 47%  5:15800 14,000, 13,400, 7K:12.900
600 9% 15,200 114,700
600 49%
400 | 534 7:13900
900 | 55% j3:13.400
900 | 55%
BERGR 900 51% 1400
800 5% 200, £:16,800 400 53% K:12.900. A:14.100, £:14.700
900 | 51% 400 900 | 55% | £:13.900
200 7% 800, %:16,800 400 53% A:14.700, %:15.900
800 41% _ A:17.400. :19,000 300 % 7K:15.900. :16.400.
400 |46k 900, £:15,900 900 14,900, :15,400.
400 39% X 400
200 __a1% 300 %:17.900 14100 | 51% A:15300, %:15900
300 | 57% | :12,800 11400 | 60% %:12.300
BRE=EZE BRBR 800 49% 15,000, 7:16.300, £:16.300
500 | a4%
500 aa%
500 444
BIBR 200 39%
200 39%
200 39%
800 | 49% 45E 1
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% %
V=ALIR (TR [uLsor | ] §:15,100, A:15800, +:17800, B:15600 | £15,300, £:16,500, H:15,300
[JL503 800 62% | 5:15,100. F:20,700, B:15,600 6.500
[CJLs505 000 564 6,500, £:24,100, H:16900 17,900, 20500, H:16,800
[uLs07 000 | 564  H:16,500, A:19.000. F:24.100, H:17,300 18,400, +:20500, H:16,900
[JL509 900 49% | :18,800, 21,900, £:26,000, H:17,700 120,900, F:23,000. EI 17,500
900 49% | j3:18,800. A:21.700, F:26,000, B:17.700 osoo + 23 ooo 17,500
600 57% 7,100, :18,000, £:22,900, H:17,700 2: +17,600
900 59%  f3:16,000. F:18.400, B:18.300 ssoo\ + 1&300\ E.ws,zoo
400 | 60% | +:17,800, H:18,300 :18.200
300 60% _ A:16400. F:17,800. H:18.300 7,600, B:18.200
700 60%  A:17.600, F:17,500, H:18,300 18.200
[CJL52 700 60% 8.200
[CuL525 500 58% 16,400 H:18,200
[uL527 800 | 504 15,700, H:18,700
[JL529 800 | 624 5 +14,400, H:18,600
531 900 | 66% _ A:14,800, +:13,100, H:16.800 :12.500, H:16,600
R FHFRHE [ IL500 800 57% 800, H:16,900 000
[uL502 400 55% 16500
[CJL504 800 54% 17.200
[JL506 300 56% 17.200
[CJL508 900 59% 8.400
400 60% 9,600
200 56% 1.300
200 53% 4,400
200 53% H.26.400 4,800
[ 600 | 52%  + 4,900
[CuL520 800 54% 400, +:17,400. 524,500 8,000, F:16,900, H:23.900
[uL522 800 54% 400, £:17,400, H:24500 3,000, 7K:18.200, :16.900. H:23,900
[CuL524 800 54%  /3:19.200, +:17,300, H:24,500 18,200, +:16.900, H:23,900
[JL526 400 58%  3:16000. F:17.200. H:22,000 15,800, H:21,300
[uL528 500 | 67% 119,700
530 600 69% :18,700
=2EA] TR CHE) % 565 900 59% £:22,000 :20.400
[uLs67 900 50% N . +:22.000 02400 H:19.300
569 600 61% 400, 521,600 8400
ES e 562 400 60% 319,800, B:21,400 8,800 F1:19,900
[JL564 400 | 60% | F:19.800, H:21400 +18,800, H:19.900
566 800 | 67% | 5:16900. F:17.200. H:19,900 :18.300
R CRE) =Rl TR CAE) % 551 500 60%  :19,800, 1:20900, H:19.900 +18,000, +:19.300, H:18,000
[JL553 800 59%  A:20800. F:21,000, H:20,300 0300, 1 so
[CuLs55 500 | 64% 18500 114300, B
557 500 66% 3300 B: 15900
TEIE 552 500 68% 300, H:16,700 H:138
[uL554 200 69% 800, H:20400 4500\ §:18.800
[JL556 100 69% +:15900, H:19.000 17,500
558 600 | 72% 500, H:19.000 7.500
R CHE) =3I TR CHE) % 700 59% 600, +:20,900, B:19,500 6,400, +:18,000, H:16,300
000 | 654 500, 7K:16,500, F:17.300 5300
500 | 68% :16,000, :16,000, H:18,400 +16.000
FIEEE 000 69% +:18500.H47900 ] 6.000
000 67% 415500, 15,500, £:16000 B18300 | 116,100
600 74% 100, A:13,500, +:16,000, B:18,000 . £:14.800, H:15400
R (FE) =%k 600 67% §:13,800, A:17,600, £:19300, B:17600 | :16,900, H:14,600
900 56% | j3:18,100. A:21,300, £:20,700, H:21,600 6,800, F:16,900, B:15.900
600 | 50% 700, +:20,100, H:21,600 :15.900
600 | 59% j3:17.700, +:17,600, H:22,000 6,400 F:15,600, B:19,600
HIL5E 700 61% 3:18.400, F:20.400 16,000, +:17,600. EI 16,600
100 62% 0400, H:20600 6,000, F:17,600, B:17.700
100 | 62% 0,400, H:20,700 16,000, +:17.600, H:17.700
700 | 69% 6,700, H:19,300
R CHE) =B 585 300 50% 8900, +:21400, B:18.100 800, H:16,600
[uLs87 200 56%  3:17,000. F:19,000, B:18,800 0. F:17.400. B:17.800
589 500 57% 6400, B:19,500 400, H:18.400
EER | _JL684 500 | 57% 17,500, :18,800. H:19.300 400, 8:17,000
[JL586 200 48% 19,300, +:18,000, H:21.400 300, H:19.800
588 200 _48% 000, H:22.200
R CHE) =R ER R CHE) % 800 39% 900, +:24,100, H:23,100
900 444 500, H:21,500 500, B:19,500
300 | 66%  B:13,600 00
100 63% B:12,800 400
600 42% 900, £:21900, H:22,700 900, £:19,900, H:20,700
800 | 394 900, +:22.900, H:24.100 900, £:20,900, H:22,100
R CAE 500 63% 300, H:14,300 11,800, H:11,900
400 63%
200 64% 45E 8] 900 70% | F:12,500. H:12,500
[ 200 64%
[uL4sy 200 64%
485 300 | 55% 13500, B:16,800 500, B:15.800
487 300 52%  +:14500, B:17,800 500, H:16,800
BIE 474 500 | 60%  +:15.900. B:13,500 200, 8:12.200
476 500 57%  +:16300, H:13,500 300, H:12,500
478 400 63% 700, B:11,700
[CuLaso 500 63%  +:14,800, B:14,800 700, 6:12.800
[JLas2 400 | 66%
[uL4sa 400 63% |
486 600 54% 800 800, B:16.200
R (FE)=K5 R (HE) % 661 800 57% H:17800 400
[JL663 800 50% 00, £:19.300, H:18.200 300, £:18200, H:17.000
[uL66s 800 | 50% 300, F:19,300, B:18.200 300, +:18.200. H:17.000
[JLe67 800 50% 800, X:17.000, H:17.600
[JL669 800 57% 7,800, 7K:18.200, 17,800 8700 | 700, B:17,600
671 800 57% 00, 7K:19,300, A:19.300, H:20.700
RAH [ JL662 500 58% 700, £:19,300, H:17.900 300, +:17.400, B:15.300
[JL664 300 58%  :17,800. 7K:18,800, B:17.800 300, +:17.300. H:15
668 800 59% 700, :18,200, B:18.700 000, A:17,000, H:17
670 200 58%  f3:18,700. +:18,800, H:18,700 600, B:17.600
672 300 56% k18,800, k19,800, F:19,800, H:21300 300, 17,800, JK:18,700, 18,200, £:18,100
674 800 50% 800, B:18.600
R CHE) =R TR CHE) % 605 800 61%  X:18500, 7K:17,900, 7:18,300, +:19.700 400, +:17.300, B:16.700
607 800 52% | 3:20300, 21,300, 7K:20.800, A:21800. H:19.800 200, :19.200, £:20.300, H:17,700
609 300 62% | X:17,800. +:19,300, H:18,800 800, +:18,300, H:17.600
611 300 62% 17,800, B:18,800 800, B:17.600
613 800 63% 3,300, 718,800, H:20,300 300, 17,800, H:17,600
615 800 61%  3:19,300. A:19.800, H:20,800 300, :18.500, :17.600. H:19,000
RIGH 606 300 60% _ +:20,300, H:18,800 100, H:17,800
608 300 62% 300, H:17.800 100, H:16.800
610 300 60% 300, 7K:17,800, 18,800, B:20,600 800, 16,900, F 17,400, H:18.600
612 800 59% _ 7K:18,100. A:19.200, H:20,600 600, 7K:16.900, 7K:16.900, H:18,600
614 800 59% 7K:18.100, A:19,200, H:20,600 600, 7K:16.900, :16,900, H:18.600
616 800 63%  :18.700. H:20,300 7600 AA9300
TR CAE)=RA TR CHE) % L623 | 800 65%  :16300, +:19.700 0,000, /K:10.000, A:10400, £:17900 |
[JL625 800 | 58%  :19.300. F:20,800 000, 13,000, A:13400, F:18400 |
[uL627 800 58%  F:19,300, 7:20,300, F:20,800, H:19.800 oo Hdzs00
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[uLs87 000 56% _ £:18,600. F:19,000, B:18,800 7.600. 1 17,400 ]
589 500 | 57% _ £:18,900, £:16,300, H:19,500 +15.400.
B3 | _JL684 500 55% 7K:16,500, :16,500, &:17.200, :17,.800, H:19.300 15,000, ﬁwssoo £:16,000, H:17,800
[CuLs586 300 50% 100, +:18,000, H:21,400 7.300 EI 19,500
588 200 48%  £:20.300. F:17.000. H:21,900 1
R CHE) =R R R CHE) % 800 39% 900, £:24,100, +:24,100, H:23,100
900 | 44% 21,300, +:22,500, B:21500 usoo B: 19 500
300 | 66% £:12,800, H:13,600
100 63%  B:12.800
600 42% 900, £:21,900, H:22,700 900, £:19.900, H:20,700
800 | 39%  53:22900, %:24,100. F:22,900, H:24,100 900, %:22,100, £:20.900, H:22,100
R CHE 500 63% 14,300, F:14,300, H:14,300 800, HB:11,900
400 63%
200 64% 10800, :12,500, H:12,500
[ 200 64%
[uL4sy 200 64%
485 300 55%  %:16,800. F:13500, H:16,800
487 300 52% 218,200, +:14,500, H:17.800 200, F:13,500, E:16 800
BIE 474 500 60% _ £:15900. F:15.900, B:13,500 700, +:12.200. B:12.200
476 500 57% |%:16,300, +:16,300, H:13,500 300, F:15,300, H:12.500
478 400 63% 500, £:11.700, B:11,700
[CuLaso 500 63% 214,800, :14,800, H:14800 500, +:12.700. H:12.800
[JLas2 400 | 66%
[uL4sa 400 634
486 600 54% 00, £:14.800 500, £:13.80(
R (AB)=RE RRE(AE) % [ JL605 | 800 65% | X:17.900, /:17,800, A:17,800, £:18800, £:19300 | 15800, #:16.700, +:17.300, H:15800 |
[uLe07 800 57%  3:18,300. 219,300, 7K:18,800, #:19,.800, %:20.300. H:17.800 800 59% | H:17.300, J:17.900, 7K:17,800, :18,800, £:19.300, H:16,800
609 300 66% _X:15800, £:16,800, +:17,300, H:16800 300 68% 414800, %:15800. +:16,300, H:15,800
611 300 66% 800, %:16,800, H:16,800 % X:14800. %:15800. H:15,800
613 800 67% 300, :16,800, £:17.300, B:18,300 300. 16,300, B:17,300
615 800 65% 00, 7A:17,800, £:19.300, H:19.300 ¥ E 300, :16.800, %:18.300. H:18,200
ELE] 606 300 64% 300, F:18,300, B:16,800 300 | 66% 417300, +:17.300. H:15,800
608 300 66% 300, +:17,300, H:15,800 300 %:16.300, +:16.300. H:14,800
610 300 64% X:16300, K:15,800, A:16,800, H:19,300 14,800, £:16,300, F:16,300, H:16,800
612 500 57% 700, 218,500, 7K:17.900, A:19.100. %:19.800, £:19,300 300, %:18,700, +:17.300, H:18!
614 500 57% 700, 18,500, 7K:17.900, :19,100, £:19,800, F:19,300 117,300, %:18,700, F:17,300, H:18.500
616 800 67% . $:19.300, H:18, 5
R (FE) =R RE(FE) % L623 | 800 70% 900, %9800, £:16800 0000000000000
[JL625 800 63% 1900, %:12,800, £:17.800
[ JL627 800 63% 300, 7:17,300, %:17.300. i|7700 H:16.700
629 800 63% 300, 24:15,800. 7y< 15,800 ﬁ
631 300 62% 300, X:14,.800, K14 \5300
633 800 65% 300, %:16.800, 115300 8:17.100
637 800 63% 400, %:17,300, F:16,300, H:17.700
639 300 62% 800, A:15.800, . 17300 ﬁ ss
AR 622 300 64% 800, :14,800, +:16,800. H:14
[CuL624 300 60% 700, 7K:16.800, - 15800 &: 17000 £:17.900
[CJL626 300 62% 800, :14,800, %:16 800
[JL628 800 63% N 2 : ;
[uL630 800 63% 300, £:16,300, :17,800, *:16,300, H:18,300
632 800 63%
[JL634 | 300 | 60%
300 62% )
RECHE)-ERE RRFABF 200 77% 00, 8 115,500
200 68% +13,600, :13,600, %:15.700, F:18,500, B:12,200
200 8% 600, :13,600, £:15,700, F:18,500, H:12,200
400 66%  3:18,500. %:19.300, B:18,800 600, 7K:15.200, :12.600. %:16.400. F:15,600
800 63% | X:18,300, 7K:16,400. A:16,400, £:19,300, £ 18500 11,600, A:11,600, %:16,400, £:14,600
[ 200 70%  f3:18,700. A:17.300, £:18,300, H:18,800 600, 7&10500 ﬁwuoo £:12,600
[uL653 800 61% 300, 7K:14,200, 18,700, :14.200, B:18,300 000. 000, £:13,400, H:13.400
655 800 61% 16,300, 7K:14,200, A:18.700, :14200, H:18.300 29,000, mwosoo :9.000, %:13.400. H:13,400
BRBR 300 | 66% 00
800 63% 00, 7K:17,300, :16.400. %:18.300, F:18.300 A5 8] X 11,700,
800 65% | X:13,200, 7K:16,300, A:15,200, %:17,300, F:17.300 5B 83%  £:10700, £:10.700
800 | 65% _ J:13.200. 7K:16,300, A:15.200, %:17,300, +:17.300 8000 83% %:11.700, F:11.700, H:9,000
[ L6t 300 4% 300, A:17,600, %:19,800, +:18,600, H:19,800 12,600 74%  F:13,700, 7K:16,200, 7:16,200, 412,000, H:17,400
[CJL650 300 64% 300, :17,800, £:21,000. F:19.600, B:20,800 18600 | 61% |H:13.700, JK:12,600, K- S . %:13,000,
[CJL652 200 70% 300, %:20800, +:18,300, H:20,800 13700 71% H:11,700, X:10,600, £:11,000, £:11,600, H:16,600
654 200 70% 300, %:19.800 F:17.300, B:19,800 10600 78%  H:11.700, K:13.700. A:13,700, %:10,000, H:15,600
R () =R & IR (A % 2383 900 62% 200, £:12,500 10,800 63% k11,500, £:12.200
[JL2385 900 62% 10800 | 63%  X:13.100. F:13,600
[JLassi 900 52%
[JL2389 900 62% 11,70
2393 900 62% 100, :14,400, £:12,000, H:14400 10800 | 63% J:11.700, :12.700.
AR [JL2380 900 62% 400, +:14,400 10800 | 63%  J:11.700. F:13,600
[(Jr2382 900 62% 600, F:15,000 10800 | 63%  X:11.700, F:13,600
[JL3880 900 | 52% 600 — —
[(JL2386 900 62% 600, F:12,500 10800 | 63% J11900, F:12.400
2392 900 | 62% 800, %:14,600, £:12,500, H:15000 A5 8] 10800 | 63%  X:12.300. %:13.100, F:12,300, B:13,600
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% %
)=ALIR (F T R%) [CJL501 517,100, £:17,800 16,500
[JL503 <:15.700, %:18,000, £:20,100 6400 F:16.
[uL505 900, +:24,100 119,900, £:20500
[uLs07 <:19,000, %:21,000, £:24,100 119,900, :20500
[JL509 K:21,900, £:24,400, +:26,000 :23,300, 1:23,000
21,700, %:24.400, F:26,000 3,300, F:23,000
K:18,000, %:21.900, F:22,500 21200, +:21900
718,800, +:18.400 8.700. F:18,300
18,100, +:17.800
K:16,400, £:18,100, F:17,800 8,000 F:17,500
100, %:18,800. ;tnzau
[CuL525 |7suu £:16,500
[uL527 S
[JL529 800, £:19,500, j:uauu
531 K:14,800, %:17.500, F:12,100
R FHFRHE [ LS00 219,200, 1:19,600
[uL502 720,000, +:20000
[CJL504 >:19,000, 1:19.000
[JL506 719,000, 1:19.000
[CJL508 >:18,200, 1:17.800
718,200, 1:17.800
500, +:17,800
21,000, F:17,.800
5:19,600, %:21,100, F:17.800
[ K:19,600, £:21,400, F:17.300
[CuL520 21,700, 1:16.000
[uL522 21,700, 1:16.000
[CuL524 21,700, 1:16.000
[JL526 700, +:15,800
[CuL528 >19,200, 1:14.400
530 717,400, 1:13.300
=Z @A R (HE) % 565 20,900, +:22,000 :20,400
[uLs67 720900, 1:22,000 0400
569
S PIES 562
[JL564
566
TR CRE) =) TR CAE) % 551
553
[CJLs55 400, +:14,700
557 400, £:14,000
JEIES L552 | 200, +:14.100
[uL554 00, +:14.100
[JL556 100, F:11.700
558 100, £:11,100
TR CRE)=8IER TR CHE) % 000
400, 215,800, £:18,500 100, £:17.400
400, £:14,800, £:15,500 100, £:14.400
FIEEE =] _
200, +:18,000 100, £:16,800
S 200, £:16,000 600, %:14.100, F:14800
R CHE)=HIK 3 200, +:19.300 600, £:17.,500, +:16,900
::2 700 600, %:17.400, :16.900
100 100
;1 600
HLFE 221,400, 1:20,400 000, 18,600, £:17,600
719100, +:20400 600, £:17,600
>119,200, F:20,400 >116.600, %:17,600
717,600, +:15.700 600, £:12.700
R CHE) =B 585 K:19,300, £:20.400, +:21400 500, +:19.800
[uLs87 >:18,600, +:19.000 600, £:17.400
589 500, +:16,300 16,500, £:15.400
EiER | _JL684 (17,500, %:17.200. F:17,800 100, 215,500, £:16,000
[JL586 100, +:18,000 100, +:17.300
588 20,300, 1:17.000 200, £:16.800
R CHE) =R R R CHE) % 900, £:24,100, £:24,100 900, £:22,100, £:22,100
300, +:22,500 300, +:20,500
800 400
600 | 42%  F:21,000
800 | 39%  %:24100, £:22.900 szmu £:20900
R CHE 500 63% £:14,300, :14,300 £:11.800
400 63%
200 4% 10800, £:12,500
[ 200 64%
[uL4sy 200 4%
485 300 | 55%  %:16800. F:13,500 800, £:12,500
487 300 5% 218200, +:14,500 200, F:13,500
BR 474 500 | 60%  %:15900. F:15,900 700, F:12.200
476 500 57%  %:16300, :16,300 300, F:15,300
478 400 63% 500, £:11,700
[CuLaso 500 63% 214800, +:14,800 500, +:12.700
[JLas2 400 | 66%
[CuLasa 400 634
486 600 | 54% & :14800 700 | 57%  %:16500, 13,800
R CHE) =R RECHE) % [ JL605 | 800 | 63% 900, %:18,800, £:19,300 900 67% 216,700, £:17.300
[uLe07 800 57% 300, 7K:18,800, :19.800, £:20300 800 | 59%  J¢:18.100, 7K:17.800, 718,800, $:19,300
609 300 66% 800, 116,800, +:17.300 300 68% k14800, %:15800. +:16,300
611 300 66% _ J:15800, £:16,800 5,300 | 68% | J:14800. %:15,800
613 800 67% 800, £:17,300 1800 69% 15800, %:16,300
615 800 65% 800 | 67%  A:16,800. %:18.300
RIGH 606 300 64% 300 66%  %:17.300, £:17.300
608 300 66% _ £:17.300. 300 % £:16,300, F:16.300
610 300 4% 300, K:15.800, A-16.800 300 14,800, %:16.300. £:16,300
612 800 59% ;18,500 7K:17,900, A:19,100, £:19.300 800 8.700. F:17.300
614 800 59% _X:18500, k:17,900, A:19.100, F:19,300 800 65% %6700, £:17.300
616 800 67% 800, £:19.300 800 X:15,800, £:18.300
R CHE) =& R CHE) % L623 | 800 70% £:17.800 8,400 900, %9800, £:16,800
[JL625 800 63% . :18.800 11,400 75% z:nsuu %:12.800, +:17,800
[CuLe27 800 63% +:18.800 15800 65% [A:17,300, £:17.300, F:17,700
629 800 63% . +:18.800 15800 | 65%  A:16.700, %:17.000. F:16.700
631 300 62% 16300 | 64% 14,800, k14800
633 800 65% :16,300 14800 67% A:16.300, %:16800. F:15300
637 800 63% +:17,300 15800 | 65% 16,400, £:17,300, F:16,300
639 300 62% ) . £:20300 16.300 15,800, :17.300, $:18.,600
AR 622 300 64% 15,300 14,800, +:16,800
[CuL624 800 56% 18,300, 7)<|7aoo 16,800, £:19.300 17,900 7.300, 7K:16.800. :15 800, %:17,000
[CJL626 300 62% 800, A:15,800, %:17.800 16,300 115,800, K:14,800, £:16,800
[JL628 300 64%  :16,800. 7K:17.300, %:17,800 15.300
[CuLe30 300 64% | X:16,800. 7K:17,300, %:17,800 15,300
632 300 64%  J:16,800. 7K:17.300, %:17,800 15.300
[uL63a 800 54%  X:17.300, 7K:18,300. A:18,800, F:17.800 19.200
900 | 58% K17, 16.300
RECHE)-ERE R CHE) % 300 62% 13,600
300 | 564 | :17.600, ; 16,600 A!Z'lDD 7kuzoo 7;14100 ﬁ|5400
500 57% 300, 7K:15,200, 18,800, %:19,900 16,600 J:12.700, JK:11,200, 714,200, 15,400
400 66% 300 13,700 £:15.200, %:16,600. +:15.900
400 66% 300, #:19,300, :18,500 12,700 +14.400, £:16,600, £:16,100
[ 200 70% 00, £:18.300 11,700 4:13.400, %:15,600. F:13.700
[CuLe53 200 70% 300, :18,700, 218800 11,700 | 76%  X:10600, £:14,600
655 200 70% ;16,300 A:18.700, %:18,800 45E|nu 11,700 76%  X:10600. %:14,600
ERBR 300 6% 7,300, £:17,800, :18300 45E1F] | 9600  80%
300 | 624 00, 7K:17.300, 7:16.400 A5 8] 10600 78% E:11.700
300 4% 200, 7K:16,300, :15.200 5B 9600 80%  F:10.700
300 | 64% 200, 7K:16.300, A:15,200 80%  %:10600. F:11,700
[ JLea: 300 64% 600, %:19,800, +:18,800 74% :16.200, £:15,600, +:14,600
[CJL650 300 64% 74% _7K:16.300, %:16,600. F:15,600
[ _JLes2 300 62% 200 5”200 20800 78% :13,700, £:14,600, £:13,600
654 200 70% 300, %:19.800, +:17.300 78% 7K:13.700, %:13,600. F:12,600
R () =R & IR (A % 2383 900 62% 200, £:12,500 63% AK:11,500, £:12.200
[JL2385 900 62% 63%  J:13.100, F:13,600
[JLassi 900 52% — —
[JL2389 900 62% 100, %:14,600. £:12,000 yEET 10800 | 63% X:11.700, %:12.700. F:11,800
2393 900 62% 100, 114,400, £:12,000 45 BT 10800 | 63% | X:11,700, £:12,700, £:11,800
AR ["JL2380 900 62% 400, +:14,400 10800 | 63%  J:11.700. F:13,600
[(Jr2382 900 62% 600, F:15,000 10800 | 63% J11.700, F:13600
[JL3880 900 | 52% 600 — —
[(JL2386 900 62% 600, F:12,500 10800 | 63% J11900, F:12.400
2392 900 | 62% 800, %:14,600, :12.500 4588 12300 | 58% JK:10,800, A:10.800, %:13.100
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BECHE)=XR (F/) RRECHE) % L101 il il 9,200 — .800 9.200
L103 9,700 — 300 9,700
L107 ,900 — 000 500
Litl 600 — 600 100
L113 ,000 — 600 100
L115 ,000 — 600 100
L117 500 — 200 100
L119 .900 — 500 100
Li21 .900 — 500 .100
L125 000 — 100 500
L127 900 — 100 200
L131 ,900 — 100 600
L133 900 — 500 ,000
L137 ,900 — 500 000
L 900 — 500 000
AR (FFH % L ,100 — ,000 9,200
L 900 — 000 9,600
L 900 — 100 400
L 900 — 100 400
L 600 — 100 400
L 800 — 100 100
L 500 — 900 100
L 800 — 400 100
L 800 — 000 100
L 800 — 000 100
L 900 — 400 200
L ,900 — 400 100
L 200 — 300 100
L 900 — 300 100
L 900 — 300 900
R CHE) =R F &) RER(HE)%E [ _JL501 .200 — 000 400
[JL503 200 — 200 400
[ JL505 400 — 300 600
[ JL507 400 — 800 600
L509 400 — 800 600
L 900 — 800 600
L: 900 — 400 700
L 600 — 800 100
L 100 — 200 100
L 100 — 600 100
L52 600 — 000 600
[ JL52: 600 — 000 600
[ JL525 200 — 500 100
[ JL527 400 — 300 100
[ JL529 900 — 300 300
L531 400 — 600 400
AEFTRIFE | _JL500 600 — 000 300
[ JL502 200 — 400 000
[ JL504 600 — 700 100
[ JL506 000 — 700 000
508 700 — 100 600
L5 700 — 600 000
L 000 — 600 800
L 200 — 600 300
L 300 — 300 300
600 — 300 500
[ JL520 800 — 800 500
[ JL522 800 — 800 500
[ JL524 800 — 800 300
[ JL526 800 — 800 100
[ JL528 500 — 800 000
L530 000 — 800 600
R (FIE) =48R HERCAE)® [ _JL303 500 — ,000 ,900
[JL305 500 — 000 100
[JL307 300 — 300 600
309 300 — 300 600
L: 300 — 300 600
L: 300 — 300 600
L: 400 — 300 600
L: 100 — 900 700
L: 400 — 900 700
L: 400 — 900 700
L: 500 — 800 000
[ JL325 500 — 800 000
[ JL327 500 — 700 900
[JL329 300 — 700 900
L331 300 — 700 900
[ JL333 300 — 700 900
L335 300 — 700 900
BERE [ JL300 ,900 — 700 ,600
[JL302 100 — 700 600
[JL304 100 — 000 200
[JL306 500 — 000 200
308 ,000 — 000 200
L: 700 — 900 200
L: 700 — 900 200
L: 700 — 900 300
L: 400 — 100 800
400 — 100 800
[ JL320 000 — 100 300
[ JL322 000 — 100 300
[ JL324 000 — 600 900
[ JL326 000 — 600 900
[ JL328 700 — 700 900
[ JL330 700 — 600 ,900
332 600 — 7,300 000
R CRE) =4 () HERCAE)F  [_JLoo1 500 — 6.700 ,000
[JL903 800 — 7,700 500
[JL905 400 — 7,700 500
[JLoo7 400 — 700 500
L909 900 — 700 900
L 900 — 600 300
L 700 — 600 300
L 7.200 — 800 800
L 7.200 — 300 700
L92 7.200 — 400 600
[ JLo2: 200 — 400 200
925 200 — 300 600
SREE R [ _JLe00 ,200 — 500 700
[JL902 200 — 200 000
[JL904 200 — 200 600
[ JL906 700 — 200 100
L908 700 — 600 300
9 500 — 500 300
L 500 — 500 300
L 500 — 500 300
L 700 — 700 800
L 700 — 700 .000
[ JL920 200 — 200 900
L922 500 — 500 000
KR (FFH =08 (BF) KiR(FFH% [ JL2081 500 — .900 500
L2087 000 — 300 100
FRGEE R | JL2084 700 — 500 700
2088 500 — 500 100
RR(HE) =% @5 ER(HE)E [ _JL565 800 — ,200 ,200
[ JL567 800 — 200 200
L569 500 — 100 100
ESEES [ JLs562 000 — .600 700
[JL564 000 — 600 200
L566 300 — 300 800
B CRE) =Rl BER(FE)HE | _JL551 ,200 — .800 ,300
[ JL553 800 — 200 000
[ JL555 000 — 500 000
L557 000 — 300 000
JEIES [ JL552 ,000 — ,000 ,200
[ JL554 500 — 000 900
[ JL556 700 — 200 200
558 000 — 100 900
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R (CFIE) =R RRECHE) % Lt il il .800 — .200 600
L 400 — 100 500
L 400 — 800 500
S Lt 800 — 100 ,300
L 100 — 600 000
L544 100 — 600 800
R HE)=HEL RRCAE) 3% L 600 — 700 600
L57: 600 — 700 600
L57 600 — 700 600
L57 600 — 400 600
B L57 600 — 300 ,900
L57 100 — 300 800
L57: 100 — 300 200
L57 600 — 700 300
HR (TH) =B RER(HE)FE [ _JL585 ,600 — 300 500
[ JL587 600 — 000 400
L589 600 — 100 400
EEER [ JL584 ,000 — 400 ,200
[ JL586 000 — 700 800
L588 800 — 500 800
R CHE)=H ST L 100 — 100 800
L 100 — 100 800
L 300 — 100 800
L 300 — 800 100
L 100 — 800 100
L 100 — 800 100
ERRE L 800 — 100 100
L 800 — 100 100
L 100 — 100 100
L 100 — 100 100
L 100 — 100 100
L 100 — 100 100
R (FE)= RRECHE) % L .800 — .000 000
L 800 — 800 000
L 800 — 000 000
L 800 — 000 000
L 800 — 000 000
L 800 — 000 700
L 000 — 000 000
L 000 — 400 800
R CHE)=-HE RRCAE R L .400 — ,000 ,000
L 000 — 500 400
L 300 — 300 400
L 500 — ,200 000
HER L .000 — ,900 ,000
L 000 — 400 400
L 500 — 900 500
L 500 — 400 800
R (CFE) =1L RRECHE) % L .800 — .800 .800
L17! 800 — 800 800
23 L17 800 — 800 800
L17 800 — 800 800
R CHE)=/ML RRCAE R L ,800 — .900 .300
L 900 — 800 300
L 800 — 300 300
L 800 — 300 .900
L 800 — 300 300
L 300 — 300 300
INASE L ,800 — ,100 .300
L 800 — 300 300
L 800 — 300 300
L 300 — 800 400
L 900 — 800 400
L 900 — 800 ,900
RRCHE)-AiaE RRCAE R L ,000 — 800 400
L: 900 — 500 900
L: 100 — 300 700
AREER L: 800 — 300 700
L: 300 — 300 300
L: 000 — 500 400
RR CRE) =R RRCAE R L. ,900 — ,700 ,900
L: .700 — 000 400
L: 600 — 000 400
L: 16,000 — 200 000
L: .700 — 200 400
[ENTES L: 700 — 900 500
L: 700 — 400 500
L: 15,000 — 000 000
L: .700 — 000 000
L: 17,000 — 400 200
HR(HH)=EE ER(FEERE [ JL2! .900 — 800 800
[ JL255 19,200 — 200 500
[JL257 20,000 — 200 500
[JL259 .900 — 800 500
L261 ,000 — 000 500
[ JL263 16,200 — 000 500
[ JL265 18,900 — 800 800
L267 .900 — 700 800
L% [JL252 .900 — 800 ,300
[JL254 900 — 600 800
[ JL256 16,400 — 400 000
[JL258 ,000 — 500 000
[JL260 15,500 — 000 400
[ JL262 17,500 — 500 700
[ JL264 19,700 — 900 700
266 900 — 900 400
RRCHE)=HE RRCAE R L277 ,900 — ,300 800
L279 000 — 200 200
[JL283 ,900 — 200 200
[ JL285 700 — 600 .900
L287 ,900 — 600 .900
HER L276 500 — 400 ,000
[JL278 900 — 600 800
[JL280 ,900 — 200 800
[ JL284 000 — 200 500
1286 900 — 200 500
R (HHE) -8 RER(EE)RE [ JL453 500 — 200 600
[JL4s5 200 — 200 600
[JL459 400 — 400 600
Ld61 400 — 700 200
[ JL463 400 — 700 100
L465 500 — 700 100
BERE [JLas2 500 — ,000 400
[JLa5a 500 — 400 7,400
[ JL456 17,400 — 7,400 7,400
[JLa60 500 — 200 200
462 200 — 500 200
L464 400 — 500 200
RRCHE) =B RRCAE R LAT! 600 — .500 500
L47 100 — 100 400
L47! 600 — 900 900
L48 600 — 900 900
L48 1,900 — 900 .900
[ JL4ss 800 — 700 000
L487 600 — 200 400
BINRE L474 600 — 000 .700
L476 600 — 600 .700
[JL478 600 — 600 .700
[JLa80 600 — 000 000
[ JL4s2 200 — 000 200
[ JLdsa 700 — 500 600
486 600 — 100 200
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B CFE) =/ RRECHE) % L491 Bl Bl 700 100 800 ,800
[ JL493 000 100 900 900
[JL495 .700 100 000 000
[ JL4o7 600 100 700 700
L499 .700 100 600 600
A5 [JLa90 700 000 800 800
[ JL492 700 000 800 800
[ JLdoq 100 200 200 200
[ JL496 .700 600 300 300
L498 500 100 600 600
R (HE) =2l RR(HE) % L431 000 500 300 300
[JL433 400 400 500 500
[JLa3s 500 700 700 700
[ JL437 400 .700 700 700
[JL439 300 000 300 300
L443 000 000 700 700
PATTES [ JL430 .000 000 300 ,300
[JLa32 000 000 300 300
[ JL43a 000 700 .700 700
[JL436 800 000 000 000
438 000 600 200 200
L440 200 500 900 900
HR(HHE)=K5 BER(FE) R L661 ,800 700 800 800
[ JL663 300 300 300 400
[ JL665 300 300 300 400
[ JL667 800 300 300 800
[ JL669 300 300 800 300
L671 300 300 000 300
RRHE [ JLe62 .800 800 ,800 ,300
[ JL664 800 800 800 300
[ JL668 800 300 300 300
L670 800 300 300 300
672 300 300 300 300
L674 300 800 300 700
HR(FH)= ER(HE)E [ _JL605 .800 .300 300 800
[ JL607 300 300 500 000
[JL609 800 .700 300 800
L611 800 800 300 800
613 800 300 800 800
L615 800 300 800 800
RIGH [ JL606 .800 .800 ,300 300
608 800 800 300 300
L6 300 800 500 300
L 800 800 800 300
L 800 800 800 300
L 800 900 800 800
EEAEEE -+ RER(CHE)RE [ _JL62: .800 300 800 800
[ JL625 800 300 7.800 7.800
[ JL627 800 700 800 300
[ JL629 800 700 800 300
631 800 700 800 400
L633 800 800 300 800
[ JL637 800 800 300 800
639 300 800 800 300
33 [JL622 800 .000 800 800
[ JL624 800 800 300 300
[ JL626 800 800 300 300
[ JL628 800 300 300 800
[ JL630 800 300 300 800
[ JL632 800 300 300 800
[ JL634 300 300 800 300
L638 300 300 800 300
HR(FH) -5 ER(AE)%E [ _JL6s7 100 700 .800 .800
[ JL689 100 300 800 800
L691 400 700 300 7,300
[ JL693 700 800 300 7,900
[ JL695 400 800 300 300
L697 300 300 800 800
ECES [JL688 600 800 300 300
[ JL690 300 800 800 300
[ JL692 300 800 800 300
[ JL694 800 300 800 300
[ JL696 300 800 300 300
L698 600 100 600 700
R (FH)-ERS RR(HE) % L .800 300 800 300
L 800 700 400 700
L 800 700 300 700
L 300 700 ,000 300
L 300 300 000 300
L 500 500 000 800
[J 500 000 000 500
L655 500 000 000 500
BERER L 900 100 800 800
L 000 800 000 000 1
L 000 800 ,000 000 1
L ,000 800 000 000 1
L 300 800 800 300 1
300 800 800 700 21
500 000 300 70021
500 000 300 300 19
RR(HE)-EEXE RRCHE) % 000 ,000 ,900 ,300 2
EEXGH 8,900 900 000
AR (F =& AR (FFH R 8,100 .700 100
7,800 000 900
7,800 800 600
7,600 700 000
700 100 ,900
000 800 000
800 800 800
200 100 000
was .000 100 ,200
400 600 200
7,000 600 7.100
9,800 800 7,800
7,900 200 7,500
200 100 6,500
800 800 7,800
000 6.100 7,000
R (=R KR (D% ,200 7.800 ,200
200 7,800 200
900 500 800
300 800 100
RIGH 800 .300 800
300 300 300
300 300 300
500 ,000 500
RIR (=R K AR (FFH % ,800 ,300 ,400
200 800 800
—— 800 000 500
500 400 500
500 — 600 000
TEA5E 600 200 600
,900 200 100
—— 200 — 700 500
45HFL 100 — 800 300 13,100
45B L 800 — 800 200 13,700
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AR (FFH=EER. AR (FFH % Bl il ,800 — 7.000 500 800
800 — 7,800 700 800
800 — 7.800 700 800
600 — 800 500 500
600 — 800 500 500
800 — 600 500 500
800 — 800 500 500
000 — 100 900 900
ERER ,100 — 800 100 100
300 — 000 500 800
300 — 000 500 800
100 — 800 800 800
800 — 800 800 600
800 — 700 500 8,200
800 — 700 500 8,200
000 — 800 800 7,600
AR (FF)-BEXE PNAGIE 100 — 700 100 100
BEXER 100 — 100 100 200
ALIR FHF &) =% &5 LRFTFR R L. 700 — 700 700 700
L2 700 — 800 700 700
L2 700 — 800 700 700
ESCEIES L2 700 — 700 700 800
L2 700 — 700 700 800
L2 700 — 700 700 700
AR EFFR)=F LRFFRE [ JL280 ,600 — 800 ,800 ,800
[ JL2805 600 — 800 800 800
L2809 600 — 100 800 100
HHER [ JL2804 ,100 — ,800 100 100
[JL2806 800 — 800 800 400
L2810 ,000 — 800 800 7,400
R TR =@ ARFTRR | J2821 100 — 600 800 800
L2827 800 — 600 800 800
BER (L2822 800 — 100 800 800
L2828 300 — 100 300 300
HRGHTR)=HR E ] 1287 800 — 800 100 100
1287 7,800 — 800 800 100
HIEFFR) R 1287 8,100 — ,800 9,100 100
L2871 7,800 — 800 7,800 800
LR (E3%) =88 FHR(EH F | JL286 800 — 800 800 800
[ JL2865 800 — 800 800 800
L2869 800 — 600 800 800
FIEES [ JL2860 .800 — .800 .800 600
[(JL2864 800 — 800 600 600
L2868 800 — 600 600 600
FBR(EH) =Zmal R EH R L2721 800 — 800 800 800
L2727 800 — — 800 800
B3 (L2720 800 — 12,800 800 800
L2726 800 — — 800 800
ALIR () =BfE IR(ER R L27 .900 — 9.900 900
L2 — .900 — — —
L2 900 — 9,900 9,900
L2 .900 — 9,900 9,900
L2 .900 — — 9,900
L2 13,800 — — 17,100
EgE3 L2 17.100 — 17.100 —
L2 900 — 9,900 9,900
L2 — .900 — — —
L2 900 — 9,900 9,900
L2 .900 — 9,900 9,900
L2 .900 — — 9,900
() F [EAGESES — — 200 200
13200 — 200 200
FlR5E — — 200 200
200 — 200 200
EE=ER B 750 — — —
RRFE 750 — — —
E AR ENAGIDES 900 — 300 72,900
EGE 900 — 900 12,900
R (B =HE KR (D% 800 — 800 800
800 — 400 10,500
800 — 9,800 800
10,500 — 500 11,600
HER 10,500 — 700 10,500
800 — 800 800
800 — 800 800
800 — 9,800 800
RE-ES BERE 500 — 500 500
500 — 500 500
BEBR 500 — ,000 500
500 — 500 500
TEE=B A AR 500 — 500 500
900 — ,900 ,900
BHRE 900 — 500 ,900
500 — 500 500
TEE=1a10 AR 500 — 500 500
000 — 000 500
000 — 000 100
000 — 000 000
FRLFE 500 — 000 500
300 — 000 000
000 — 000 000
000 — 500 500
wE=-E BERE 800 — 800 800
800 — 800 1900
900 — 000 1900
800 — 800 800
800 — 800 800
800 — 800 800
800 — 800 800
B 800 — 800 800
800 — 800 800
800 — 700 800
800 — 800 800
700 — 800 800
700 — 800 800
800 — 800 600
BE-BEAS EEE 300 — 800 300
BEABR 300 — 300 300
ERE-EEXE ERER 400 — 400 ,300
900 — 900 900
900 — 900 900
200 — 200 800
000 — 000 800
000 — 000 —
900 — 900 900
900 — 900 900
900 — 900 900
BEABR 400 — 900 ,900
800 — 200 200
800 — 900 900
800 — 200 200
000 — 300 300
900 — 900 900
000 — 300 —
900 — 200 200
3,300 — 300 300
ERE-EZE ERER 6,800 — 800 .800
8,500 — 500 500
— — 200 —
18,500 — 500 18,500
18,500 — 500 18,500
BER 20,200 — ,200 20,200
-— — 200 —
200 — 200 20,200
200 — 200 20,200
800 — 800 16,800
RRCAB)=-BE RRCHE) % 300 — ,200 42,600
BEE 900 — 22,000 — 27,000
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TEEE AR ED | RREE | 0 il W | 600 7000 500
L103 200 8.500 2 00 0 11,300 800
L107 ,400 12,100 900
L1t ,000 R 500
L113 ,600 . | N X B | ,500
L115 ,000 X 500
L117 ,000 .20 800
L119 ,.900 X X X B X . 300
L121 ,.900 10, 11,500 300
L125 1000 — 100 11000
L127 ,500
L131 ,400
L133 ,900
L137 ,900
L ,900
KR (D% L 800
L ,300
L ,900
L ,900
L ,000
L 500
L 500
L 500
L 500
L 300
L 700
L ,100
L ,900
L ,900
L ,900
TR ARGTR| RRGHE | a5 400
[JL503 400
[ JL505 500
[ JL507 500
L509 ,300
1 ,300
L513 ,400
L515 ,600
7 ,100
L519 ,100
L521 ,400
[JL523 400
[JL525 400
527 200
o529 900
L531 000
FEEFFRE [ _JL500 000
502 600
[JL504 000
[JL506 000
508 000
L5 ,000
LS 400
L ,900
L: ,400
,400
520 900
o522 900
o524 900
[JL526 000
528 900
L530 000
BER(FE)FE | JL303 400
[JL305 300
[JL307 500
309 ,500
L ,500
L ,700
L ,700
L ,200
L 7.000
L 7.000
L 7.500
[JLa25 7500
[JLaz7 900
[JL329 900
L331 ,900
[JL333 900
L335 ,800
[ JL300 800
[JL302 800
[JL304 000
[JL306 400
308 .100
L ,200
L 400
L 400
L 400
,600
[JL320 600
L322 800
[JLa24 800
[JL326 800
[JLazs 900
[JL330 100
332 400
TR AR | RRGEE [0 500
[~ Jre03 500
[~ 905 500
[—re07 500
L909 ,000
L 300
L ,600
L 100
L ,600
L92 600
[JLe2: 900
925 ,900
SREE R [ _JLe00 .300
[JL902 100
[JLo04 600
[JL906 600
L908 ,600
9 ,500
L ,500
L ,500
L 100
L¢ 100
[—Jre20 200
L922 500
REGHARGTH|  REEDE [ 500
[ JL2007 ,500
[_JL2005 ,500
[JL2009 ,200
L2019 ,500
FIRFRFR)FE [ JL2000 9,900
[_JL2006 ,600
|_JL2008 300
L201 ,300
L201 ,700
REGEH-FETH | ARGME | J2s 500
L.208 ,200
SRGRE R [ JL208 ,200
12088 ,500
BR=FLIE (FTTR) EHES L3513 600
L3515 ,200
LRF TR R L3510 .200
L3512 ,600
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RR(HE)=%@5 BER(FE)HE | _JL565 9,600 00

ESSHIES L562 ,600

RRCRE) =Rl RRCAE R L551 500

FEIIES L552 ,000

HR CAE) Bk RRCABE L: 800

ElES Lt 000

RRCHE)=HIE RRCAE R Lt ,600

HILSE L

R (CFIE) =8 RER(CHE)RE [ JL585 ,200

3 L584 ,000

R CHE)=H RRECHE) % L141 ,900

R CHE)= RRCAE R L 800

R CHE)=-HE RRCAE R L ,800

HER L 7,500

R CHE) =1L RRCAE R L 400
ItZ3 L

o
S8
S

R CHE)=/ML RRCAE R L 800

INASE L 10,200

RRCHE) -FAiaE RRCAE R L: .800

AREER L. 100

RR CRE) =R RRCAE R L: 400

FELZE L: 700

RRCHE) =S RRCAE R

EE%

B CFHE)=ILOFH RRCAE R

[I=E=23

RRCHE)=HE RRCAE R

RRCHE)-#S RRCAE R

RS
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R (HE) =B RRCAE R L475 Eil Eil 9,600 9,500 [ 500
L477 13,400 [ 2 500
L479 9,600 [ 700
L481 9,600 700
L483 13,200 [ 2 700
[JLas5 16,300 [ 2 500
L487 600 500
BINRE L474 600 [, 500
476 600 500
[JLa78 13,400 [ 2 500
[JLa80 9,600 500
[ Jr4s2 12400 [ 2 500
[ JLasq 13,400 [ 2 500
L486 9,600 500
RRCHE) =mA ESHEE L4901 9,700 [ 600
[ JL4e3 13,000 [ 2 600
[ JL495 700 [ 700
[ JLa97 15,000 [ 2 700
L499 700 [ 600
s [JL490 700 600
[ JL492 700 X 600
[JL4o4 12,500 [ 2 600
[ JL496 700 [ 600
498 17,100 [ 2 600
R CRE)=H ESHEE L431 10,000 1 900
[JL4s3 16,700 [ 2 900
[JLa3s 500 900
[JL4s7 700 [ 2 900
[ JL439 300 [ 2 300
443 .000 [ 1 400
[AITES [_JL430 .000 [ 1 900
[ Jra32 .000 900
[JL434 500 [ 2 ,900
[ JL436 700 [ 2 900
[ Jrass .000 900
440 500 [ 2 ,900
RRCHE)=X5 RRECHE) % L661 300 1 600
[ JL663 7,300 [ 1 200
[ JL665 500 [ 200
[JL667 500 [ 1 000
[JL669 000 [ 2 300
671 000 000
RH5 [_JL662 500 [ 1 000
[JL664 500 [ 1 800
[JL668 500 [ 1 000
L670 500 300
L672 300 [ 2 ,300
674 000 800
B (FE)= HERCRE) %  [_JL605 800 1 300
[ JL607 ,800 [ 2 200
[JL609 000 [ 600
L611 000 [ 800
L613 500 [ 1 000
615 500 000
RIGF [ JL606 ,000 1 000
[ JL608 000 [ 1 000
L6 500 [ 800
L 100 [ 800
L 100 [ 800
L 000 800
B (CFE) =X RERCAE)%E [ _JL62: 600 [ 1 ,300
[JL625 600 200
[uL627 300 [ 1 600
[JL629 7.300 [ 1 600
L631 500 [ 1 000
633 000 [ 1 800
[JL637 000 800
L639 800 [ 2 000
AR [ JL622 500 [ 1 000
[JL624 000 [ 1 800
[ JL626 000 [ 1 800
[JL628 000 000
[JL630 800 1 100
[JL632 000 [ 1 100
[JL63a 000 [ 2 300
L638 000 000
RRCAE) -85 FRCPEDE | Ji6es 000 [ 600
[JL689 000 [ 200
L691 000 [ 000
[JL693 500 [ 1 800
[JL695 500 [ 1 800
L697 000 [ 2 000
BIER [_JL68s ,000 [ 1 000
[JL690 300 [ 1 800
[JL692 300 [ 1 800
[JL694 500 [ 1 000
[JL696 000 [ 1 800
L698 000 000
RRCHE)-ERS RRECHE) % L .800 1 ,300
L 800 [ 600
L 800 [ 600
L 400 [ 2 500
L 400 [ 2 900
L 900 00
[ 600 [ 1 700
L655 600 [ 1 00
ERER L¢ 000 [ 1 600
L 900 [ 900
L 900 [ 900
L 900
900 [ 2
[ JL650 900
[JL652 ,900 [ 1
L654 900 [
AR (FH)-BEXE R (FE) % L659 ,300 2
EESN-E] 658 300 [ 2
R (=R KR (D% L237 400 1
L2 400 [ 1
400 1
,200 1
RIGS ,200 [
,600 1
600 1
,400 1
R (R =RER KR (O % .700 1
,700 1
— ,900 1
,700 1
,900 1
REASR ,900 1
,700 1
— 400 1
,700 1
,700 1
KR (FFH=ER. KR (O % 500 1
,700 1
,700 1
500 1
500
500 1
500 1
,600 1
ERER ,300 1
100 1
100
,300 1
700 1
900
,900 1
,900 1
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KR (B -EEXS AR (FR 12465 | 28881 | 45H81 27,100 27,000 9700 29,600 _|
BERESR L2464 100

REE(FH-FRFTE| BEEFIME L. 200

27,000
IR FFR) R [K ,500

400
00

AL (BT F ) = E Bl IR FFR) R L2 700

TS

AR FFR)=H IR FFR) R

EHRE

AR EFFR)-HE IR FFR) R
HEE
R FFR) =R HRRE
IR FFR) R
ALIE () =88 HR(ER) R

ElES

HR(ER) R
TS
AL () =B R HR(ER) R

8(8

SEEEES

Sla
=%
(8
S8

g3

EEEE

LI (EB)=FIR HR(ER) R

FRFE

EfE=ER EfER
HR%E

ESACEEET AR (FFH %
[EGES

AR (FFH=HE AR (FFH %

BE-EE BERE
BEBR
wE=-EH BERE

it
wE=0 BERE

[AITES

wE=-E 5 BERE

S
S
5

BE-EXXE BE%E
BEXBR
ERE-EEXS ERER

BERER

ERE-BZE ERER L3791 800

BBR L3792 20,200

AR GE -85 ESAE )] L931 500
BEL)
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R CFIE) =R (BT #%) RECAE)% [ _JLs01 il il ,000
[JL503 000
[ JL505 900
[ JL507 900
L509 400
L511 400
L513 400
L515 600
L517 500
L519 500
L521 000
[ JL523 000
[ JL525 300
[ JL527 300
[ JL529 600
L531 700
ARFTRRE | JL500 500
[JL502 000
[ JL504 500
[ JL506 200
508 000
L5 000
L 400
L 900
L 400
400
[JL520 900
[ JL522 900
[ JL524 900
[ JL526 000
[ JL528 400
L530 400
R (FIE) =48R ER(HE)RE [ JL303 400
[JL305 300
[JL307 500
309 500
L311 500
L313 000
L315 000
L317 900
L319 900
1 900
L323 800
[ JL325 800
[JL327 700
[ JL329 700
L331 700
[ JL333 700
L335 700
TR [JL300 700
[JL302 700
[JL304 000
[JL306 000
308 000
L: 900
L: 900
L: 900
L: 100
100
[ JL320 100
[ JL322 100
[ JL324 700
[ JL326 700
[ JL328 700
[JL330 700
332 300
RECRE) =4 () RRERCAE)% [ _JLoot 000
[JL903 500
[JL905 500
[JL9o7 500
L909 900
3 300
L915 300
L917 800
9 600
L921 600
[ JL923 900
925 900
REE R [ _JLe00 ,200
[ JL902 200
[JL904 200
[ JL906 100
L908 100
9 500
L 500
L 500
L 700
L 700
[JL920 200
L922 500
KB (P =HLIR (B F &%) KR (D [ JL2001 ,400
[(JL2007 400
[JL2005 400
["JL2009 500
L2019 200
FIRFRFR)FE [ JL2000 ,300
["JL2006 800
["JL2008 700
L2010 600
L2016 600
KR (FFH =8 (BF) KB (D [ JL2081 500
L2087 700
FRGEE R | JL2084 000
2088 500
RECHE)=Z@5 RECAE)% [ _JLs65 200
[ JL567 200
L569 000
ES-TE] [ JL562 600
[ JL564 600
L566 200
R CRE) =Rl RR(HE)FE [ _JL551 ,300
[ JL553 800
[ JL555 000
557 1000
JEIIES [ JL552 000
[ JL554 500
[ JL556 900
L558 100
EEACEE T RRERCHE) % Lt 300
L 300
L 300
ElEES L 300
L 700
L544 700
B (CHE)=HRIE RRECHE) % Lt 100
L57 600
L57 100
L57 1400
HLRE L57 600
L57 300
7 600
L57 700
R (FIE) =BfE RRERCAE)% [ _JLs8s ,300
[ JL587 800
589 800
B3 [JLs84 500
[ JL586 ,000
588 800
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B (FE)=H RRECAE) % L il il 700
L 100

L 100

L 100
L 800

L 100

EHRR L ,000

L 500

L144 100
L 100
L 100
L 800

RRCHE RRCAE R L ,800
L 800

L 800

L 800

L 800

L 800

L 800

L 800

B (HE RRECHE) % L .400
L 400

L 300

L ,900

HER L ,000

L 400

L 500

L 700

EACEETA RRECHE) % L .800
Li7 800

23 L17 800

Li7 800

R CHE) =M RRECHE) % L .300
L 300

L 300

L 300

L 300

L 300

INRSE L .300

L 300

L 300

L 800

L 800

L 300

AR RER RRECHE) % L: .400
L: 900

L: 700

mREER L. 100

L: 800

L: 400

B (FE)=LEB RRECAE) % L2 800
[ JL255 500

[ JL2s7 500

[ JL259 500

L261 000

[ JL263 000

[ JL265 800

L267 700

LEB% [JL252 700

[ JL254 900

[ JL256 400

[ JL258 500

[JL260 000

[ JL262 500

[ JL264 000

266 000

B (HE)=HE RRECAE) % L277 ,600
L279 200

[ JL283 200

[ JL285 900

L287 900

HESE 276 500

[JL278 700

[ JL280 300

[ JL284 200

L286 400

B (FE RR(HE) % L491 000
[ JL493 000

[JL495 000

L497 100

L499 100

B L490 ,000

L492 000

494 200

L496 600

L498 900

RRCHE)=X5 RRECAE) % L661 ,800
L663 300

L665 300

667 300

L669 800

L671 000

RA% 662 800

L664 800

L668 300

670 300

L672 300

L674 300

RRCHE)=RK RRERCAE) % 605 300
L607 500

L609 300

L611 300

L613 800

L615 800

RIGSE 606 300

L608 300

L6 500

L 800

L 800

L 800

B (CFHE) =X RRERCAE) % L62: 800
L625 7.800

L627 800

629 800

L631 800

L633 300

637 300

L639 800

REASR L622 800

624 300

L626 300

L628 300

630 300

L632 300

L634 800

638 800

RRCHE) =B RRECAE) % L687 800
L689 800

L691 300

L693 300

L695 300

697 800

BT L688 300

L690 800

692 800

L694 800

L696 9,300

698 9,600

JAL
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EESN-E
AR (FFD=IlE AR (FFH R
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TS
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EHRR
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HEE

R FFR) =R HRRE
IR FFR) R

ALIE (L 2) =88 HR(ER R

ElES

HLR(EBR) =K#31 HR(ER) R
TS

ALIR (L 3%) =R HR(ER) R

EEER
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FRFE

KR () =Rk AR (FFH %
[EGE
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[%BE5 SEER(10AT~10BEFES)

SEEEAE 2022/08/05
Ny . 70/7 10/8 10/9 10/10
=M @ | DA |88 e s e RATA %A1 E] EATA FATTE| EATTA KA
T |maom| AN @@ | GEe G4 | GEe | G | GEg | Oas
BECHE)=XR (F/) RRECHE) % L101 il il 9.200 10,500
L103 9,700 10,800
L107 ,900
Litt ,600
L113 ,000
L115 ,000
L117 ,500
L119 900
L121 900
L125 ,000
Li27 900
L131 ,700
L133 300
L137 ,400
L 400
AR (FFH % L 100
L’ ,100
L’ ,300
L’ ,300
L’ ,600
L’ 800
L’ 500
L’ 800
L’ 800
L’ 800
L’ ,900
L’ ,900
L’ ,200
L’ ,400
L’ ,400
RECRHE)=XR (B#) RRECHE) % L221 ,200
[JL225 200
229 ,300
Aix(B#E) % [ _JL220 8,400
[JL224 0500
228 3,100
R (FIE) =48R ER(CEE)RE [ JL303 7,500
[ JL305 500
[JL307 800
L309 ,800
L311 ,800
L313 ,900
L315 ,400
L317 ,100
L319 ,400
L321 ,400
L323 ,100
[JL325 100
[JL327 500
[JL329 ,300
331 ,300
[JL333 300
L335 ,300
TR [JL300 .900
[ JL302 100
[JL304 100
[ JL306 500
L308 ,000
L ,700
L ,700
L ,700
L ,400
L 400
[JL320 300
[JL322 300
[JL324 ,300
[JL326 300
[JL328 ,200
[JL330 ,200
L332 500
R CRE) =4 () RER(CAE)E [ JLo01 500
[JL903 800
[ JL905 400
[JLeo7 400
909 ,900
LS ,900
L 700
L 7.200
LS 7.200
L92 7.200
L92. 200
L925 ,200
FREE R [ _JLe00 ,200
[ JLe02 200
[JLoo4 200
[ JL906 700
L908 700
9 ,100
L ,100
LS ,100
LS ,800
,800
[JLe20 1300
L922 ,900
KB (B =HLIR (B F %) KB (FFFH L2001 700
L2005 ,600
L2009 ,400
L2019 ,100
IR FFR) R 12000 500
L2006 ,000
L2010 ,500
L2016 ,500
R (BI78) =FLIR (B F &%) KB () % L2501 800
L2505 ,800
HIEFFR) R 12504 ,300
L2506 ,100
R () =48R KB (P 5 L2051 .300
L2053 ,300
L2057 ,700
L2061 ,200
TR 12050 800
2056 600
2058 900
2060 400
KR (D% L2081 400
L2087 ,000
P GRER) 12084 700
2088 400
RECHE) =X @5 RER(HE)RE [ _JL565 400
[ JL567 7,400
L569 ,300
ESSFIES [ JLs562 100
[ JL564 100
L566 ,300
B CRE) =Rl RR(HE)FE [ _JL551 ,800
[JL553 100
[ JL555 000
L557 ,000
enis [ JL552 500
[JLs54 300
[ JL556 300
558 ,300
EEACEE T RECHE) % Lt ,000
L! 900
L! ,500
ElES Lt 100
L! ,600
L! ,700

JAL
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SEEEAE 2022/08/05 ~
5 . 70/7 10/8 10/9 10/10
=M @ | PR |88 e s e RATA %ATTE| EATA RATTE| KA A KA
T |maom| AN @@ | GE G4 | GEe | G | GEe | Oas
EACEE TN RRECHE) % L573 Bl Bl .800
L575 300
L577 300
L57 200
B L57 ,900
L57 100
L57. 100
L57 100
R (FIE) =R RER(HE)RE [ _JL585 600
[ JL587 .100
L589 000
3 [ JLs84 .900
[ JL586 000
L588 200
R CFIE)=E RRERCHE) % L161 .400
L163 000
L165 300
L167 400
HER L .000
L 000
L 800
L 700
R CHE) =M RRECHE) % L .800
L .900
L 800
L 800
L 800
L 300
INASE L ,800
L 800
L 800
L 300
L 900
L .900
AR RERS RRECHE) % L: .000
L: 400
L: 600
mREER L: 100
L: 200
L: 100
HR CRIE) =fE L RRERCHE) % L: .900
L: 500
L: 000
L: 000
L: 100
[ENTES L: 500
L: 900
L: 000
L: 400
L: 500
B (FH)=ES RRCAE) % [ _JL2! 800
[ JL255 500
[ JL257 ,000
[ JL259 500
L261 500
[ JL263 200
[ JL265 ,900
L267 500
LEB% [JL252 400
[ JL254 ,900
[ JL256 400
[ JL258 500
[JL260 500
[ JL262 500
[ JL264 700
266 700
B (FE)=HE RR(HE) % L277 ,800
L279 000
[ JL283 100
[ JL285 300
L287 300
HESE 276 100
[JL278 300
[ JL280 800
[ JL284 000
L286 100
B (FE RR(HE) % L491 .000
[ JL493 000
[ JL4g5 100
[JLdo7 600
499 400
BmHRE [Jras0 800
[ JL492 800
[ JLdoq 100
[JL496 100
L498 500
RRCHE)=X5 RRERCHE) % L661 ,900
[ JL663 ,900
[ JL665 ,900
[ JL667 900
[ JL669 400
L671 300
ADHE [ JL662 .200
[ JL664 900
[ JL668 700
670 700
L672 200
L674 200
B (FH) =R RER(HE)RE [ _JL60S 700
[ JL607 300
[ JL609 600
611 600
L613 800
L615 800
RIGF [ JL606 ,000
[ JL608 000
L6 700
L 800
L 800
L 800
B () =X RERCAE)%E [ _JL62: .000
[ JL625 800
[ JL627 800
[ JL629 900
L631 900
L633 500
[ JL637 .000
L639 300
AR [JL622 .800
[ JL624 ,900
[ JL626 700
[ JL628 700
[ JL630 800
[ JL632 800
[ JL634 300
638 300
B (FH)=8% RER(CEE)RE [ _JLe87 100
[ JL689 100
691 400
[ JL693 700
[ JL695 400
697 300
BIER [ _JLess 600
[ JL690 300
[ JL692 300
[ JL694 800
[ JL696 800
698 600
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100

L ,800

I
2[alz(a(2| ]88

RIR (G =-HE AR (FFH % L ,000
,000
700
100
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,200
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,900
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N o 10/7 10/8 10/9 10/10
/TN | RBHT8 s S B @A EEHTE| AEITA AESOE| EEITA KEITE
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[R—N—%BGIHEER(9A29~30BEFESH)

SEEEAA 2022/08/05  ~
9/29-30
R B %igm A—R—%f5
WEE %
R CFE) =R F &%) RRECAE) % 558 400
550 900
550 800
550 800
550 500
L 550 500
L 550 200
L 550 200
L 550 600
L 550 900
550 1900
550 1900
550 .900
550 900
550 900
550 900
IR FFR) R 558 .900
550 1900
550 900
550 900
550 ,900
550 900
L 550 ,900
L 550 000
L 550 600
550 600
550 100
550 100
550 100
550 100
550 900 18
550 900 76% 517,200
R CHE) =18R RRCAE R 556 900 80% 9,000, #:11,000
550 300 73% %:15.600
550 1900 74% 115000
550 600 66%
L. 550 600 66%
L. 550 800 67%
L. 550 1900  74%
L. 550 3300 | 71% .900
L. 550 3300 | 71% 100
L. 550 4,000 | 69% 00.
550 900 74 000
550 800 6 400
550 800 6 700,
550 900 7 ,000.
550 800 6 .200.
550 900 7 000
550 800 70% 00
BERE L300 55H .900 74% ,000.
550 1900 74% 000
550 100 60% 00
550 200 64%
550 400 59% 00.
L. 550 900 74% 000
L. 550 300 71% 500
L. 550 300 71% 500
L. 550 900 71% 000
550 800 | 65% 00
550 100 67% 900
550 900 71% ,000.
550 000 62% 00.
550 000 62% 00.
550 500 64% ,000
550 800 61% 1000
550 900 71% _ A:13.000
R CRE) =4 () RRECHE) % 558 800 65% 1:18,800.
550 300 62% | F:20300.
550 300 62% | F:20,300.
558 .300 62% 1:20,300, £ :2
550 800 6% 00, £:19,800
55H 900 7 000, £:18.100
550 800 7 8
55H 1,900 7 2,000, :13.800
550 400 7
550 400 8
55H 900 8 F1:8.700, :8,800, £:10.700
55H .200 82%  A:9,300, £:15,200
PR GRER) 558 ,700 83%  £:8,800, £:8800
550 900 80%
550 400 | 79°
550 400 7 F:11.400
550 000 7
55H ,300 800
L 550 ,300 800
L 550 ,300 800
L 550 500 100
550 200
550 900 200, :13,000, £:13,000
550 900 7 800, :12.000, £:12.000
KB (A =HLIR (B F %) KR (D% 55H 500 6 200
550 400 7 500, 114,500
550 500 7 200
[ 550 500 7 )
12019 | 558 900 ] 0,000, #:10,000
IR FFR) R 12000 558 000 82%
550 900 79%
550 900 | 77%
550 200 62%
550 600 62%
RRCRE)=X#31 RRCAE R 558 ,000 65%
550 000 65%
550 900 73%
ESCEIES 558 ,900 73%
550 400 76%
550 300 80%
RRCHE) =Rl RRCAE R 558 000 61%
550 400 66%
550 900 69%
550 900 74%
JEIES 558 500 76%
550 000 77%
550 100 79%
550 9,600 80%
B CFIE) =IER RRECHE) % Lt 55H 200 6/
L 550 900 7
L 550 900 7
LSS Lt 558 .900 7!
L 550 000 7
L544 556 600 7
RRCHE)=HIE RRCAE R Lt 558 700 7
L57: 550 400 72%
L57 550 900 7
L57 550 900 7
B L57 558 900 7
L57; 550 900 7
L57: 550 900 7
L57 550 700 7
R (FIE) =BfE RER(HE)RE [ JL585 558 ,900 6
550 100 66%
550 900 67%
EEER 558 .900 69%
550 700 | 62%
5508 4400 | 63%

JAL



[R—/A—%1B BER(9F29~30BEES) A

SEEEAA 2022/08/05  ~

9/29-30
FH A—I\—%fF
=30] B4 -
BABR | gag | B0 e
HRCHA)=LOFH RR(HE) % 558 700 77"
55H 100 7! 200, £:9.200
55H 100 7! 200, £:9.200
55H 100 7! 200, £:9.200
[EEZTE 558 11,800 7.
550 100 7
550 100 7
550 100 7
B (HE) =8 RRECAE) % 558 .300 7
550 11,100 7
550 200 7
550 200 7
550 300 7
550 300 7
RS 556 .300 7
550 300 7 400, 40,400
550 200 7
550 300 74% _ %:9,400, %:9.400
550 11,100 7
55H .200 7 7:9.300, £:9.300
EEAEETN RR(HE) % 558 400 7 %:9,500, £:9,500
550 700 7
55H 400 74° 500, £:9.500
55H 400 74° 500, £:9.500
55H 400 74 500, £:9.500
550 14800 59%
550 400 7
B 558 400
550 400 7
550 400 7:
550 400 7
550 700 7:
550 700 7
55H 400 7: 500, £:9.500
R CHE)= RRCAE R 55H 500 7 600, %:9,600
55H 000 7 0.100, £:10.100
55H 500 7! 600, £:9.600
55H 900 6 2,700, %:13.300
55H .500 7! 600, £:9,600
B 558 500 7 600, £:9,600
550 500 7 600, £:9,600
550 400 7 0900
550 500 7 600 £:9.600
550 14800 62%
B () =X RRECHE) % 558 7.900 83%
55H 10,900 76° .soo Xlasoo £:14,700
550 12700 7 200, 7:16.400, £:16.400
550 12700 7 200, 7:16.400, £:16.400
550 900 7 000, %:10,000
550 12800 7 ,900, 7:16.100, £:16.900
55H 13.800 7 900, A:16.100, £:17.300
550 9.900 7
REASR 558 9,900 7
550 13200 7
550 13200 7
550 900 7
550 900 6
550 900 6
550 900 76%
550 000 65%
R (FH)-ERS RR(HE) % 558 700 82%
550 500 80%
550 500 80%
550 400 78%
55H 400 80% 4,900 :8,800. %1140
550 900 84% 0, £:8,000, £:9,000
550 500 82% 00
55H 900 84% ,900, A:8,000, %:8,000
ERER 558 500 84% 7,400, 7K:7.400
55H .500 82% 12,600, £:10,600
550 500 84% 11,600, %:9,600
550 500 8% ,900, 7K:7.400. %:9,000
550 400 78%
550 400 78%
550 500 82%
550 500 82% 2500, A:9.000, 11,600
R (=R KR (D% 55H 700 69%
550 300 67"
550 300 67" —
558 .900 8 9,700, 76,000, £:7,400
RIGSE 558 ,900 7. 9,700, :X:8.500. 7K:7.900
55H 300 7 7K:5,800, 7:5.900, £:5,900
550 300 71% _7K:7.800, A:7.900, %:7,900
550 300
KR (FFH)=ER. KB (P 558 .900 7% £:11.400
550 000 4
550 000 4
550 900 7
55H .300 2% _ :8,200, £:8,200
55H 11,400 66%  A:11,600, K:11,600
550 11400 66%
550 300 72" 8600, &
ERER 558 ,800 73 7700, :7.800, Z8.100
550 800 67" 10,400, %:11.400
558 .000 73" 8,800, A:8.400, £:9,400
558 800 73 7,700, 7:7.800, %:8,500
550 400 66% 00
550 000 64%
550 000 64%
550 700 62%
IR T Fm)=RE LIRFHFR R 558 700 78 7300 X suo £:6,800
550 700 71
PEE 558 700 71
55H 000 77% 3} 5500 7K:5.600, £:7.200
HRGHTR=HR #Hing 556 600 76" 18,100, A:8.500, %
550 600 76% B a!oo 8500, :10.200
LIRFHFR R 558 700 7 7,800, 7#:9,200, %:9,200
550 200 7 —
ALIE (L 2) =8I R(ER R 55H .600
550 600
550 600
550 600
LSS 558 600 000
55H 1600 .000
55H 1600 .000
55H 600 .000
ALIR (E3) =BfE R (ER R 55H 700
¥ 550 700
550 700
¥ 550 700
550 700
¥ 550 700
L2 550 100
3 L. 558 .900 15% __ H:10,000
L2 550 700
L2744 550 700
¥ 550 700
¥ 550 700
¥ 550 700
L2 550 700
AR (FFH=HE KB (P 558 100 66%  £:8,400
550 500 | 47%
550 .000 62% X
558 000 62% 500, 7:8.600, 2:9.300
HESR 558 000 62% 500, 7:8.600, £:9.300
550 000 62% 90,800
556 500 47% 1,500
550 10100 57% 500, A:10,700, £:12.500




[R—N—%BGIHEER(9A29~30BEFESH)

SEEEAA 2022/08/05  ~
9/29-30
FH A—I\—%fF
=30] B4 -
BABR | gag | B0 e
TR 558 .000 49%
55H .000 49%  7K:14.200, :14.300, %:14.300
BHRE 558 000 49% _ A:14,300. £:14,300
55H .000 49% [£:18.800
FERE=HAL TR 558 800 54%
550 400 55%
55H 400 55%  7K:10.700, :10.800, :10.800
550 800 54%
[AIES 558 .800 54% _ A:13.600
55H 400 55%  A:10,800, £:10,800
550 800 54%
550 400 55%
BERB-BEXE ERER 558 800 55% _ 7k:10,700, A:11.900, £:11.900
550 300 | 5%
550 300 5%
55H 900 55%  A:13.900, K:13.300, 7K:12.800
55H .600 52%  A:14.100
550 600 52%
550 800 | 55%
550 300 | 57%
550 300 | 57%
BERBH 556 800 | 65%
550 300 53% | K:12,800, 7:12,900, £:13.400
550 800 | 65% | €:13,800
55H .300 53%  A:13.400, %:14.500
55H 700 48% _ 7K:15.300, :15.900, %:15.900
550 800 | 525 K:14.800, A:15.300, #:15.300
550 900 44%
L 55H .600 52% _ A:14,700, £:15,300
L: 550 1300 | 60% | €:12,200
BRE-EZE ERER [K 558 400 54% __ 7k:14,900, A:15,000, £:15.000
L 550 700 56%
L 550 700 56%
L 550 700 56%
BzER [K 558 .800 52% _ A:16,300, £:16.300
L: 550 800 52% _ £:16.300
L: 550 800 52% _ £:16.300
L 55H .400 54% 7K:14.900, :15.000, %:15.500

JAL



[R—/—%FIEER(10A1~6BEED)

SEEEAA 2022/08/05  ~
10/1-6
FH A—I\—%fF
=30] B4 -
BABR [ gag | B8 e
ERCHE-ARFH TR RRGER 556 600 65% 200, :14,800, 15,800, H:14,300
550 800 64% 00, 300
550 100 | 50% 00,
550 100 50% 00, , £:20,100, H:15,000
55H .800 52% 500, 300, £:22,500, H:15.500
L 550 800 52% 00,
L 550 900 59% 00,
L 550 100 61% 00,
L 550 600 62% 00,
L 550 200 63% 00, 400, H:17,900
550 600 62% 00, 900
550 600 62%  £:16.600, 900
550 400 60% _ A:16.500, 900, H:17.900
550 000 6% 1000, £:14.700. H:18,000
550 800 71% 00, H:18,000
550 9,900 76% ,000, H:16.100
LRFHFR R 558 .600 60% 00, H:15.500
550 000 59% 00, H:16,000
550 600 57% 00, H:16.600
550 500 60% 500, H:16,600
550 900 61% 700, H:17.900
550 600 62% 700, H:19,000
L 550 500 60% 00, H:20,700
L 550 000 56% 00, H:23.900
L 550 400 55% 00, H:24.300
550 400 55% 00,
550 500 58%
550 500 58%
550 500 58%
550 300 6%
550 300 75% X
550 400 77% 1:18,000
EEACEIE T RRECHE) % 55H .200 64% 900, B:17.700
550 200 64% .900, H:17.700
550 000 70%
ESCEIES 558 ,000 65%
550 000 65%
550 900 | 77%
B CRE) =Rl RRECHE) % 558 .800 66%
550 800 63%
550 100 75%
550 500 76%
FEIES 550 000 77% 5
550 100 77% 000,
550 700 78% 900,
550 000 79% 700, H:16.
R CHE) =HIE RRCAE R 558 100 66% 00, +:
550 000 69% 00, H
550 000 71% 500, 6
ElES 558 ,600 72% 500, B:15
550 000 75% 00, H:15.400
55H 100 81% 0, £:14,500, H:15,000
HR (FH) =B RR(HE) % 558 400 60% 00, H:15.100
550 000 61% 300, £:15.900. H:16.500
550 000 64% ,900, H:16.900
B33 550 600 | 67% 000, H:15,500
550 300 58% 00, H:18.300
550 300 58% 00, H:18.300
EEAEETN RR(HE) % 558 200 72%
550 700 71% _ £:10900
550 200 72%
550 300 69%  £:11,000, A:11.900
550 700 71% _
550 800 59%
550 800 57%
BINRE 558 .200 69%
550 L1006
550 200 7
550 200 7
550 700 7:
550 700 7
550 200 58%
HR(HHE)=K5 RR(HE) % 558 700 64%
550 800 66%
550 800 66%
550 700 66%
550 900 64%
550 800 64%
RA% 558 .000 64%
550 200 65%
550 700 66%
550 700 66%
550 900 64%
550 200 65%
HR(HH)=R& RR(HE) % 558 700 69%
550 900 67%
550 200 68%
550 200 68%
550 700 69%
550 700 69%
RIGH 558 200 66%
550 200 68%
550 200 68%
550 900 65%
550 900 65%
550 700 69%
R (CFE) =X RRECHE) % 55H 100 78%
550 100 71%
550 00 68%
550 00 | 68%
550 700 68%
550 800 67%
550 800 65%
550 200 66% 400, H:16,900
AR 55H .200 66% .900, H:14.700
550 200 66% 16,00, H:14.700
550 200 | 66%
550 900 65%
550 900 65% N 00
550 900 65% 200, H:16.400
550 000 | 62%
550 000 65%
RECHE)=ER RRECHE) % L 558 500 80%
L 550 500 80%
L 550 500 80%
L 550 700 71%
L 550 12700 74%
L 550 100 1%
550 500 82%
550 500 82%
EREH L 55H 500 84%
L 550 500 82%
L644 550 500 8:
L 550 500 8
550 600 7
550 600 7
550 600 7
550 600 | 78%

JAL



TR—/8—%BIEER(0F1I~1THRES)

SEEEAA 2022/08/05
10/11-17
&R B %igm A—R—%f5
WEE %
ERCHE-ARFH TR RRGER 55H 200 700, 15,800, H:13,600
55H 200 700, £:15.800, H:13.600
550 300
550 300
550 500
L 550 500
L 550 800
L 550 .000
L 550 600
L 550 200
550 600
550 600
550 600
550 ,000
550 800
550 9,900
IR FFR) R 558 600
550 1000
550 600
550 500
550 900
550 600
L 550 500
L 550 ,000
L 550 400
550 ,000
550 800
550 800
550 800
550 ,000
550 300
550 400
RECHE)=Z@5 RRECHE) % 55H 300
550 300
550 600
ESCEIES 558 100
550 100
550 ,900
B CRE) =Rl RRECHE) % 55H 700
550 800
550 500
550 500
fEIES 556 500
550 ,000
550 .700
550 100
B CFIE) =IER RRECAE) % 55H 200 2
550 700 71% 214600 500, H:15,400
550 700 74% | £:13,600, £:13,500. H:15.000
LSS 558 000 75% _ £:14,500, B:15.
550 000 75% 00. &
55H 100 81% 0, £:1
R CHE)-EfE RRCAE R 55H 400 60% 00, £:
55H .000 61% .300, :
550 000 64% ,000. £
E3E] 556 600 | 67% 600, :
55H .300 58% 00, £
55H .300 58% 00, £:
RRCHE) =/ RRCAE R 558 200 72%
550 700 71% _ £:10900
550 200 72%
550 300 | 69% | 2:12,000, £:11,900, H:11,900
550 700 71% __
550 800 59%
550 800 57%
BINRE 558 .200 69%
550 1006
550 200 7
550 200 7
550 700 7:
550 700 7
550 200 58%
RRCHE)=X5 RRCAE R 558 ,700 69%
550 600 62% 600, £:15.400. H:13.200
550 400 | 63%
550 900 68%
550 900 66%
550 900 61%
RA% 558 200 68%
550 200 70%
550 300 63%
550 300 63%
550 900 64%
550 200 65%
RRCHE)=RK RRCAE R 558 700 74%
550 900 67%
550 200 72%
550 200 72%
550 400 70%
550 400 70%
RIGS 558 .600 65%
550 200 68%
550 400 70%
550 900 69%
550 900 69%
550 700 74%
R CHE)=fEA ST 556 7.900 83%
550 1900 76%
550 400 64%
550 400 64%
550 400 68%
550 000 | 65%
550 ,900
550 400
REASR 558 400
550 400
550 400
550 200 66%
550 900 63%
550 900 63%
550 000 | 62%
550 000 65%
RRCAHE)=ER. RRCAE R L¢ 558 100 85%
L 550 400 68%
L 550 400 68%
L 550 600 72%
L 550 600 72%
L 550 600 76%
550 500 82%
550 500 82%
EREH L 55H 500 84%
L 550 500 82%
L644 550 500 84% 8,100
L 550 500 84% 9,100, 8,500, H:8,500
550 11,100 77% 9,800, £:10,800, H:16,900
558 14,900 69% 00, K:
550 16,600 | 65%
550 9,100 1%

JAL



TR—/8—%B I BER(I0F18~24HBES)

SEEEAA 2022/08/05
10/18-24
FH A—I\—%fF
=30] B4 -
AR BEH
R gw W
RRCAB=-ARFR TR RREER 558 200 66% 700, +:15,800, H:13.600
550 200 66% 700, £:15.800. H:13,600
55H 100 | 59% 20,100, H:14,400
550 100 50% N . £:20,100, H:12,
55H .800 52% 300, £:22.200, £:22.500, H:14.800
L 550 800 52% 300, £:22,200, £:22,500. H:14.800
L 550 900 59%
L 550 100 61%
L 550 600 62%
L 550 200 63%
550 600 62%
550 600 62%
550 600 62%
550 000 61%
550 800 7%
550 9,900 76%
IR FFR) R 558 600 60%
550 000 59%
550 600 57%
550 500 60%
550 900 61%
550 600 62%
L 550 500 60%
L 550 000 56%
L 550 400 55%
550 400 58% 100, H:22.900
550 100 61% .700
550 100 61% .700
550 100 61% 1700
550 000 64%
550 300 75%
550 400 7%
RRCRE)=X#31 RRCAE R 558 300 66%
550 300 66%
550 600 71% _
ESCEIES 558 100 66%
550 100 66%
550 900 79%
RRCHE) =Nl RRCAE R 558 700 66%
550 300 64%
550 500 | 72%
550 500 74%
fEIES 556 000 75%
550 600 76%
550 700 78%
550 9,800 80%
R CHE) =HIE RRCAE R 558 200 70%
550 700 71%
550 700 74%
LSS 558 000 75%
550 000 75%
550 100 1%
R CHE)-EfE RRCAE R 558 400 60%
550 000 61%
550 000 64%
323 558 ,600 65%
550 300 58%
550 300 58%
RRCHE) =/ RRCAE R 558 200 72%
550 700 71% _ £:10900
550 200 72%
550 300 | 69% | 2:12,000, £:11,900, H:11,900
550 700 71% —
550 800 59%
550 800 57%
BINRE 558 .200 69%
550 L1006
550 200 7
550 200 7
550 700 7:
550 700 7
550 200 | 58% | 2:16,000, F:12,400, H:15,700
RRCHE)=X5 RRCAE R 558 ,700 69%
550 800 71% 4,600, £:15.400, H:13.200
550 800 71%
550 900 68%
550 900 68%
550 1900 66%
RA% 558 200 68%
550 200 70%
550 700 71%
550 700 71%
550 900 68%
550 200 7
RRCHE)=RK RRCAE R 558 700 7:
550 400 7
550 200 7
550 200 7
550 700 7
550 700 7
RIGS 558 200 7
550 200 7
550 200 72%
550 900 69%
550 900 69%
550 700 74%
R CHE)=fEA ST 55H 7.900 83%
550 1900 76%
550 700 72%
550 700 72%
550 400 68%
550 800 7
550 800 7
550 200 7
AR 550 200 7 £14. X
550 200 7 14,900, H:12.700
55H ,200 7 700, £:14.400, H:12.800
550 900 69%
550 900 69% 0, 00
550 900 69% 13,200, H:14.400
550 400 66%
550 400 68%
RRCAHE)=ER. RRCAE R L¢ 558 7,100 85%
L 550 00 _|_77%
L 550 100 77%
L 550 700 71%
L 550 700 74%
L 550 700 76%
550 500 82%
550 500 82%
EREH L 55H 500 84%
L 550 500 82%
L644 550 500 84% .1
L 550 500 84% 0, £:9.1
L 55H 10,500 78% 1,100, 7K:1
550 14900 69% 00, XA
550 11,700 76%
550 8500 82%
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[Z—/\—4% B BEE (10825~29 A £ ES) AL

SEEEAA 2022/08/05  ~

10/25-29
FH A—I\—%fF
=30] B4 -
AR BEH
WEE B3|% %
RRCAB=-ARFR TR RREER 558 200 66% 700, £:15800
550 200 66% 15,
550 100 | 59%
550 100 50%
550 800 52%
L 550 800 52%
L 550 900 59%
L 550 100 61%
L 550 600 62% 00.
L 550 200 63% 00.
550 600 62% 00.
550 600 62% 00.
550 600 62% 00
550 000 61% 1000, %:20.100. £:14.600
550 800 7% ,000. ,900
550 9,900 76% ,900
IR FFR) R 558 600 60% 100
550 000 59% .200
550 600 57% 900
550 500 60% 500
550 900 61% 700
550 600 62% .700
L 550 500 60% .900
L 550 000 56% 700
L 550 400 55% 500
550 400 58% 700, £:16.100
550 100 61% .000
550 100 61% .000
550 100 61% .000
550 000 64% 000
556 300 75% 700
550 400 7% 700
RRCRE)=X#31 RRCAE R 558 300 66% 900
550 300 66% N 900
550 600 71% 500
ESCEIES 558 100 66% 00, £
550 100 66% 00, £
550 900 79% 00, £
RRCHE) =Nl RRCAE R 558 700 66% 00, %:
550 300 64% 1900, %
550 000 7% 500, -
550 000 75% 00, &
fEIES 556 000 75% 00, £
550 500 76% 00,
55H 700 78% 00, +£:
550 9,800 80% 400,
R CHE) =HIE RRCAE R Lt 558 200 70%  +:17.400
Lt 55H .700 71% _ %:14,600, £:16.500
Lt 55H 700 74% _ $:13600, £:13.500
LSS L 558 000 75% 114,500
L 550 000 75% 00, £:15.600
55H 100 81% 0, £:13,600, £:13,600
R CHE)-EfE RRCAE R 55H 400 60% 00, +:18,300
550 000 61% 300, £:15.900
55H 000 64% 000, +:13.900
B3 556 000 | 69% 00, &
55H .300 58% 00, £
550 300 58% 00, £
RRCHE) =/ RRCAE R L47 558 200 72%
L47 550 700 71% _ £:10900
L47! 550 200 72%
L48 550 300 69%  2:12,000, £:11.900
550 700 71% _
550 800 59%
550 800 57%
BINRE 558 .200 69%
550 1006
550 200 7
550 200 7
550 700 7:
550 700 7
550 200 58% _ 2:16,000, £:12.400
RRCHE)=X5 RRCAE R 558 ,700 69%
550 800 71%
550 800 71%
550 700 71%
550 700 71%
550 800 69%
RA% 558 200 68%
550 200 70%
550 700 71%
550 700 71%
550 900 68% 00
550 200 7 800,
RRCHE)=RK RRCAE R 556 700 7 ,200.
550 400 7 ,900.
550 200 7 700
550 200 7 700
550 700 7 900,
550 700 7 ,900.
RIGS 558 200 7 400,
550 200 7 400,
550 200 72% 00
550 900 69% 00.
550 900 69% 400
550 700 74% ,900.
R (CFE) =X RRECHE) % 55H 7,900 00,
550 ,900
550 700
550 700
550 400
550 800 i
550 800 900, :14.200
55H .200 400, £:15.400
REASR 558 ,200
550 200
550 200
550 200
550 200
550 200 |
550 900 <:15.900, £:14.900
550 ,000 00
RECHE)=ER RRECHE) % L 55H 600
L 55H .400 3,600, :14.400
L 558 400 3,600, £:14.400
L 550 600
L 550 600
L 550 600
550 600
550 600
EREH L 55H 000
L 550 000
L644 550 000
L 550 ,000
550 11,000
550 11,000
550 9,000
550 9,000
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[R—N—%BGIHEER(10A7T~10BEFES)

SEEEAA 2022/08/05
4 10/7 | 10/8 | 10/9 | 10/10
) A=A | R~ B |2/~ |2/ —%E
B 2 | mamm p p p
HR(HHE)=K5 R (A% L661 700
[ JL663 300
[ JL665 300
[ JL667 900
[ JL669 400
L671 900
RRFE [ JL662 400
[ JL664 400
[ JL668 400
L670 400
672 400
L674 300
HR(HH)=R& ER(HE)E [ _JL605 700
[ JL607 900
[JL609 900
L611 .900
613 900
L615 900
RIGH [ JL606 400
[ JL608 400
L6 400
L 400
L 400
L 900
R () =fEA RRECHE) % L 700
[ JL625 700
[ JL627 800
[ JL629 800
631 900
L633 900
[ JL637 100
639 400
233 [ JL622 700
[ JL624 700
[ JL626 800
[ JL628 900
[ JL630 900
[ JL632 900
[ JL634 900
L638 0
RECHE)=ER RRECHE) % L
[ JL655
ERER L

14

[ JL650

[ JL652

654
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LS EBNEER (10A19~24BEED)

SEEEAA 2022/08/05  ~
10/19-24
FH IS EF
=30] B4 -
AR BEW
TR gyaim =
HF () =R (FTF &) BER(FE) R 758 600 67% .300.,
758 700 67%
758 300 60%
758 300 60%
758 900 57%
L 758 900 57%
L 758 800 62%
L 758 100 63%
L 758 100 63%
L 758 100 66%
758 500 65%
758 500 65%
758 100 63%
758 600 _ 62% 000,
758 900 74% 700, 00. 00, H:17,000
L531 758 000 78% 00, £ 700, H:15,000
WIEFHFR R 500 758 500 62% 600, H:14,
758 200 61% 100,
758 500 60% 900,
758 400 63% 400,
758 800 6d% 800,
758 800 64% 800,
L 758 400 63% 800,
L 758 900 59% 000,
L 758 300 58% 000,
758 300 58% 900, 700, H:22.100
758 700 62% 100, H:21,000
758 700 62% 100, H:21,000
758 700 62% 100, 21,000
758 000 66% 00, H:18,700
758 800 76% 200, &1 00
758 900 78% 0, #:15
RRCRE)=X#31 RRCAE R 756 700 67" 700, £
758 .700 67 700, £:1
758 000 |74 ,900, H:15
TS 758 500 67" .900, E:1
758 500 | 67" 216,900, £ :1
758 300 | 80%
B CRE) =Rl RRECHE) % 758 .300 69%
758 800 68%
758 800 76%
758 800 76%
JEIES 758 500 80%
758 .400 8
758 .200 8
758 100 8
B CFIE) =IER RRECAE) % 758 .500 7.
758 800 7
758 800 7
LSS 758 800 7!
758 100 7
758 000 7
HR (FH) =B RR(HE) % 758 600 62%
758 200 63%
758 200 66%
B3 758 000 | 72%
758 500 60%
758 500 60%
EEAEETN RR(HE) % 758 000 7.
758 .700 7
758 000 | 73% 49,000, £:10,100, H:10,100
758 700 71% | 4:10900, F:10,900, H:10,900
758 700 7 —
758 700 62%  #:14.200, £:10.600, H:1
758 4700 | 60% _ #:15500, £:11.600,
B 758 1,000 70% _ #:10,900, £:11.600,
758 400 66%  %:13.100, £:13.100,
758 700 76%
758 800 73% 29,700, £:11,400, H:11400
758 700 76%
758 700 73% _
L486 758 14,100 61% 800, H:14,600
RRCHE)=REA ST 623 758 7.800 83% 100, £:13.900
758 800 76% 100, £:13,900
758 000 7 0, £:13.900, H:12.800
758 000 7 ,300, £:13.300, £:13.900, H:12.800
758 300 7 2,000, H:12.800
758 700 7 0, H:14,700
758 700 7 7:15,500, . H:15.500
758 200 7 (:12,000, A:13,300, %:14.400, H:13.900
REASR 758 200 7 00
758 200 7 0, H:12,000
758 900 7 00,
758 800 7 00,
758 800 7 00,
758 800 7 00,
758 000 6 00,
758 000 69% 14,600, 0, £:13.500,
R (FE)=ER ESHEE L 758 5,600 88% 5,800, 26,400, 1:10,600
L 758 9,600 80% 9,800, %:11,400, £:13,600, H:10,6¢
L 758 9,600 80% (:9,800, 11,400, £:13,600, H:10,600
L 758 11,000 77" A:10.400 2,0
L 758 000 7 400, %:12.0(
L 758 .000 8 N 000
758 .000 8 8,400, A:8,400, H:10,000
758 .000 8
ERER L 758 400 85%
L 758 400 82%
L644 758 400 85%
L 758 400 85%
758 11000 77%
758 11,000 77%
758 9,000 1%
758 9,000 81%
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ISR BNEER (10A25~290 %)

SEEEAA 2022/08/05  ~
10/25-29
FH IS EF
=30] B4 -
AR BEW
TR gyaim =
HF () =R (FTF &) RR(HE) % 758 600 67% 700, £:15,200, 1:15.300
758 700 67% 300, £:15.200, F:15,300
758 .300 60% :18,800, £:19.000
758 .300 60% ::18,800, £:19.000
758 900 57% 900, :21.400
Lt 758 900 57% 900, £:21.400
L 758 800 62%
L 758 100 63%
L 758 100 63%
L 758 100 66%
758 500 65%
758 500 65%
758 000 64%
758 600 62%
758 900 74%
758 000 78%
LRFHFR R 758 500 62%
758 200 61%
758 500 60%
758 400 63%
758 800 64%
758 800 64%
L 758 400 63%
L 758 900 59%
L 758 300 58%
758 900 59%
758 700 62%
758 700 62%
758 700 62%
758 000 66%
758 800 76%
758 900 78%
RR(HE)=&@5 RR(HE) % 758 700 67°
758 700 67"
758 000 74 .900
ESCEIES 758 500 67" .900. £:16.400
758 .500 67 :16.900, £:16.400
758 300 80%  £:15,800, £:10,000
EEACEE T RRECHE) % Lt 758 .300 7. 700
Lt 758 500 7 .300, £:16.000
Lt 758 500 7 £:12.300, £:13.000
LSS L 756 .600 7 £12700
Lt 758 .000 7 .800, £:13.300
758 8,100 8 500, £:11,800, £:11,300
R CHE)-EfE RRCAE R 756 600 62% 00, £:17.500
758 200 63% .600, £:15.100
758 ,200 66% 200, £:13.100
E3E3 758 000 | 72% 000, +:12.800
758 .500 60% 00, £:15.100
758 .500 60% :17.200, £:14.600
RRCHE) =/ RRCAE R 758 000 7:
758 700 7
758 000 7 9,900, £:10,100
758 700 7 #£:10.900, £:10.900
758 700 7
758 700 62%
758 4700 | 60%
B 758 1,000 70%
758 400 66%
758 700 76%
758 .800 73% _ $:9,700, £:11,400
758 700 76%
758 700 73%
758 14100 61% 4,900, £:11,800
R () =fRA RRECHE) % 758 7.800 83%
758 800 76%
758 000 73%
758 000 73%
758 300 7
758 700 7
758 700 7
758 200 7
AR 758 200 7:
758 200 7
758 900 7
758 200 7
758 200 7
758 200 7
758 600 6
758 700 68%
RECHE)=ER RRECHE) % L 758 .400 80%
L 758 400 80%
L 758 400 80%
L 758 400 78%
L 758 400 80%
L 758 400 82%
758 400 82%
758 400 82%
ERER L 758 400 85%
L 758 400 82%
L644 758 400 85%
L 758 400 85% 000
758 700 80% 2,000, £:11.000
758 700 80% 3,000, £:12.000
758 400 82% ,000, +:10,000
758 400 82% ,000, +:9.000
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